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Part - I11

PHYSICS
Maximum : 60 Scores

Time : 2 Hours
Cool off time : 15 Minutes

f Ge.ne

ral Instructions to Candidates :

There is a 'Cool off time' of 15 minutes in addition to the writing time of
2 hours.

You are neither allowed to write your answers nor to discuss anything with
others during the 'cool off time'.

Use the 'cool off time' to get familiar with questions and to plan your answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from
the same question itself.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in

the Examination Hall.
You may use the following physical constants wherever necessary :
Acceleration due to gravity on the surface of earth g = 10 ms2.

Universal gravitational constant G = 6.67 x 10! Nm?kg2.
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@UIO®I0 MPLINRES ®I0eMo g = 10 ms™2
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Answer any three questions from 1 oo 4 ueo®igs 62196)aBgla
1 to 4. Each carry one score. (3 x 1 = 3) | 2@o®@lalo 3 ageRamilay 9emeaawi®)s.

1 ieeod allmo. B3x1=3)
1. "The weak nuclear force is L “eidene @06EME & (M36NIEI0

stronger than gravitational DIOI®IOBDarEM  NILIBODBHOWD

g b

force". State whether this QRBMROEM.

statement is TRUE or FALSE. OMEBRI )M PI®Ibs.

609 (IQV®ICUM o@IBQO

2.  Position (x) — time (¢) graphs of two 2. A, B ol oeng” aimimeegies

objects A and B are shown below. moomo (X)— Mawo () (©oane®d
At what time the objects meet? 2fl@as@d Loemlaflalenomy. &

QUM®EOH D HSIDISIMN VAo

a)@?

sy ———»

sy ———»

3. Write any two properties of 3.  mones® eueIemloR agemeslelo

conservative force. 6" MANEUAHUDRUD ag) P3O,

4. State first law of 4., ooun®Hmemliee 8mMoo Moo

thermodynamics. (@O 6)85.
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Answer any six questions from 5 @ 11 cueow)gs 62106)eBslwd

5 to 11. Each carries two scores.
(6 x2=12)

agem®leljo 6 ag)eROTIM 9EMOORPI®H:.

2 mies:00 aflmo. (6 x2=12)
Draw a graph showing the 5.  &n dluzlo aom Reiemle aloaiomo,
variation of volume of a given 0°C @ lamgee @oaimleisemmdlaf
mass of water with temperature Q@PMeSIM Aflwo (el QL]
from 0°C. In the graph mark the H06MBOIs.  (Woadl@®  meiewlay
temperature at which water has aloooauwl  mo@m®  elElenim
maximum density. ®oalilel @OSOROQ|SIODd:.
What is sublimation? Write an 6. avepllenat® agymMOoeLIOH?
example for a sublime material. alewa® (18R Wl {leeym
QUM @86 DB B0}
©BOOVEMEDLIBH:.
The lengths of two bodies 7. oo AWmee8ies olgo 80y

measured by a metre scale are
I, =(20+0.5) cm and
l, = (1510.2) cm. Calculate :

a) Sum of these lengths.

b) Difference between the

lengths.

K-54

6 > 1@d alewomlal,
I, =(20+0.5) cm agomyo
I, =(15£0.2) cm agmypo
@EMIBIHNHIMY. ®IOPalO@IMA

BEMBOOBO) .
a) oleaBales @

b) dfgemRd @anlengss al@yoo
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8.

10.

FY 24

Match the following. 8.  eaImpoals] eoldeee::
A B
a) | Torque ({) 1) Perpendicular to , and p
8S0QBY ({) 7 Mo P Weelo Lloeniad@lee]o.
b) | Angular Momentum ( L ) 11) é F=0
BB06MIW @S0 ( L )
c¢) | Rotational equilibrium )| w”r
al@l@aem momiell@oaiaun
d) | Linear velocity (ﬁ ) ivy| r F
ceflQ (aleQimo (ﬁ )
\9) at =0
Derive an expression for escape 9. 60 EBl@ Mlmes aleldm
speed from a planet. e emle A0
oD 06) .
A wave travelling along a string 10. &0y melenes V6121 @1 96 30
1s described by, ®0oNEO MR VA0 Y0
y(x,t) =0.005 Sin (80.0 x - 3.0t) y(x, t) =0.005 Sin (80.0 x - 3.0¢)
in which the numerical constants ag)amoEmMy. nalles qudleosseosdd SI
are in SI units. Calculate the WiemIFleI06m. ®EoNEWOM ®OoW
wavelength and frequency of the oo adaalyallo ORIy ED @0
wave. B6MBEOD)E>.
4
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11. a) Draw diagrams showing the
first and third harmonics

produced in a closed pipe.

(1)

b) Write the equation for the
fundamental frequency in

terms of length of the pipe. (1)

Answer any five questions from
12 to 17. Each carries three

scores. (5 x3=15)

12. "Velocity can not be added to

temperature".

a) This is in accordance with

which law of Physics? (1)

b) Check the dimensional

correctness of the equation
PV = Fx where P is the
pressure, V is volume, F is

force and x is displacement.

(2)

13. Find the magnitude of the
resultant of two vectors A and B
in terms of their magnitudes and

angle q between them.

K-54
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11. a) ey @osen® 60alal@ ©laieq]s)
(M BOMODEBDHRI0 MIMODEBHW0
all®mo

a00RC@OMH6)H816S

QUOW B 5.

(1)

b) e6alafloq dlgo o©ReQ|sED]
@oslaunom (QuITNOOIIVIES

QVDQUIBY0 ) PABYE:.

(1)

12 oo 17 cueowigs G2106)eBRslmd
agem®leljo 5 ag)eROTIM SOMOOAPI®H:.

3 mie®od allmeo. (5 x3=15)

12. “lalequto @IIMIRIE@IS qUsHEIMo

62190 H¥laflg).”

a) OO BIGIGWOIN (@O aR®

Ol (aldho0md6em?

(1)

b) PV = Fx agom cmuaciosyomie
66 QW O (Y o 6M @0 moOWIm®
(P® 00go,

F® enielo

al @160 W H6)Yhs.
V® aiyoaimo,

x® coomonmeo)

(2)

13. A, B ool mElwemd q ogom

BHHo6mMm1@d (8O £ 6a]30@
@a@es  quanel  maElomlen
al@laoem oo M@QIdE: 0
|01 8618
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14. a) Figure shows the path of an
object in uniform circular

motion.

Redraw the figure and mark
the directions of velocity and

acceleration of the particle

at P. (1)

b) An object moving uniformly in
a circular path of radius 12 cm
completes 7 revolutions in
100s. What is the angular
speed, and the linear speed of

the motion? (2)

K-54

14.

a)

b)

FY 24

MOOIDEMIE 2ILINEDIERRS B0}
AU ®le) alom ofl(@ oo

0612 [1@l86)3mM.

®mMIcleoym alll@o ool P
agyom enfloalfl@d  arcmyallen
(GO ERWo @] o6m

omleR@io Gluo B:06mloeb:.

12 cm @pomses QAlyEHOHI0
aloolE qaaldEme oleim
omleyss ey ey 100 s -@d 7
al@](memo alldEmIWIHHIM].
amled oM@ eam®,
soefllw BQUN® ag)omlal

BHEMBOIDE)) .

(1)

(2)
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15. Alightbullet is fired from a heavy 15. oo #yslw emossldd mimyo &m
gun. @000 >0 610TD) oasIwyene
a) Choose the CORRECT. 2E10H0L™,

a) NAWIW HODOO OBOOETHSIHNDs.
1) Speed of the gun and the

bullet are equal. 1) e@oseleRio easlwems

WIESWYo BRUM® MILIMO6N.

i1) Momenta of the bullet and .
11) e@oseleR@io easlwems
gun are equal in magnitude
@IGSWJo @ O OB 6
and opposite in direction.
al®lmoemo  ®yelye  Eluo

ii1)) Momenta of the gun and Aaidl@aimoen.

bullet are equal in 1ii) c@ossleBwio OAUSIWENE

magnitude and are in the ©65@}0 oo eTOR

same direction. al®lmoemo  ®yelye  3Eluo

iv) Velocity of gun and bullet BANIEOTNWIROE.

are equal. (1) 1v) e@o#91eR@io eaIslwes

WesWio lalealmo myeymoem. (1)
b) By using a suiltable

conservation law in Physics, b) evols I (@O el
prove your above answer. (2) GOMNEWORIMOW  MVOQEEM
mlwno 9aleWINe QSO

0)B8loRl HEOM0o ODEIQIB)H. (2)
16. BY using the law of equipartition 16. soodezomleol macow mlwao
of energy, derive the value of 9alewolael 80} aRs @ERID1H
ratio of specific heats of a mono Qwoeseme®  alwleds  ®dal
atomic gas. WOGIOBOS BooLdNIMLETIOM allel

B6MBOIHE) .
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17. a) Figure shows the strain-stress

curve for a material.
What is the Young's modulus

of the material? (2)

FY 24
17. a) 80y cuoyalle@d aesId—
e (s o ®OOY
ENISILIIIET e
UMEAOM @oUIM BRI

ag®? (2)

__693""

S f
B 50—~

0 0001 0002 0003 0004

Strain

b) Young's modulus of

K-54

Aluminium is 70 x 10° Nm~2
and that of copper is
120 x 10° Nm™2. Same strain
is to be produced on an
aluminium wire and a copper
wire of equal cross section.

Which wire requires more

force? (1)

b) @oeyalmleomlen) @ouymy’
caoaeiy 70 X 10° Nm™2 go
edogjdlega 120 x 109 Nm™
90 @Y. B6O G206 LIMES
@oeyalml®o A@GImie 80q]d
aolmie 860 e (sIm
eIEleOHoM oR@IRIoam &S M

enlelo MEfEH6N@? (1)



Answer any five questions from

18 to 23. Each carries four scores.
(5 x 4 =20)

18. Free

fall is a uniformly

accelerated motion.

a)

b)

Draw the velocity — time

graph of free fall.

A ball is thrown vertically
upwards with a velocity of
20 ms~! from the top of a
building. The height of the
point from where the ball is
thrown is 25.0 m from the

ground.
1) How high will the ball rise?

1) How long will it be before

the ball hits the ground?

19. Power is the rate at which work

1s done.

a)

K-54

Express power in terms of

force and velocity.

(1)

(3)

(1)

FY 24

18 nyo@ 23 cueowigs Ga106)eBslmd

agem®leljo 5 ag)eROTIM OMOOALI® LS.

4 Me®9d aflmo.

18. mldentowoe al@lee@ ey qva ®joem

alplnmoan.

a)

b)

19.

mldeniowo al@lenelon eleiwo

— VAo (Noal CUOWHE)E:.

B0} OSISOBIONG MBaldd (Mo
20 ms™! (sINET® &0} alom
BMBO MYBEIGRIOBHCIIM. al(y
s gleclosndlweaqls  mila3;
25,0 m

gJoll@  mlango

OWOETIRIOEN.

1) alad )@ HWAATICEISS

Galodhio?

11) og)@® MWOWo HYIWYEMUORD

ol Galfl@d al@leo?

QOB ©21Qea]siM Mlose06em’

alald.

a)

aloleq qolodyo enlelQljo
(lBQIMQI0 BIGHEGL)

Q) PI®)B>.

(5 x 4 = 20)

(1)

(3)

(1)
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b)

20.

An elevator carrying the
maximum load of 1800 kg is
moving up with a constant
speed of 2 ms™!. The frictional
force opposing the motion is
4000 N. Determine the

minimum power delivered by

the motor to the elevator.

Express your above answer in

horse power.

Starting from rest, a solid sphere

rolls down an inclined plane of

vertical height A without slipping.

a)

b)

K-54

If M is the mass and R is the
radius of the sphere, write an
equation for the moment of
inertia of the above sphere

about a diameter.

Prove that the velocity with
which the sphere reaches the
bottom of the plane is 1.2./gh .

If instead of sphere another
object of the same mass and
radius with a different shape
is used in the above
experiment, will it reach the
bottom with the same or

different velocity?

(2)

(1)

(1)

(2)

(1)

10

20.

b)

mlvarenaimoled  mlimyo

FY 24

&0} af)RIeUd alEmOIUS] @0AMmOW
1800 kg o0 Qadlajew0ens

1 U@

2 ms” ma
oyBglealds) olelleeymy. aleiMo
®SMVOQSIETIAN eRldauem enielo
4000 N @oen. 6008300
£.2121QFHOHIM afROI0 HIOETI

alQUd ag)(@®?

MB-alleel MIEBaINs OO0 BIBI0

NG (VN B6))c8.

80]

2aIMEMIgo A Lol HVONES B0}

210lod meaiemlees e®mal olesoam

MOBYLHE) HOIBIOMY.

a)

b)

emogamiend momy M eo @@ro R

@OWO®, BMI8EMmIO

9o
QIOAVEED @OSIMNIMAIHEWIRS
60000 &0a0 MHEMAaUIWIOS

QVDQUIBY0 ) PABYE:.

3Wogo 2ldlal ®eIEwIenm @oeY
Qg) OIEMION8 8 (adeQIwo

1.2/ gh @eema) 6@SIQl@6)d:.

BUMIBETIM ald00 @OE® MOMVYo
@00 HEMI0, Ag)MNOT LY@
@B )TN IBE@MOQ 630} UMY
DiHgleel .l @) 4 6M @Y1 @
9aleWoNl 0@, @@ olelal
®EIE®IOM  ®OeY  af@mIOM
(eIBQUMOo  AUY®MI®R0W] B E6))EMO

©)el00Qf@1H6))EmO ?

(2)

(1)

(1)

(2)

(1)



21. Earth satellites are objects which

revolve around the earth.

a)

b)

22. a)

b)

K-54

Time period of a geostationary

satellite is ...........

Derive an expression for the

time period of a satellite.

By using the expression you
derived above, show that
motion of satellite obeys

Kepler's law of periods.

Define angle of contact.

Water proofing agents are
added to create a ......... (large
/ small) angle of contact

between the water and fibres.

Calculate the excess of
pressure inside an air bubble
of radius 1 mm formed just
below the free surface of
water. Given surface tension

of water 72 x 1073 Nm™L.

(1)

(2)

(1)

(1)

(1)

(2)

11
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21. ealles 2nglo aldlienemo e.21gm

QUV®BOHS6M HAI(NAOEHBHR.

a) 80} il  al(anemled

@OCUDBDTM DHILIO v . (1)

b) &r) ®al(meomTed ®RUdGHM
HOLIOWI6 0 M@QUIddhY0

(RR{ENG P (2)

c) &»E@ olafle:alal maniodyo
®aleomlal, &all®ad@me
2180 Odha]MQOS BRAIBGHM
@08l MlA@BTIMMITI@DOSEMTY

& 060. (1)

22. a) qatdwe @HoeMd AL leew:. (1)

b) ogd (aljenler’ QUIM®Ee R
BoIRHOIM® eeaneniOlmio el
emimyals@fengs  Malduoede:0end

............. (506 80860moem). (1)

c) =eEvlon IO® Saldl@ei®say
o035 ®06% 0laflle0leneals
1 mm @oomes oW
H0aoegalean @owlse: ndgo
& 6M DD B> Relomlen
oeenielo 72 X 1072 Nm™!

@O LYY (2)

Turn Over



23. Schematic diagram of a heat

engine is shown below.

FY 24

23. 80y ®oal agMElend coeud all@o

@Y )OS OBIBIHEIMY,.

i

|

i

Reservol r".,u...._.,*ﬂ\

0

. Cald

Reservorr

A
| I
; 3

a) Modify the given diagram for

a refrigerator.

b) Write the equation for the
coefficient of performance of

a refrigerator.

¢) In the given diagram,

T, = 900K, T, = 300K,
@, = 6400J/cycle

calculate the value of @,.

K-54

12

a) en) 60(an18e0g0ow]
@mlolenym  ofl@o  m0gl
QU B8

b) eay e 0anlreogolam

6aldeanaMdM qualeo®E: o6 [

QVRQUIB0 G)PABYE:.

c) @mlclenyom 2@ @

T, = 900K, T, = 300K,
), = 6400d/ semesd

@OWO ), HEMHBHOLOD.

(D

(D

(2)



Answer any two questions from

24 to 26. Each carries five scores.
2 x 5 = 10)

24. Static friction opposes impending

motion.
a) Write the mathematical
equation connecting the

b)

K-54

limiting value of static friction

with normal reaction.

Choose CORRECT

statement :

1)

the

Both kinetic friction and

static friction are
independent of the area of

contact.

1) Kinetic friction depends
on area of contact but

static friction do not.

111) Static friction depends on
area of contact but kinetic

friction do not.

1v) Both kinetic friction and
static friction depend of

the area of contact.

A mass rests on a horizontal
plane. The plane is gradually
inclined until at an angle q
with the horizontal, the mass
just begins to slide. Show that
the coefficient of static friction
between the block and the

surface is equal to Tanq.

(1)

(1)

(3)

13

FY 24

24 0)o@ 26 cueow)8s 62106)eBElmd

agem®leljo 2 ag)eROTIM 9OMOOALI® LS.

5 Mieso0 allmo.

24. qodles caidatiemo 2lIMN MOWBEW

) @IDHEYM.
a) gogles a1 att6m @16 R
alooouwl  aflel@io  eloend

b)

c)

(@ alUdEmMe ®monlenas

DM@ VRIS G)LIDIBs.

»al @O W HIQOIGI
RIOIRNOISEIE:S
1) @ogles caidaemalo eedE:m-

Qe eaidayemalio Maldwo
alogjgallom eouyieninilg).
06BNl *RIBaU6Mo MaldUo
aloggallem @ue@leniom,.
ogles

@ UaQflanmig).

ap|®ayemo

111) guogles eei®aremo Ml

aloggallem @ue@leniom.

06 HMd’ oa|®ayemo
@ UaQflanmig).
v) eedmgles  eaidaremallo

Qoglds apIdateMmlo Malduo

alogjgallom @ouy@lenimm;.
80) @lovallm (ORODI6 80}
am®y  aqaledaiqoeleoem.
oaiowlod aldal adadlallef
g )M BH0eMI@ QUMY @O6Y
#6 omml MleBom @SRy}
am@iallmyo (@elemlmyo
DSWH688 *ldarem qualodgo
o6

Tanq @R DOe M AN’

@S H6)16.

2 x 5 = 10)

(1)

(1)

(3)
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25. a) Derive Bernoulli's equation 25. 2) @OAAOMOM FAWOBD B} (3OS
for the stream line flow of an onled wido eeeid eseslom
incompressible liquid. 4) mostauleeym  enideemog]m’
b) Figures (a) and (b) refer to the @0 M Nle:dle0 . (4)
steady flow of a (nonviscous) b)  QlSem @oEm 06 (3001603
liquid. Which one of the 8195 69166, 2o (a) 2N@o (b)
following two figures 1is agoilamem @oalafdesmy,
INCORRECT? 1) oo 2o HO®OeEImSENE. (1)
|
|
\
|
=]
| i
|
|
26. a) Prove that the oscillations of 26. a) 80y Mloalld ealduyeimleofd
a simple pendulum are simple ecoeiMo Miloall® anode@O6N1ey
harmonic and hence derive an ®@eesmM em&lela] ELAIBEDM
expression for the time period eI IN MAQIOBY0
of a simple pendulum. (4) @3Nl @106))0. (4)
b) What is the length of a simple b) ®0600 emeemdwlelo ‘Sles’
pendulum, which ticks £.21QM aldweieslen dlgo
seconds? (1) ag)(®? (1)
K-54 14
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Part - I11
CHEMISTRY

Maximum : 60 Scores
Time : 2 Hours

Cool off time : 15 Minutes

/ General Instructions to Candidates : \

alleyodmdle:@66)88 6al1om) MdEqnaB®:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

rldgladis oM ajoen 15 almlg ‘@i &dal 66so’ eenso@fl@leano.

‘@b Boal ©6S0’ G2IdEYIBW al@lalWea|SOMio HETHOIBWD @DAVY®6EMO
£21Q0MP0 HalBIUHEH:.

MIRGGULEIBI MILIMI0 YBERLIABQ o AUOWIBHEMO.
HEMOEIBUWD ) PAEYM@IN MM B2IdBYETBWHD (BERLIABQe CUIWIBeEMo.

BH6MBE)  8HISINSRD, 2l@EMBMR, (N0, ag)milal OOMOGla]GlEd ®eam
30l @lesemo.

B2I0BYEIBW DAIWIgETIRle M@H:lRIgeNS.
@OOUCYMER MVOLIGD MVACUIBYETBRD 61B0SIEEMo.

G (IO(NODIHUWD 6).21QOMIBIMD HIMHNICLIQNIH WD BF1OHHW IS 60)
EDRIBB(SOEMIE HaldhOemlio al@ldHInndg® HalEOUlHeIIOM aldslg). /

1 Turn Over
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Answer all questions from 1 to 7. 1 )o@ 7 ueew 88 ag)g]d 8210B)IBUWEN )0
Each carry one score. (7T%x1=17) | someeaw)mis. 1 esd aflme. (7 X 1 =17)
1. The lowest  hypothetical QUIMBHEMBRIOS Qlydal®o  allely
temperature at which gases are 20&IOAOT BO)®OQSIAN a@QQo
supposed to occupy zero volume @Y M quosmelallds ®oalmleiew
iscalled .ccccccooc... ag)amy aligleayomy.
2. Which among the following is a 21J16S n@ e 01g88 @@
molecular hydride? G2OElBYLI0D ©6a0OSWAWS aR®?
a) LiH a) LiH
b) NH, b) NH,
c) C.H c) C.H
d) LaH, 4 d) LaH, g
3. Give the IUPAC name of ..... Q)M VoW A ®
oaole IUPAC
MO0 QG)LIDYBs.
4. Predict the product obtained by Li, O, ogomlal @onl@ (audars)
the reaction of Li with O, 2] 16MBO &M eelalmeas®an’
(12 (|06
5. According to the first law of ®oalN@HOmIeR a8Moo Mlwn
thermodynamics, for an isolated QMVEl] B0 AR QlYAO®TIONR
system, Du =......... (eagemvocaigaimilgye) Du =.........
QOIIETHIN
6. The minimum value for the 21e[lE0)M B8O MVBAD BHeMETOR
product of uncertainties in qnoMmo, ®Y#EHo  agyMicuiesl
position and momentum of a @MU O@IEBEIOS NEMManelnd]
moving microscopic particle is QUEOQM a@ROIl0 BJ06TD MIelyo
equalto........... s @6

K-3




7. Round off 0.0525 to a number
with two significant figures.
Answer any ten questions

from 8 to 20. Each carries two

scores.

10.

11.

12.

K-3

Draw the Newman projections of
the eclipsed and staggered

conformations of ethane molecule.

Calculate the pH of 1 x 1072 molar

aqueous solution of H,SO, .

Among NaCl, BeCl, and AlCl,,
which one is more covalent?

Justify the answer.

Differentiate homolytic cleavage
from heterolytic cleavage of

covalent bonds.

Mention two observations which
could not be explained by the
wave nature of electromagnetic

radiations.

(10 x 2 = 20)

FY 25

0.0525 oM uoalyo® @6nE

MOBMAH: @OBOHEBWD (NN ladleen

anlndm’) Mo6lyowl

088

MNR6OSIOT ag)2I®b.

8 nyjo@ 20 cueow)gs 62106)eBRElmd

age®sslele 10 agepo OMOORPI® ).

2 Mesod allmo.

10.

11.

12.

MHVOM @MMO(@OWIOS AROBM DWW,
ag)glaiial &6mMeanddEMaHMIH6S
mallaflenyom myi@om

6)(10RBAHUMIEBHTD LUOQB6)]E.

1 x 1072 ¢0ogdd wowdWes
H,SO, -of =elw eowdwes pH

BHEMBOIDE)) .

NaCl, BeCl,, AlCly agmiaioiad
a@ROU0 HYSIO@  MVaOMVoEWIRD:
MJE0Qlo 88 Mo LMo oR® ?

HOMOOTIM MYOQ.lB06Mo M@

MaOMOoEWORE:  NUMDMEIBEIOS

8a008m08lQles,  ©anRenI8IQles
afleg&mem @ ag)emBe M
QU@YOMVOSI@lHOIOM;.

@omegg@oeaom%e: @OoN6EIBL6)S

®Oow  (MIEIQUo  ©alGIWlayy
AU DA &HO1H00M HYIQoem  ©6ns

M BlsHMETBRD af) LIS

Turn Over

(10 x 2 = 20)



13.

14.

15.

16.

17.

K-3

'Chlorine has the most negative
electron gain enthalpy'. Justify

the statement.

Examine the chemical

equilibrium,

Write the expression for
equilibrium constant (K ) for the
above equilibrium. What happens
to Kc, if the balanced equation
is multiplied throughout by a

factor, 27

Give the chemical equations for
the steps involved in the

ozonolysis of propene.

Draw the structure of Diborane.
Write a note on the nature of

bonds present in it.

What is meant by spontaneous
processes? Give the criterion of
spontaneity in terms of DG for a
process taking place at constant

temperature and pressure.

4NH,

17. mj@olatudEm®

FY 25

13. ‘egzo0l® myeisemlmosm aggailo

HWAM eMMFIQT DeIH:E(So6M wld
ag)Mno@all oleljo ©88®.°
(oM Mmyo@flsnemo

QplEe

14. 2yaies m@slRlclesym oo

MATYRIMO  al@lBUIUSIHE .

(g) T 5Oy ey == 4NO, + 6H,0,
60D EOAVMATAIM@BIOM AVABILIM
qudlomoely (K ) &emeeosaimol
MBS QVAOQUIBY0 af)PIOD:>. DM
M@HWSIB] VA Y® VAU DY

OODWIOND 2 af)MM MVOEUYOB06NE

wgemilofodd K -@ies ayeyamsiad agamy

mocleeio?
15. o(aogid ® MO (O WOS
8osaVoeemoglmlmleel aflaflw

cpigemd®d  avgaflafleeoyom oM

MAOUOBYETBIHD af)LIEID>.

16. eeawemI0c0M ®mMO(@WIOS LISM

QUOW BN, DBIOR! NIMLMETBEIONS

(aldry®o MosniWle] BClea|91m)b.

lad (BB (D
(BatogemEmlM erlomqy) agMme
OBHOMNE @ODMOMOLHIMEDAT ? 630}

(@@ Vo (alUAEBI®mEOC6MO

agymaol@ym@lay, DG -es
@oslauaomemlenas MOMBEMLo
QG)$A®s.



18.

19.

20.

Give the relation between molar
mass of a gas (m) and its density
(d). How are the densities of

and CH A related, if they

Oy(g) (@)

are kept at the same temperature

and pressure?

Represent the Lewis structure of
O, molecule and assign the

formal charge on each atom.

Identify the
Al (2 =13) and S (z=16) in the

positions of

periodic table with the help of
their electronic configurations.
Predict the formula of the

compound formed between them.

18.

19.

20.

FY 25

80} AUIBBOTOR caogodmomy (m),
wom® (d) egmiau monlenss
NIAWo af)PY®H:>. BGO ®Ialmlaiefelo
adgemlaje myeHlallsias 02(g),
CHy(q)

®@ ag)EBEM MINWeR|SICleaIM.

agMIU@OS VO(MBOER

O3 ®M@O(®WIOs ela eaism

U BNIS:. GO®IOE BO60D

@OQODOMWio @andARE ol10ded

oM@ B6)0.
DI G(SO6M aflmyomemlend
@nslaunom @ @ Al (z =13),

S (2=16) agmmlaues epudEDM
ajslewieal mouome @laleldloemmey
@3, EDQUGIDNMIENSIBYMN TVOQIHD

OO MO MVY®o (eIl ld6)idw:.

Answer any seven questions from 21 )o@ 29 cleow)gs 82106)aBEIM
agemsslalo 7 ag)epEmlm OOMEOAPI®)S:.

(7% 3=21)

21 to 29. Each carries three

(7% 3=21) | 3 nWesod alwo.

scores.

21. Give reasons for the anomalous 21. Li @ooowoem aujedio #:06mleam

behaviour of Li. Write any four @lonas sonememgyo Li, Mg agmia
points of similarities between Li

and Mg.

®oilepss Mmoal MVIDYETBEI0 af)PIBNG:.

K-3 5 Turn Over



22.

23.

24.

25.

K-3

Explain the hydrolysis of
different types of salts with the
help of examples and comment on
the pH of the resulting solutions

in each case.

a) What is meant by acid rain?
b) Explain the chemistry behind
the formation of acid rain.
¢) What are the harmful effects

of acid rain?

Alkynes can be converted
selectively into cis-alkenes and
trans-alkenes. Explain with

suitable examples.

A reaction mixture for the
production of NH, gas contains
250 g of N, gas and 50 g of H, gas
under suitable conditions.
Identify the limiting reactant, if
any and calculate the mass of

NH; gas produced.

(1)

(1)

(1)

22.

23.

24.

25.

FY 25

afllaflwmee elQIemeBglns  Rel

aflegaremo ©B2a006MMadl®mo

AlvoBle@lee)ss. 6060 AllEON®BIR0

aldeml® eo@mlwes pH ag)aleon

20QAAlENODNTT ag)PIOBs.

a) @oQ QY Qg) M @16 06N’
@OABODOBHLMEBNT?

b) @og a¥ ©laloedog8 M®IMm,
allomleel OV (o

lvoEl 8016618

C) @OQ QYWIHS BRBOaYU aNElEBW

o ?

BOWDBOOLOMIBHOS CIS- BO@HEIMN)
HBOWo trans- EOGHEMBEOW0

QUAMOEDHa0®]  (eavealdsialell)

nfelatelec HFlwyo. oollmnow
9Ba00MEBEIROS 9]0
llvoE|B:@le6) 8.

NH; aomeo amldomleeymaimo
R8s 60 000 alwleewld 250 g
N, anosayp 50 g Hy, anos
Qo HROBHIENEITHEIM.

0 algleamlcd elalglov Clos:RMd
9ems®dd ermlam ®lolo)dleevm
218, efaimmoe eideaym NH,

QUO®BOBTIOP DOV BH6MBIBE)]Hs.

(1)

(1)

(1)



26. Write the molecular orbital

electronic configuration of
Nyand O, molecules. Compare
the stability and magnetic
behaviour of these molecules on

the basis of M. O. theory.

27. a) Why do real gases deviate
from ideal behaviour? (1)

b) Write the conditions under

which gases deviate from
ideality. (1)
¢) Define Boyle point. (1)

28. Give the structure, a method of
preparation and a chemical
reaction of H,0,.

29. Balance the following Redox
process by ion-electron method or
oxidation number method :

Pys) + OHaq) %30 PHy ) + HPOyq,

Answer any three questions

from 30 to 33. Each carries four

scores. B x4=12)

30. Explain quantum numbers. Give

the importance of quantum
numbers in Pauli's Exclusion

Principle.

K-3
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26. N,, O,
BmOEB)RI00 BORNIQEY EDRIBB(SO6MT

ag)yM] GO (D HBIOS

QNMOAVEMBWD  ag)PImI:. @OAUQIOS
auale®@, $Ho0vld: aVIEIQUo ag)Mmial

®OO®AY0 6).21QYd.

27. a) WNOdMO UMD GEREAW
mEOAUOI@MIMMo QUY@IWIMo
B06MEOHIMEBE B-I06MENBER?

b) egemgioo MOanalnyEBElRIOM
QUOEHE0B0d @REBUD MVIBOCLGHIED
mlmo  Qly@lalellenimma?

c) ‘ceruo@l@ a0’ ageomm
MR 2 l66) 1.

28.

H,0, apism

QUOWHNH:; @O@IOR B0y Mldomoem

®MO (WS

Ao B0 I (alUBEHMAIL0

Q) FID)B>.

29. @pewommM—selsesoem  Clolewd

B0 MHoem  qoalyd  dlmlewo
©aleomlal 2ljales M@V
GlEAIBTY TVACUOB 0 VBB )Bs.

+ OH,, %:¥® PHy , + HPO,

Pys) (ag)

() (aq)

30 o@ 33 Aueow)8s8 G2106)eBRElmd
agem®leljo 3 ag)eROTIM OMOOALI® LS.

4 Me9d aflmo.

30. ®oenz0 MoalBe8860le) allvadle:
©lB6). Baldg] BFINIOLOH@ E@IBI G
(Gat0gl ag)dUgslaum@  (afladavlaldd)
»|06M80 Mo6UYHRBHN RS

(a10WIMYODNT?

(1)

(1)

(1)

(3 x 4=12)
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31.

32.

33.

K-3

a) What are silicones?

b) Write the chemical equations
showing the steps involved in
the manufacture of silicones.

¢) How can the chain length of
silicones be controlled during

their synthesis?

Briefly explain the different
types of structural isomerism
shown by organic compounds

with suitable examples.

a) State Hess' law of constant
heat summation.
b) Calculate the standard

enthalpy of formation of
CH,OH () from the following

data :

3
CH30H )+ 5 Oyg)

(1)

(2)

(1)

(1)

(3)

%9 CO,

31.

32.

33.

(&)

FY 25

a) ag)moem milelleseoemidud? (1)
b) mlellesnoemismaies mIdanoem
cpigemeg myallafleoim oom

MVACUOBYETBRD  2g) LY. (2)
c) aldomosm ealg@lad milelessnosnd

wyoalel@es algo ag)lalddOmo

rloleandd® moulleaio? (1)
800womles Mo s ®ETB WD
(el Slaflenymm e2ISMOalOQOW

MA0UQUETBOSHNC] (N(SH>2|OM
£ag)BMo6nclMo) @OMICEWILRINOW
©B2a0MEBW Madl®o 2130366

Alu@loe .

a) ecoqlo@ molo®oal MBRIM
rleao (EIM@®OQNee)w:. (1)
b) CH3OH(Z)-O(‘@ (a10mo6mldes

©
0gafl6m ag)MLo@all (DfH )
21j1es caldomgues Alcloemw

9aIBWOUI]2] B6MBEIBE . (3)

+ H20(1)§

D.H® =- 726kJmol !

D,H® =- 393kJmol"!

Hy

(8)

1
@+t 50

%Y@ H,0,

(1)

© -1
D,H =-286kdJmol
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Part - I11

BIOLOGY
(BOTANY AND ZOOLOGY)
Maximum : 60 Scores
Time : 2 Hours
Cool off time : 20 Minutes

Preparatory time : 5 Minutes

K General Instructions to Candidates :

\

There is a 'Cool off time' of 10 minutes each for Botany and Zoology in
addition to the writing time of 1 hour each. Further there is a '5 minutes'
'Preparatory Time' at the end of the Botany Examination and before the
commencement of the Zoology Examination.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

afleyodmile: @688 ealom) MACGUEB®D:

rldgladis o@EDM ali0en eeniogemlienie aIEAIIgEIWHe 10 almlg
Qflmo ‘@) Bal 6160’ HENBOWIElE6)0. BSIOM BENUOZEMI aldldHQ B BUoaHo
a0l al@le ®iseBym@lmimmi ‘5 almlg” ®Qoe0Sialidtd
MS@HIM@IMOQ] M@ELMDmOEN. 0D MVAQ®ED BoIOBYEBWRHE SEMOO
Qg)PIMOEMI, ORIRBNIMMOQ] @R Allrla®o MSEMIEMD aldslgl.

‘@b Boal ©6S0’ G2IdEYIBW al@lalQWea|SOMio HETHOIBWD @DIVY®6EMO
£21Q0MP0 alBIUHEH:.

mdERUETBU MIPIAUMIo YBBLOA Do ALORfBeEMo.

HOMOEIBUWD ) PAEYM@IMN MM B2IdBYETBWHD (BERLIABQe CUIWIBeEMo.
BH6MBE)  8HISINBWD, 2l@EMBMR, (N0, ag)milal OOMOGla]GIEd ®eam
930 @lesemo.

B210B)IBM MAIQOSEBIR0 M@B:IQISNS.

@OOUUYMSR MLOLIAT MVACUIBNEIBUWD E)BIS)HO6EMo.

G (IO(NODIHHUWD 6).21QOMIBIMD HOIMHNICRIQNIH WD BF1OHHW IS 60}
EDRIBB(SOEMIE Haldhoemlo al@ldHInndg® HalEOUlHeIIOM aldslg). /
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PART -

FY 26
A

BOTANY

Maximum : 30 scores

Time : 1 Hour
Cool off time : 10 Minutes

Answer all questions from 1 to 3.

Each carry one score. @B x1=3)

1. Choose the CORRECT answer.

A structure seen in bacterial cell

a) Nucleus
b) Lysosome
¢) Plastid

d) Mesosome

2. Observe the relationship
between the first two terms and

fill in the blank.
a) Mushroom . Agaricus

b) Bread mould : ...

3. Fill in the blank.
Cytokinesis in animal cell takes
place by the appearance of a

........... in the plasma membrane.

K-41

1 o)o@d 3 ueeW)88 ag)e)o BaIdB)EIRWDES 0

9EMEenY)®). 1 Mesod allme. (3 X 1 =3)

1. wdwow samro GloeETmSIEIw:.
NI0BS| MW BHHOVMTITD H0EMEIRISITN

@M

a) odoo

b) eeeizMOBGMO
c) gdoavglal

d) dlemogmoo

2. ooewem 0 alcad molenss
enIaWo aMaUlalHs) Qfl5)ealo® @0

aj@lafleeids.
a) &yem : @OUOTLOM

b) ©00g alja] ..

3. allgeanw 8o al)dlafleee.
gJOMm0 MO ............ ®3a16|S)
M@ USTo6m &amI6H:000 D@

BHOM(BAY QlBEMo MSHNMM.



Answer any nine questions
from 4 to 14. Each carries two
scores. (9x2=18)

4. Observe the figure given below.

iIcrose
lution
~Membrane

ater

Identify the process
demonstrated in the figure.
Write the role of membrane in

this process.

5. Certain thylakoid pigments are
called accessory pigments.
Write their

Name them.

significance.

6. Notice the three simple tissues
given below.
a) Sclerenchyma
b) Parenchyma
¢) Collenchyma
Identify and write the tissue
that consists of cells that are
thickened at the corners. Write

the function of this tissue.

K-41
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4 ayom 14 cAleowss 6210c)aBslm
agem®leljo 9 ag)eROTIM SOMOOALI®H:.
2 mieod aflao. (9 x2=18)
4. aales o@slIdlenym  afl@o

Sl 6))5.

1Icrose
lution
+~Membrane

ater

2l@o®@ (el ®at0E]2t1elenym
(&> o@emmm  @lo]laolens
Q) PIO Y. 60 (o (D@3

M®OOION als: ag)am6M?
5. eeomacsnIwlenss aflel
QUBEMBETBOS TVANIWE> CLIDEMB603UD
agamy  aflglesiomg.

BalD@D  af)PIMIM.  BOUWIOS

@®OOUWYOS

(@IOUWOIMYO QG LIDIBs.

6. opyaies m@slRIGlenM  @yam
RICRNBRIWD (BHERUIBE)b:.
a) EOMeeBD
b) alonmeesn
C) BHISMOOBD
DIRISHEIM HGl 5HYSIW  EHHOUDEB WD
GaldMM 9MBIW &El oR®? &

HEIWIOS WMo af)P)®bs.

Turn Over



7. Write any two differences
between aerobic respiration and

anaerobic respiration.

8. Observe the figure given below.
It shows two phases in the life

cycle of a plant.

FY 26

QOO0 BOAIOW) GO0

oolengs o QUy@OaVEBM

Q) PI®)B>.

21316 Ml llalenimm  all(@o
MIAlH . 0@ B0} TVIVIETIONR
glalle 2l@omlen 06 cpIgeames

avgaflafleeiom,.

Identify the phase marked as A.
Write any two peculiarities of

this stage.

9. Karyokinesis of mitosis 1is
divided into four stages. Name
the second and third stage.
Write any two features of second

stage.

K-41

I\

P \-‘1\ Leaves
WA

A g’ @s@Ogeq|S}eBlw eaigo
a@e@aT) @Al Clen ag)Li@ds. 609
cpigemle o6 qAEUaH® B

Q) FI®)Bs.

(0BT nda aflegmamlay
moel”  caigeB®B® . ®1Ed
OENBODMO@D@0  MIMONE B Qo
CRISEIBRIOS BalOOYIDIH:. VENSIDEOTT)

cpigemle o6 qAEUaH® B

Q) FI®B>.
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10. Observe the figure given below. 10. 2pyaies m@sllclesym  afl@o

il 6))5.

—
b
Identify the parts a, b. Write a, b agmiau @@loyclems ag)Li@es.
their functions. @OOUQYOS WADETBURD ag)Py®Id.
11. C, plants have a special leaf 11. C, comyemgies meiios) malewoay
anatomy. Name that anatomy. @OOMORISMHQNE. HOMOo alEw

Write three peculiarities of this ol EOMMORISMWINS EalOOFI®IL.

. 2 wAlea @YONOLRISNMHWINS
kind of anatomy. 2 s

DT (IC®YBDOBD ) PATIE:.

12. Observe the figure given below. 12. apaies o@sleidenim  afl@o

Sl 6))5.
e -
Outer | .. '
side A Outer]| -
: side A
2H+
2H+
Inner | .. . _
mitochondrial { =~ ] . ) Innerj - .
membrane |- . mitochondrial{
i Matrix membrane | - .
o Matrix
Name the complex. Write its DD B0 B MIOMW CalOOLI®IE:.
function. OENOR WA ag) PO,

K-41 5 Turn Over



13.

14.

K-41

FY 26

Observe the elements given 13. 2pales m@sldenm meieemBd
below. Sl 6285
Copper, Phosphorus, Boron, @0q 0, BaNdMaNOMY, BENIOEOeM,
Magnesium, Potassium, 0w 0llatyo, ©aldgomyo, @OoMMINY,
Manganese, Chlorine L F-Selollvd
Choose microelements from the U@ Mo MVBHD DYLIBETBRD
above. S OOOTHSIBO)b>.
Match the items of column A 14. e®s080 A Wi B @io @alnloals]
with B. BB .
A B
a) Reduction 1) Formation of oxygen
Olawdsand B0HMVIROM H@aIdBMo
b) Photolysis 11) Formation of 3 — PGA
8a0063oglavlony 3 — PGA wjes 9@atocmo
c) Photorespiration i1i) | Formation of PEP
8a09630600Malle0auM® PEP wj6s 9@alosmo
d) Carboxylation iv) | Formation of glucose
B0DBENIOBTVIGRIHUTD RIBHHOMVIOM O@alOBMo
V) Formation of phosphoglycolate

BaN0MIEN0OOHYRBEHHIERIGIOM O@alddMo




Answer any three questions from

15 to 18. Each carries three

scores.

15.

16.

17.

Write three peculiarities of
gynoecium seen in solanaceae

and fabaceae.

Plant growth regulators perform
various functions in plant body.
a) Name the hormones
responsible for apical
dominance and bolting.

Define the two phenomena.
b) Which plant hormone is

referred to as an antagonist

to gibberellic acid?

Names of three plants are given
below.

a) Rhizophora

b) Bougainvillea

¢) Pea

Name the modifications seen in

these plants. Write their

functions.

K-41

(3x3=09)
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15 o)o@ 18 cuenwigs Ga106)eBslmd

agem®leljo 3 ag)eROTIM OMOOAPI® LS.

3 Mes00 allmo.

15.

16.

17.

6HVOKEMMIIERWIOSWI0 aNIGETV]-
BRWIHS@o BMlalls@mlan oy

mallevoat @ Qfll@o ag)Pymies.

vy U8B0 MWEOmEM CLISH:6030D

mmyemsglad alalw wdneasw

MIdUaOlE6M.

a) afalleed ewodlmmay, ceniowds]
&3 agMIAUW'EE HOOMOOW
BaOOBBMOEMIBOS BalODLIMM:.
00 06 (al@BONVEBEIOSW 0
mMdU2IMo  af)PI®H-.

b) a@® muouyeanodemoemlamosny

1@ wlenuclells; el agom

Gal@@ ERGIWeR|SHME)?

QYOS MVVYETBRYOS BalDHWD 21)016S
M@l @M.

a) e©H0BEIVICANIO

b) eenoeammalg)

C) ald eald

DY UMIEBEI®  HOMO|SIM
M IOODOEIBRIOS BlDBHWD af) IO

@OOUWYOS WADMETBUWD f)PIMIbs.
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18.

K-41

Observe the terms given below.
Xylem, Root hairs, Pith,
Stomata, Cambium, Bulliform
cells

From this, identify and write the
structures seen in epidermal
tissue system. Write their
functions.

(Hint : 3 structures)

18.

FY 26

213010S N@BI W B1H6,0M  alBEBWD
il 6))5.
©6qVELlo, MJal CRIONEB®D, aller,
@OAVYOMWo, HOMIwo, enigsleando
GBHOUDETBUD.
@@ o ofaflowdadd Slauy
IQRETIE H06Mee|S)M  BOWEBGD
@@ 06T af)Pi®Yd:>. BOUQIOS
WADEIBUD ag)PIBbs.

(qvgalm : 3 BOWEB®D)
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PART - B
ZOOLOGY
Time : 1 Hour
Maximum : 30 scores Cool off time : 10 Minutes
Answer all questions from 1 to 3. 1 ojo@ 3 UeAW8S ag)e]o 8210B)IRUWBN )0
Each carry one score. B x1=3) | pomesavime. 1 mieeod allwo.
@ x1=3)
1. Binomial nomenclature was 1. @oem el Mmoas0em
proposed by ............. alAL® @Qad:@l®.
2. Tendons and Ligaments are 2.  esmdwmp EINODMBBSIO ..coveerrenen.
examples of ............. tissue. BLIQHE HBIAOEMENBRON).
a) Areolar a) Areolar
b) Adipose b) Adipose
¢) Dense regular ¢) Dense regular
d) Dense irregular d) Dense irregular
3. 1s the most abundant 3. =amy GRIOBEW oo @OWle:o
protein in the animal world. B06MOQSIAN DOOAVYDIENT ..ovvvveeveae .

K-41 9 Turn Over
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Answer any nine questions 4 oo 14 cueow)gs 6aloc)aBRgl®
from 4 to 14. Each carries two agemsslelo 9 ag)epElm 9OMROAPI®)H:.
scores. (9x2=18) | 2 mieeod allwo. (9 x2=18)
4. "All vertebrates are chordates 4.  ‘“aggjo ecdgleEniguealo 00ea)
but all chordates are not BN IBHY )R]0 CBODBWRIBHEL0
vertebrates". Do you agree with OQUASIBENIQIBEL].” §0D (aIM@ICUM
this statement? Substantiate. ewos MR BWOE]E6IMEENSO.
MA@ B6)5.
5. Distinguish between : 5. alleasallonss.

a) Tidal volume and Residual volume

b) Vital capacity and Total lung capacity

6. Observe the figure of the 6.  ®oo9 emidesym ealwes oo

organism given below. RCES LTS

a) Identify the organism. a) gallow ®doclwis

b) Name the class in which it b) ool eBeqs;am oo
belongs. BalOOPY® s

c) Mention any two salient C) (UNWOI® HoQleoM o6’ a6l
features of the class. VANBUAHDBWD ) 21®)bs.

K-41 10
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7. a) Name the following : 7. a) ®oevy ®mMIeleemMalWes

BalOOPYOI.

1) The carbohydrate splitting enzyme present in human saliva.

i1) The anti bacterial enzyme present in human saliva.

b) In which region of the b) @mMmogEmeq ep® GONMED
alimentary canal does the OQl206m ®o6Y ®MIXlenym
following reactions occur? (IQUAEDMO MSHEIM®.

Proteins 0

. 1 T in / Ch t ]
1)  Peptones i, Y2 % Y% 9 Y 9n ¥ 94 92 30 Dipeptides

Carboxypeptidase
Proteoses b

i) Proteins % %¥i%® Proteoses + Peptones

8. a) Person with 'AB' blood group 8. a) 'AB' aso (] 988 aysclow
is called 'universal “odau@le  cfle:demoal™’
recepient'. Give a reason. g’ allglenymy.  &Ooemo

QUYB®DOBE) .

b) List out any two disorders of

human circulatory system. b)  @amiaty 06® aly@m Al

eUoWleH M oo @ssleljo g

OOCUMHLINEIBUWD ag)PIBB.

K-41 11 Turn Over



FY 26

9. Complete the flowchart given 9. ®oev omMIAlenM ade8d 21003
below. IO @1 B6)8>.
Vertebrata
Division
Agnatha | | ... )..........

Pisces | | () -
class
class class
chondrichthyes Amphibia
---------- (b)........... USRI C: ) TR —| Reptilia
Aves
Mammals
10. a) Give one word for the 10. a) ®oey @mldleomaidies &g
following : QUOBE) af)PYBYb>.
1) Presence of Glucose in Urine
11)  Presence of Ketone bodies in Urine
b) Which human disorder is b) 28l alclatodlafldeaim oeng
having the above mentioned BISUMEMBUID AMaryMeel oR®’
two symptoms? BOOMN@OQS NINWER|S®OEN.

K-41 12
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11. Observe the figures given below. 11. ®oe¢ m@BIIBIeeM 2Nl(@EBGHD

S| 6))5.

A)

a) Identify figure 'A' and 'B'. a) 2@o A wy B wio al@loicloym.
b) Name the subunits of 'A’ b) A, B af@emgies aven! @emigy
and 'B". BHBOS CalOOLIDONH>.

12. Note the relationship in the first 12. @oa) smoieionl snimbo amqendss
pair and then complete the 6NB0QEOED @230 AT LB
second pair.

a) Insulin; Hypoglycemic hormone : ...................... ; Hyperglycemic hormone

b) Over secretion of Growth hormone; Gigantism: Low secretion of Growth

hormone; ...................
13. Observe the diagram A and B 13. @oee omidesym A, B ol@msd
given below. 1B sl 7).
A) (B)
N
[
a) What is 'A' and 'B'? a) A @ B @0 agomoem?
b) Mention the other two levels b) @oomyewlon ag e caismo
of protein structure. @elemBcd QM08 w:.

K-41 13 Turn Over



14. Classify the following animals
on the basis of the mode of
nitrogenous waste excretion in

the table given below.

FY 26
14. ®oey omMIClenM RMMYEOOS
eemsElmay acellmy allcvdoem
owleR @oslmuoomesila @arlcleaniom

a15le-Qflad ®Oo@I@lH6) 0.

Mammals, Birds, Bony fishes, Reptiles,

Terrestrial amphibians, Aquatic amphibians

Ammonotelic

Ureotelic Uricotelic

Answer any three questions

from 15 to 18. Each carries three

(3x3=09)

scores.
15. Find the odd one from each

group. Justify your answer.

15 ojoad 18 cuenwgs 8210c)amBsla@
agem®leljo 3 ag)eROTIM HOMOORI@)E:.
3 mie®od allmeo. Bx3=9)
15. &0600 (iafl@ mlamie sgwoem

FOOMNS)HNIE:. MEBRIOS HODOO

MUOUII BBl BE)) .

a) Star fish, Devil fish, Dog fish, Jelly fish
b) Flying fish, Angel fish, Saw fish, Fighting fish

¢) Sea lily, Sea cucumber, Sea hare, Sea urchin

16. Prepare a flow chart showing the
parts of human brain, by using

the details given below.

16. ®oey @mMidleeim alvwEdowemBd
9aleWowle) amiayy ®LIGo0le

@B maflallenim &m aiegd

21005 ®YIOIBEH:.

Cerebrum, Medulla, Mid brain, Thalamus, Pons, Corpora quadrigemina,

Hypothalamus, Forebrain, Cerebellum, Hypothalamus, Hind brain, Brain.

K-41
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17. Diagrammatic representation of 17. ey @osawdaw ECG wyes

a standard ECG is given below.

coeUooll@o @26 ®MMIGlesniM;.

R

: b r
Expand ECG. a) ECG @os a1jdqpaieionsi@s.

What does the 'P', 'T" waves
denote?
Mention the clinical

significance of ECG.

b) P, T w®oomeB®d agaw
avgaflafleeiom,.
c) ECG wes gloileom (@iowomyo

o,

ag)Om?

18. Match column 'A' with those in 18. e®s:080 A 6w 6080 B @wyo C wymow
columns 'B' and 'C'. 82100015162 1AH .
A B C
a) | Type of simple Epithelium Location Function
b) | Squamous Epithelium | ... (a)......... Diffusion
c) Ducts of glands and tubular
.......... (b)......... o vrreeeennn(€)
parts of nephrons in kidneys
d) [ Columnar Epithelium @) Secretion and
................... Absorption
e) Inner surface of bronchioles
.......... (e)........ . vrreeeeenn(£) e
and fallopian tubes
K-41 15
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Part - I11
MATHEMATICS (SCIENCE)

Maximum : 80 Scores
Time : 2% Hours

Cool off time : 15 Minutes

/ General Instructions to Candidates : \

afleyodmale: @688 ealom) MACGUEB®D:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

rldgladis oM ajoen 15 almlg ‘@i &dal 66so’ eenso@fl@leano.

‘@b Boal ©6S0’ G2I0EYIBW al@lalWea|SOMio HETHOIBWD @DIVY®6EMO
£21Q0MP0 HalBIUHEH:.

MIRGGULEIBU MILIAMI YBERLIABQ o AUOWIBHEMO.
HOMOEIBUWD ) PAEYM@IMN MM B2ldBYETBWHD (BERLIABQo CUIWIBeEMo.

BH6MBE)  8HISINBRD, 2l@EMBMR, (N0, ag)milal OOMOGla]GlEd @O
N30 @lesemo.

B2I0BYEIBW AIWIgETIRle M@H:lRIgeNS.
@OOUCYMER MVOLIGE MVACUIBYETBRD 61B0SIHEMo.

G (IO(NODIHHUWD 6).21QOMIBIMD HIMHNICLIQNIH WD BF10HHW IS 60)
EDRIBB(SOEMIE Haldhoemlio al@ldHInndE® HalEOUlHeIIOM aldslg). /

K-23
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Answer any six questions from 1 oo 7 cueowigss 62103)Bslm
1 to 7. Each carries three scores. agemsslelo 6 ag)epETlm OEMROAPI®)H:.
(6x3=18) | 3 remon aNwe. 6% 3=18)

Let

A= {x :x1saprimenumberlessthanl 1}

and

B = {x :x1sanintegersuchthat 2£ x £ 8}

1. A = {xix ogm@ 11 emseeo®d
©210J®OW @OEIRY Moy |,
B = {x:ix cgm@ 2£x£8 GOW

ay®6m o6’} @OIM ...

a) Write C = ANB. 1)
a) C=ANB ageymib. 1)
b) Find the number of subsets
b) oy @eowemgias C-wyies
of C which has 3 elements. 1)
qeNinmHR ag)® agemaee. (1)
¢) What is the probability of
c) C-wes alaud emgl@ mlomio
getting a subset of 3 elements
@MY @OOUETBRIAE MVENIOIVRIEWD
from the power set of C? 1)
eIHOH0MmBs MOW® ag)@woem? (1)
4 4 2. a) (a +b)4 - (a- b)4 BX06M)>. 2)
a) Find (a+b) - (a-b) . (2)
b) @ysdary
b) Hence evaluate A A
4 4 2] - -2
(V3+42)" - (V3- 3) ) (Va+v2) - (-] oa
afles @06mes. ¢}

Find the square root of the

complex number 3 + 4;.

The sum of first three terms of a

13
Geometric Progression is I
and their product is —1. Find the

common ratio and the terms.

Find the solution of the equation

Sinx + Sin3x + Sinbx =0.

K-23

3. 3+ 41 ag)lm Gm00g MM Moel@eS
QUBMMYBIo B06MYbs.

4. momemloe ewemlwlengss oy’

13
MWoaHBIOS @, , BAUWIHS
memmanelo —1 ERWO@M ©ald®)

DML MVOELYEBI0 BEENBOTDH>.

5. Sinx + Sin3x + Sinbx =0 agm
MAOUOBIEBIONR alBla0000 B06M k.
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6. Consider the graph of the 6. f(x) 0 a06FO® (0
function f (x) Al @ NEM] OB
2
1
A ... 12
-1 :
-2
a) Identify the function f (x) a) f (x) ag)am an63 oy M
) f(x)=Sinx 10124 Ol k.
1) f(x)=Sinx
11) f(x)=Cosx . B
11) f(x)—Cosx
iif) f () =Tanx iii) f(x)=Tanx
iv) f(x)=Cosec x (1) iv) f(x)=Cosec X (1)
b) Using the function f (x) find : b) f (x ) ag)am anes’auad
£ leIUlla)
@O )
<@ P p (2) Lim —g%
2 X - E x® B p Q(Tg allel
2 x-
2
£>06M)B. (2)
3l
) . xe9 10
7. a) Find the general term in the 7. a) 8x t—= o allaeflenem
Xg
s
expansion of ?2 + 19 . @) OBOR Halo®alco seemeome.  (2)
Xg
. @y 108
b) If the expansion of b) gx + %5 o) aflayefleoem
2
xE2 +12 has a term OH@ X OROOD alEmyeensmsld
8 XQ@ 21)Q016S 61EHISIOMIBleIMAIQ G
independent of x, then which n-e@ aflel  EOHIARME
of the following can be the a@®o6m?
value of n? 18 i) 16
) 18 i) 16 iii) 22 iv) 13 1)
iii) 22 iv) 13 (1)

K-23 3 Turn Over



Answer any eight questions

from 8 to 17. Each carries four

scores.
8.

In a school, a survey among 400
students, 100 were listed as
taking apple juice, 150 as taking
orange juice and 75 were listed
as taking both apple juice as well
as orange juice.
a) How many students take
apple juice or orange juice?
b) How many take apple juice
alone but not orange juice?
¢) How many students were
taking neither apple juice

nor orange juice?

The figure shows the graph of
the function f (x) .

(8)(4:

32)

(2)

(D

(D

FY 27

8 mom 17 cuenw)gs 62106)eBslmd
agem®leljo 8 ag)eROTIM EMOOAPI®H:.
4 qie®od allamo.
8. &y Wadlen 400 #glees mden
msemleaod, 100 cald  @oalld
8N BSlenMm@moio 150 cald
0061 BRI dSleOHM®mOW 75
Bald 6N &JM0 BYSIHOIMDOWY0
HOENSEY.
a) @O =EMO B0l RIEMVO
BHYSIHIMAUD )@ GalDdINE.
b) @@old @ &SlenyE W0
00612 )M B1S1B6060mQIEle6)
QYo 621YPIMAUD ag)(@ GaleNs.
c) @@afld KMo o0l 810
BHISIHOEDOUD )@ Gal)ens.

9. oNeomd f(x) o)™ aneBaue @

(9a8 6)B0S)ETBI @B,

(8)(4:

a) Write the domain and range
of f(x) .

b) Find f(0) and /(- 0.01).

¢) Check the existence of

i

K-23

(2)
(D

(D

a) f(x)-o@ OWOHOMMyo
BO6Uo ) PYTYE:.

b £(0),7(-0.01)  agoma
B06M)b>.
Lim

c) x®0f(x) ol @om®lmo
al@1GUOOWI B6)ds.

32)

(2)

(D

(D

(2)
(D

(D



10. Consider the set A = {- 1, 1}
a) Write all elementsin A~ A.
b) How many relations are
there from A to A?

¢) Write all functions from A to

A which has Range ={-1,1}.

11. Using principle of mathematical

induction, prove that
n(n+1)(n+5) is a multiple of 3

for all nl N .

12. If z is a complex number with

|2| =2and arg (z) = 4?p , then

a) Express zin aq+ib form.
b) Find z.
c¢) Verify that (E)2 =2z.

13. Seven cards are drawn from a
pack of well shuffled 52 playing
cards.

a) How many ways this can be
done?

b) What is the probability that
the selection contain all
kings?

¢) What is the probability that
selection does not contain a

king card?

K-23

(1)

(1)

(2)

(2)
(1)
(1)

(1)

(2)

(1)

10.

11.

12.

13.

FY 27
A={-1,1} omg

@O B6)).

Qg)om

a) A" A wes oggd @ooneBgle

QG)FI®)B>.
b) A @@ mlmye A @leelss) ag)®

(1)

Oleelatmicdtd eens? (1)

c) eoedl = { 1, 1} @I588 af)®
a063aUMEBHR)NS? (2)

efl@mla{ld 800l 20EMDOGHOH@

BWBHMD Dalcwoudlaf aggjo nl N

mMyo n(n+1)(n+5) )M 3 o

wemlmaoeema’ o@ElQe6)d:.

I =2, arg(z) = L%p W 60)
B00g TV TVOEUIIET) 2 ag)8esl@d:

(2)

a) zem a+ib IO ag)Pi®id.

b) z ®06myss.

(1)

c) (E)2 =2z og)m eogdlees. (1)

MmO e0sE-eId@ml@ 52 2flgie-eld

mlomio 7 2flge®  ag)Sieeime

@A B6)).

a) 9o of©@ OeIX@ eaiQod
&¥lwo? (1)

b) @@ agelo Hles aflgiealo

(2)

HENBOBOMIBS MHOUN® ag)(®?

c) o &1 608" 215y

HENBIDHIBNBIHNUIMBS VO

g)@? (1)

Turn Over
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14. a) Write the contrapositive of 14. a) omidlesym  emgeadled
the given statement. gm0 (socatomiglal equgeand
"If a number is divisible by 9, Qg) 9L ).
then it is divisible by 3". (1) "If a number is divisible by
b) Verify by the method of 9, then it is divisible by 3".
contradiction : b) @06 (sul@mm lo)]
"p:y/ 7 1s irrational". (3) 916Ul O®ESQIH6E:.
"p:y/7 1s irrational".

15. Calculate the mean deviation 15. @mleleoym wog ale@owlyy
about median for the following WD OB @ mames ol e
data : AWNERAHMD dBEMBEIRE .

Class : 0-10 | 10-20 | 20-30 | 30—40 | 40-50 | 50-60
Frequencies : 6 7 16 4 2

16. Consider the word 16. ASSASSINATION agom cuoss’

ASSASSINATION. al@WETEeHs.

a) How many different ways can
the letters of the word be
arranged?

b) How many of these words

have all vowels together?

17. Let A(0,7,10), B(-1,6,6)and

C(-4, 9, 6) are the vertices of a

triangle.

a) Show that it is a right triangle.

b) Find the coordinate of the
centre of the circle passing
through the points A, B, and
C.

Answer any five questions

from 18 to 24. Each carries six
scores. (6x6=
18. The figure shows a unit circle

and a line L which makes 30°
with the positive direction of

x-axis.

K-23

(2)

(2)

(3)

(1)

30)

a) 00 QUOLSIOL! BOBSHOEBOS )@
AlSI@ (Bllee@le0M B0 ?

b) e Q@
QUOBNH:EIT ag)Ql0 TVJEOBHUD

(S BoMmEm 6l

60380 @OSIEMIOIMY?

17. A(0,7,10), B(-1,6,6),

C(-4, 9, 6) ag) Ml 8} (@les06m

OOIOM MYLIGROET).

a) oo 80) 03 (GEHHOEMAIeEMMTY
@S H6)16.

b) A, B, C ogo enflmseesleyes
HSMMNY Balddh}(M QUIODEBIO

G((B30 HHO6M Y.

18 oo 24 cuenw8s G210B)eBRElmd
agem®leljo 5 ag)eROTIM OMOOALI® LS.
6 mieod allmo.
18. 2N@e@ 80y a@dd QUIEODAI0
x- @oLuaslan aouldrwmoal 30°
B06MENBOBHIM L ag)im oo

QU2/|@HeM;.

(5x6=

(1)

(3)

(2)

(2)

(3)

(1)

30)



19.

20.

e . 30°

a) Write the equation of the
line L.

b) Write the coordinate of the
points A and B.

¢) Find the equation of the
tangent line to the circle
at A.

Consider two lines

L,:2x +y =4 and
Ly:(2x-y=2).

a) Find the angle between

L and L,.
b) Find the equation of the line
passing through the

intersection of L and L,
which makes an angle 45°
with the positive direction of
X-axis.

¢) Find the x and y intercepts
of the third line obtained in
the above question (b).

If an ellipse passing through

(3, 1) having foci (i4, O), then

find :

a) the length of the major axis.

b) the standard equation of the
ellipse.

¢) the eccentricity and length of
the latus rectum.

K-23

(2)

(2)

(2)

(2)

(3)

(1)

(2)

(2)

(2)

19.

20.

FY 27

e . 30°

a) L ogm alowies aqaiodyo
QG)PIOIE>.

b) A,B agaml  enlmyeesies
(MV22 15MVOBUYBUD GBI Hs.

c) ayomemlea A agm enllasy
afleeswigs e®mMOSIAUNWIOS
QVDQUOEYO BHIEMs.

Li:2x+y=4,L,:(2x-y=2)

g QUABWD al@IW6NM]B6)d:.

a) L, L, @olengg esmoemaal
806>,

b) x- eosxowled @oUIClvmOR]
45° eamoemyenzoseymmyo L., L,
ag)ml QUOBHBIOS
enflo3yaflees &Hsomy Balddym
@00 QOIS VOO0

Moo

BH06M)bs.

c) ealoayo (b) @ eidley amonemm
QUOIOS X, Y OPOOTaIREHRD
H06M)bs.

(£4,0)
agelladony (3, 1) agom enflazaflepes

GanoHHMOWIZI8E &0
HSMY @alDdhY (M6 6N 81 @D
a) 60Rd EIEUOTONR A58 E6Mw:.
b) agelaimiied mmaioeyo @:06m)ss.
c) ageommElmlglole elogmy’

O0RHQOTOR (Flao B06M)d:.

(2)

(2)

(2)

(2)

(3)

(1)

(2)
(2)

(2)

Turn Over



21.

22.

23.

24.

a) Find Sin75°.
b) The figure shows DABC
with side AC = 442 units

inscribed in a circle of radius
4 units. The length of the arc

BDC is % units.

i) Write DA
measure.

1) Find the length of the
sides AB and BC.

in degree

- 2)  5(2-

a) Solve 3(x )£ (3 x)

b) Solve the 1inequalities
2x+3y£12; x31; y3 2
graphically.

a) Find the derivative of
y =x?using the first
principle.

b) Find Dif y=—

ind —— =
dx Y 1+Tanx

Consider the sequence :

3,6,9,12, ....... , 99

a) How many terms are there in
the given sequence?

b) Find the mean of the
sequence.

¢) Find the sum of squares of
each terms of the given
sequence.

d) Find the variance of the
sequence.

(2)

(2)
(2)

(2)

(4)

(3)
(3)

(1)
(2)

(2)
(1)

21.

22.

23.

24.

FY 27

a) Sin75° @06myes.
b) alwowmldd DABC e aleiwo
021guM 4 BRONI8E Qljemo

aleafldlenymy.  AC =442

wyeniigio BDC agyam 210a lomsiled
10 .

mlgo @yemlgumoem.

1) DA s wleesal e:oemids.

i1) AB, BC ool cuemges algo
B06M)b>.
3(ex - 2)£ 5(2- x)

a -Q6e)S
) = 3 )

al@la00MO dBHO6MYds.

b) 2x+3y£12;x31; y32 agom
60 (N | 0 &1 (§1 60> D (Doan’
8aleWOUle] al@laddo B:06Mid:.

a) y=x?-0Q ewdleaidlal angy
(Nl @b Daleouil] £:06Mids.

b) y= @ 2
— —eeeee @ —

Y 1+Tanx oW dx
H06M)bs.

3,6,9, 12, ...... , 99 agm s

@AM B6)).

a) 9 UMM ag)® alGEIBRENE.
b) v esuyMIROs MOWo B06Mbs.

c) swemlwleeal MoBUYBHBIOS

QUBWMETBROS @YB> BHOEM .

d) swemles eElMMY B:06mid:.

K-23

(2)

(2)

(2)

(2)

(4)

(3)

(3)

(1)
(2)

(2)
(1)
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Part - I11
HOME SCIENCE

Maximum : 60 Scores
Time : 2 Hours

Cool off time : 15 Minutes

K General Instructions to Candidates : \

afleyodmile:@96)88 ealom) MACGUEB®D:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

rldgladis oM ajoen 15 almlg ‘@i &dal 66so’ eenso@fl@leano.

‘@b Boal ©6S0’ G2IdEYIBW al@lalWea|SOMio HETHOIBWD @EDIVY®6EMO
£21Q0MP0 HalBIUHEH:.

MIRGGULETBU MILIMI YBERLIABQ o AUOWIBHEMO.
HOMOEIBUWD ag)PAEYM@IMN MM B2ldBYETBWHD (BERLIABQo CUIWIBeEMo.

MNP  8HISINRD, 2l@EMBMR, (N0, ag)milal OOMOGla]GIEd ®eaM
N30 @lesemo.

B2I0BYEIBM AIWIgETIRle M@B:lRIgNS.
@OOUCYMEE MVOLIGD MVACUOBYETBWD 61B0SIHEEMo.

G(IO(NODIHHUWD 6).21QOMIBIBD HIMHNICLIQNIH WD BF10HHW IS 60)
EDRIBB(SOEMIE Haldhoemo al@ldHInndg@ HalEOUlHeIIOM aldslg). /

K-45
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Answer all questions from

question numbers 1 to 7.

(Total Scores 13)

1. Find out in which products
the following standard

marks can be seen.
a) ECO mark
b) AGMARK

c) ISI

2. Expand UNICEF.

3. Identify the characteristics
of social development in
which children choose
friends of their own sex and
show hostility towards the

members of the opposite sex.

4. Ifapersonisoverweight, his

BMI 1s between .........

K-45

(3)

1)

(1)

(1)
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1 ajoad 7 cuen ag)gjo 82103y MBRHN)0

2OMOORL)MS. (ADOH 13 miesod)
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Find the odd one.
(American Sign Language,
Cued Speech, Braille, Lip

FY 28

BQUAIS® BH6)6NMBED)Hs.
(@oeadlend oo e100swm)el,
By W aflal, eEueel, eflal

Reading) (1) Slaflow?) (1)

Fill up the crossword. alBladudmo al@lo]lees.

Across: Across:

a) A feeling of extreme a) 1odlEleem0, OMMYIEER0 @YW
physical or mental (@ eflemo.
tiredness.

. . b) am soeiaaleeiss’ £ )50 6n

b) Tent'atlve .estlmate of a oolo® Qe  ealeiaio
famlly. S 1lncome a.nd ®o® ®:0ela0w)  Mldepwl
expenditure over a period S0 A,
of time.

Down :

Down :

o a) 80y oluale MWOEEmHES

a) Advance plan of.actlv?tles 6IEQIME SO0RR BB
to be performed in a given Segzoreem @e.
period of time.

_ _ b) ®oall evalvyEBRee) elens]

b) Por.tlor% of money income QUEONETeM S €wo 20g|
Wth-h 1s k?pt for future UL, (4)
contingencies. (4)

a)
b)
b)
a)
Turn Over
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7. a) Identify the following

design.

b) Write one characteristics

of it.

Answer any seven questions
from 8 to 16. Each carries

two scores.

8. Write short notes on sickle

cell anaemia and

haemophilia.

9. Enumerate any two causes

of visual impairment.

10. Give two ways in which

rhythm is created.

K-45
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7. a) ®moey oamidenym  aleemd

QQ®IEEMAOTY  BOINSOIT)Hn.

b) svoleo@ ogommslee &)
MIE0AIMANEUaH® agemes.  (2)

8 njo@d 16 cuenw)gs @aloc)aRElwd

apeoslele 7 agepamlm 9@meo
af)Pimes. 2 MIBHOd allmo. (7 X 2 = 14)

8. MsslD eomad @aalw,adlemo-
adlel@ agomlaiewaldl 8o 0l

OQYOOOH6) .

9. @EMWEYEE. ape®®Eslele 6

@006MEMBUD QWOBROH6)1:.

10. Ao myarslenyM@imes oens

QUL M@0



11.

12.

13.

14.

15.

16.

Specify any two
characteristics of the
prenatal stage period of
foetus.

Development involves
changes. Justify.

Analyze the consequences of

adolescent pregnancy.

Suggest any two educational
approaches for hearing

impaired.

Evaluate the importance of

Immunization.

Explain any two
characteristics of mentally

retarded children.

Answer any seven questions

from 17 to 25. Each carries

three scores.

17.

18.

Explain the motivating

factors in management.

Different types of lines can
create emotional effects.

Justify the statement.

K-45
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12.

13.

14.

15.

16.
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mwdeoaimneleer period of
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88JMJ. TVIWIBBHE)H.

VMO0 NBBIQAUMAWIOS BBIaY

QU0EBAR g2 flallee)s.

UWI0ALI88 a@e®eslello QNS
aflayoeyoa malalmensd mided

U6 B.

(I@16E0W  Hemlon@allond

(@10Womyo AlltodeiMo 6).21Qd:.

AUl OOOUMLIMNRE B SHaIOS
a@e@8s1elo MeNS (V) @0 U M 1@ o

@D ANUBHE)H:.

17 ojo@d 25 cueow)es 62103)6aBelad

ageoslele 7 ageREamlm 9@m®o

ag)P)md. 3 MIeHod allmo.

17.

18.

20CMEEDFON Glal0d: CRISHEIBUD

UGB

allaflwmoo QUEBRES 6160
&HDOW (@@l o yan’sTH6 O
mowldeo. HD (M ®IUMOD

OOUIYBD1BE) 5.

Turn Over

(7% 3=21)



19.

20.

21.

22.

23.

24.

25.

Discuss the importance of

breast feeding.

Elaborate the
characteristics of old age

people.

Write a short note on AIDS.

Suggest certain guidelines
for making work centres

more effective.

Analyze the techniques of
discipline during childhood

years.

Write the features of fruit

product order.

Describe the special features
of montessori approach in

education.

Answer any two questions

from 26 to 28. Each carries six

scores.

26.

Illustrate Prang Colour

Wheel.

K-45
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20.
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23.

24.

25.
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6TLIOR-0RIOHMD @02,|SHH qV(TUED

WEMBO8HIG o] Qlleio)mDb:.

(@035 GlaloWesy &odalen

MANBUHUDBRD af)LI®IH:.

alflayoeyomaml@ eadeeleqoo]
Al IMEBIOR (DY@ >R

U6

26 oo 28 cuerw)8s @21063)eBad

apemslae 2 agepamlm 9@meo

ag)9)me. 6 Miesod allmo. @ x 6 =12)

26.

(@063 »ad aflad oll(@leala)

QU OBRIHE .



27.

28.

Explain any six consumer
aids.

Elaborate the causes,
consequences and

management of bulimia

nervosa.

27.

28.

FY 28
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Part - 111
GEOLOGY

Maximum : 60 Scores
Time : 2 Hours

Cool off time : 15 Minutes

K General Instructions to Candidates : \

afleyodmale: @688 ealom) MACGUEB®D:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

mldgladis a@@lm ajoen 15 almlg ‘@i &dal 66so’ oenso@fl@leno.

‘@b Boal ©6S0’ G2IdEYIBW al@lalWea|SOMio HETHOIBWD @DIVY®6EMO
£21Q0MP0 HalGIUHEH:.

MIRGGULEIBU MILIMI YBERLIABQ o AUOWIBHEMO.
HOMOEIBUWD ) PAEYM@IN MM B2IdBYETBWHD (BRLIABQo UIWIBeEMo.

BH6MBE)  8HISINBRD, 2l@EMBMR, (N0, ag)milal OOMOGla]GIEd ®eam
eens0Qf@lesemo.

B210B)IBMD MAIQOSEBIR0 M@B:IQISNS.

@OOUCYMER MVOLIGD MVACUOBYETBWRD 61B0SIHEMo.

G (IO(NODIHHUWD 6).21QOMIBIMD HOIMHNICLIQNIH WD BF10HHW IS 60)
EDRIBB(SOEMIE Haldhoemlo al@ldHInndg® HalEOUlHeIIOM aldslg). /
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Answer any five questions
from 1 to 7. Each carries two

scores.

1. Fill in the blanks by using the

given hints.

a) Minerals : Mineralogy;

b) Rock strata : Stratigraphy;

Fossils 1o,

2. Mention any two geological
organizations or institutions

that are functioning in our state.

3. Name the following :

a) The true shape of the earth.

b) The colour of a mineral's fine

powder.

4. Distinguish between metallic

lustre and vitreous lustre.

K-46

(5 x 2 = 10)
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1 oo 7 cueowiss 62103)emalad
agem®leljo 5 ag)eROTIM OMOOALI® LS.

2 Mesod aflmo. (b x2=10)

1. omigies myoime®d 9aleouila)

aflgeomo alidlafleeds.

a) Womeen® : allemenoged;

(0] [T S o

b) weomimoes® : miisoglwanl;

BaNOMUIERDMD © ...

2. MAeS MVEMAIMED (ICUAGYTE60M
a@eO®mB:1Rl0 OME B1OOHN2EMOM] B,
MOdalMEBRIOSEWI, TvoeRIsm

BHRIOSEWO Gal® (V2 flaflee)d.

3. ©96% aloWMAUW®BS alOo@ym

BalOOPYO.

a) cUIWes WAWIW @YE:YDI.

b) &r womallend ealosles mloo.

4. oengoelss eigyole alglm’ gyl

®ol@ ORI D H6)ds.



5. How does thermal expansion
and contraction of rocks result

in their physical weathering?

6. List any two evidences that
support continental drift

theory.

7. What does the palaeomagnetic
data reveal about the sea

floor?

Answer any ten questions

from 8 to 19. Each carries three

scores. (10 x 3 =30)

8. Discuss the roles played by
geology and geologists in the

service of humankind.

9. The Big Bang is the name of a
widely held scientific theory of
the evolution of the universe.
Express the theory in your own

words.

K-46
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5. wlameles ®oaflw alle:omale
MEe: 0210130 ag) M8 MO M’
@OAUIOS BV BHOalAQEmMY

BOEMAOBHYM@).

6. e aNmuodalm(eleuemw 2leim)
lavo @M all@enielemdym
age@mslello 0 ol

QIS

7. al}00HBHOMd: WO HSBODMOOW

#0012 ag)amOeN) OO ISIEMIMNE).

8 nyjo@ 19 cleow)gs 6a106)eBglwd
agemssleye 10 ageme somEeaw ®)s. 3
Mes,00 allao. (10 x 3 = 30)

8. omiayyoowlees  emamewlm
RlewogXlgysmale ZlewogsRlw)o

QUClHNM alsds @Ol flH0bs.

9. (e BalOTOWENGl2] Olyoals
20Qfl MelOE:I8RM B0 LONV(EIW
mlavomm oo Gal® ]Yole
Al'@andsMo (enfley”  6n1000Y)

Qg)(MO6M. (VJ(Mo QLIS 6070
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10. Complete the given table on 10. ®sogle0m@ (aJUBEDManRIBOW B
aeolian landforms. )M BOJalEmes  moenlauwlal
OMIZES alSld> al)DEBBD 5.
Landforms Process Description
B)®) 163D (@l aflcueemo
Barchans | ... () I Crescent shaped dunes
OBLOMIEBRD | e (ag))-weeenene 2I(MBHHRIODYBIQLNSE AWIEMIEB-UD
Deflation hollows Deflation | ... (o)
WladEgaUm an068MY wladegau®d | [(011) N
........... (O — Abrasion Rock fragments with polished faces
............ (@), @G(6NIaHM almIMIMOW (A IBEIETBEROS dSIQ
BRI Ead6METBId
11. What is meant by drainage 11. eowem= seimimehd  (Fldad]
basins? Prepare a diagram ®SEBD)  ag)(MOSLIMOM? &0}
showing a drainage basin. eeWeme emIavlom H6MHeM
2fl@o MYOOOHE)) .
12. Give examples to the following 12. ®06% alo@m snMo alBQY®EBRHS

types of mountains.
a) Volcanic mountains
b) Folded mountains

¢) Relict/ Erosional mountains

K-46
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13. Match the column A with 13. e®o80 A-o@ emos0 B,C agomiau
columns B and C. ©20Q) G2IAOMDLI®IH:.
A B C
a) Guyots V-shaped Depressions

NEROMY V -@od0)o ®OF 21D

b) Submarine canyons Cylindrical Mounts
meninee0m &omle@osrmy mlelens00ds @ BYTNIBRD

c) Sink holes Flat topped Valleys
miless GaOOdMY alOM OalBIGRIEEDHIS BISIW OB

14. Describe the structure of the 14. eolwies @O  ccism 80,
earth's interior with the help of ENOIGEIN Ma0OWEOMINS
a diagram. ANlUEle8s.

15. Explain the characteristics of 15. 2paies e@osiomlgies @@l e
the given thermal layers of the ®oal aloglegles malewwatmded
atmosphere. QNvBlo01 666
a) Troposphere a) 6(s06a0Madl@d
b) Stratosphere b) miisoegomiadlad
¢) Thermosphere ¢) emdemomadld

16. Mention any three strategies by 16. endemec s@lonow] Claoded
which groundwater can be 021900 Haldalenim agemesslelo
recharged artificially. o 20dQRemBd muzolloleeiss.

K-46 5 Turn Over



17. Form appropriate pairs from

18.

the following.

(Clay, Emerald, Bladed,

Gemstone, Brick, Habit)

Fill in the blanks.

a)

b)

Specific gravity signifies the
ratio between the density of
a mineral and that of water
at 4°C. Water has a specific

gravity of ............

In Moh's scale of hardness,

Quartz has a hardness

The average salinity of ocean
water 1s ........... parts per

thousand.

19. Define mass wasting. Explain

any two types of mass

movements.

K-46
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18.

19.
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Answer any five questions
from 20 to 25. Each carries four

scores. (5 x4 =20)

20. Earth processes can be divided
into internal and external
processes. What is the difference
between these two? Explain

giving suitable examples.

21. Describe the following terms

related with groundwater.
a) Porosity

b) Permeability

c¢) Water table

d) Aquifer

22. Ox-bow lakes and meander
bends are common features
found at the old stages in the
evolution of a stream valley.
Explain the development of
these two landforms with

illustrative diagrams.

K-46
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20 )o@ 25 cueow)gs G2106)eBslmd
agem®leljo 5 ag)eROTIM OMOOALI®H:.

4 mesod all®o. (5 x4=20)

20. @Y EIV®»e8 AN (DERBEM@)
e10a0y (ag)dMIBREM®@D) (ol (B0
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M®o6em. 01 6 (al(B]WE D
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d) @odeand
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QOO B088)(M aflwo
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23.

24.

25.

Distinguish between glacial
plucking and glacial abrasion.
List out also the major erosional
landforms found in glaciated

regions.

Depositional landforms of the
coastal zones are associated with
the geological activity of waves
and long shore currents. Make a
brief description on the

following coastal landforms.
a) Spit

b) Baymouth Bar

¢) Tombolo

d) Barrier Island

Lithospheric plates are in
continuous motion relative to
one another. Give your ideas on
plate

plate motion and

boundaries with examples.

23.

24.

25.

FY 29

BRaYUY@  qldelolo B aUy@
@G(eNlarMio @I GAUAMITL6) .
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@OCBUIEETD MGHHalem B0 I6TBRD
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(JQUIBEDMEBRIMOQ eITWeQ|306m
0JalOa]S)M®@.  ®IOY  alOWIM
®OCRW BJAJITBOLNI012 80)

eleap allaoemo @QOOIHEH:.
a) miallg

b) ceniavo eniod

C) ©SOBMIIERD

d) enodlwd aflat

ele@mOMOanCld:; aNfIHEBW@ S
2eQomMlem @osalsdla] mlomonow
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Part - I11
COMPUTER SCIENCE

Maximum : 60 Scores
Time : 2 Hours

Cool off time : 15 Minutes

/ General Instructions to Candidates : \

afleyodmile: @688 ealom) MACGUEB®D:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

rldgladis oM ajoen 15 almlg ‘@i &dal 66so’ oenso@fl@leno.

‘@b Boal ©6S0’ G2IdEYIBW al@lalQWea|SOMio HETHOIBWD @EDIVY®6EMO
£21Q0MP0 HalBIUHEH:.
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BH6MBE)  8HISINSRD, 2l@EMBMR, (N0, ag)milal OOMOGla]GIEd ®eam
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Answer all questions from 1

to 5. Each carry one score.
(5x1=5)

1. The number of symbols used

In a number system s ..........

2. Small and fast memory
between processor and RAM

1scalled............

3. What is the use of Rhombus

symbol in flowchart?

4. To find the number of
characters in a string,

............. function is used.

5. To check an alphabet is

.......... function

lowercase,

can be used.

Answer any nine questions
from 6 to 16. Each carries two
scores. (9 x2=18)

6. Expand the following:

FY 30
1 o) 5 cueew)8s ag)glo 8210B)6BRal0

9OMEOALI®)H. 1 Meeod allmo.
(5x1=5)

1. eqp omud o@ueIEwIC

9aleOWIHnM  allamensges

6Y)(01 SRR @06
2. RAM mp eiommolmge
nswlenas 62101 m0

BUNOWIREMI0 @O HRMNCIQO6M

3. adeg0210d51a 0o0eIM aflamo

©al8WONHHIM®

v

moem.

4. 80} W(EODEOR HOVBSOIBRBIOS
ag)eo  Hensjallsleeddd

a06B3a¥M HAIGWIUNE6M,

d. B0 BEMUOC GRIIIDGHNV @DEEMD

ag)Mm’ al@l8Lo0WleHM aneaumd

6 ojo@ 16 cueow g8 @a10a)aREmd

a@emess]eljo 9 ag) e Om1

OOMOODL®)S. 2 MIeHHd allmo.
(9 x 2 =18)
6. a1deREIaio ag)9 ).

a) ENIAC

b) VLSI
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7. State De'Morgan's 7. Wl  e20dnodm ®lwoaB®d
theorems. g A OBs.

8. Name any four e-Waste 8. ogommlene  moe’  sm-saigy
disposal methods. MIdomORdLEMm O] 826S

GalOOPYDn.

9. Compare Entry Controlled 9.  agdiE] eedesodas elal, agdsmid
loop with Exit Controlled HEMESORDU elja] QI ®IO®D0
loop. 0.21Q))bs.

10. Find the invalid identifier 10. ®oev ® M @leem a1 @d
names from the following : ©ag)WBlan@d @O
Al, d-w, 999, qwA, Z§$, AaAl, HAICWIWHHIMI AUODD GalBRd
8c Qg)SIOOTHEYONEs.

Al, d—w, 999, qwA, Z$, AaAl,
8c

11. List the datatype modifiers 11. C++ @ DI HHIM
used in C++. WORONeSa] EROWlaIWOIBR16S

GalOOPYn.
12. Write the symbols of the 12. apaieseiomym G+ @ogleogoy
following C++ operators. YOS 2lamMEmBD ag)Pi®es.
a) Conditional operator
b) Extraction operator
c) Increment operator
d) NOT operator
K-42
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13. Write the syntax of if

........... else statement.

14. Compare Linear search with

Binary search.

15. What do you mean by
argument of a function?

Explain formal arguments.

16. Write the advantages of

social media.

Answer any nine questions
from 17 to 27. Each carries

three scores.

17. Explain any three

generations of computers.

18. Draw the logic circuit for

Boolean expression X X +Y

19. Convert (11011), to Octal
decimal and Hexadecimal

number systems.

20. Name the steps involved in

problem solving.

K-42
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13. 1f ... else sgugeaddled

lAROBMY ag) LY.

14. elflwd enda), eeemimdl earvda]

EDQL ®IO®RYO 6).21QYds.

15. 80 aneBavo@ @OAMO@D MY
ag)MO@ ) a®O6Mm?  BaNOAD@

@RdnYea@lemaldl Alaidlees.

16. avomia0y DOWIDETBEIOS BAMDHUD

QgG)PAONB>.

17 ayo@d 27 cueow)gs @aloa)yemelwd
ageomsilelo 9 agepoe HEMEERPI®)S:.

3 miesod aflmo.

17. ageo®@mleo  o3am  Hoalygd
LMBOHMYHOE algl

l0oE|6:@106)8.

18. Xy +Y agam  enpslwm®
)M alatO@ BRIOLIH: MVABYS

QUOQEEH>.

19. (11011), em esssodd, ewmiead,
a0 B MO AWM O DM anmud

V(MBI QEBIGLIDHE) MOGI:.

20. eIomigo OB llens (iBIWes

OFNAPBHRIOS BalOOLLMIR.

(9 x 3 =27)



21. Write a short note on C++

character set.

22. Describe three types of C++

expressions with an

example.

23. Write an algorithm for

selection sort.

24. Differentiate between put
() and write ( ) with an

example.

25. Describe the merits of

modular programming.

26. Write short notes on.
a) Bluetooth
b) Wi-Fi

c) Satellite

27. What is the role of Firewall
and Anti-virus scanner in

computer networks?

K-42

21.

22.

23.

24.

25.

26.

27.

FY 30
C++ @o0s550 emvglomald ey

o(Maho MQYOOIHE .

C+t agemilatatimymeies o

10w AlUGH6)H.

OMEIBH M  emodglasimes

@O@BUNIBI®O af)LIEIH>.

©B2%a0osMmMadl®o put (), write

() ey eIRGIAI62491®6.

GOOWIRIOA Gl (wonlemslen

(18IZRMEMBURD DG BB1B6) 1.
Bl Mo(NA00 MQYIOIHEIE:.

a) 6RUSIOT

b) eeai-e6an

c) mogeeelq

@0 lySd 1o yEURIMEITd an@BOIOW,

@OWOOUOM MIBHIMD ENAIWIOS

£ IBINONT?
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Answer any two questions

from 28 to 30. Each carries

five scores. (2x5=10)

28. a) Write any two examples

of optical storage devices.

b) Rearrange the following
memories in descending
order depending on their

speed.

(Hard disk, RAM, Cache
Memory, Registers)

c¢) List four major functions

of operating system.

29. a) Explain any three jump
statements with

examples.

b) Read the following C++
statement and rewrite
using if........ else.
(a>b)? cout<<a :

cout<<b;

K-42

(1)

(2)

(2)

(3)

(2)

FY 30

28 nyoad 30 cuenw)es eo10B)Bs] @

ago®m®mleljo 2 ag) R eI’

HOMOOAL®)S. O MIEHHOD allmo.

28. a)

b)

29. a)

b)

(2 x 5 =10)
o ealslen®  eEyosOes

DaId0EMEMmRIS Galoawies. (1)

OMaIO@IM  60mOlHe8s
CUN®@IOS  @ROAIGDIA06M

(BOETID N (B> B> D16 8.

(Harddisk, RAM, Cache
Memory, Registers) (2)

830 eoglens” ailguemlend moel

(WM 2IO@RIGD a9y,  (2)

a@e®®lello @M oM’
BANROOMIBHD  HBOAODEM

Madl®o ANKEH@H6):. 3)

snrlatoym C++  equgoad
it else sacwoudly]
OGO IB 5.

(a>b)? cout<<a :

cout<<b; (2)



FY 30
30. Explain the network 30. emgudoe €s06q|ogedl i

topologies with diagrams. 2N@eBR adl®o ANlvodleEle)ws.
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answers.
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Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
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rldgladis oM ajoen 15 almlg ‘@i &dal 66so’ eenso@fl@leanoe.

‘@b Boal ©6S0’ G2I0EYIBW al@lalWea|SOMio HETHOIBWD @YIVY®6EMO
£21Q0MP0 HalBIUHEH:.

MIRGGULETBI MILIMI0 YBERLIABQ o AUOWIBHEMO.
HOMOEIBUWD ) PAEYM@IMN MM B2IdBYETBWH (BERLIABQo CUIWIBeEMo.

BH6MBE)  8HISINBWD, 2l@EMBMR, (N0, ag)milal OOMOGla]GlEd ®eam
30 @lesemo.

3210B)IBM MAIQOSETIL0 M@BIQISNS.

@OOUCYMER MVOLIGD MVACUOBYETBRD 61B:0SIHEMo.

G(IO(NODIHHUWD 6).21QOMIBIMD HOMHNICLIQNIH WD BF10HHW I8 60)
EDRIBB(SOEMIE Haldhoemlio al@ldHInndg® HalEOUlHeIIOM aldslg). /
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Answer all questions from 1 to 10.

Each carry one score. (10 x 1 =10)

1. Classify the following into
passive and active components.
(Transistor, Capacitor, Diode,

Resistor)

2. If two resistors R1=100W and
R2=200W are connected in
parallel. Then the effective

resistance become ...............

3. In a P-type semiconductor the

minority charge carriers are .....

4. For a silicon diode, the forward

voltage drop is ............

5. Draw the symbol of the following :
a) PNP Transistor
b) SCR

6. Peak Inverse Voltage (PIV) of a

centre tap full wave rectifier

K-47
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1 0)o@ 10 cueowi8s ag)elo 8219B)aBslo
OOMAOAL)ME. 1 ME0d afl®o.
(10 x 1 =10)

1. ooev 005311 HHIM U W

@& RIS HETUM@B MY @O0

alomilad” #emIoeMM@M @0 ®©o

@311 6))B>.

(somavlnigd, e jomilgd, wewoy,

eOMlRd)

2. R =100W ggamio R,=200W
988MIN0W M6 HOMIMGOYHHRD
MO OAOW] enlawlaflo]omd
@OOU@IOS HaNBSIAT eOMlmgadmy

.................. @Rdleo.

3. P oe60sqf emaleemsesold
£006moaldl 21002 AUOAOE® .....ovvvveev.

@em.

4. &0y mleleoem  wewowle
@aN0RAGAUI GAIDDESE GAWdaT .............

@B,

5. ©06% 6&0sam0len;MAUWIeSs
Mlon@ QUOQBE)E.
a) PNP (soddmilmigd
b) SCR

6. em®d s0qf anydeaial
00&Slan@olOm aflos) enddearyay

euodese (PIV) . @Ren).



7. In three transistor configuration,
which one is commonly used for

amplification?

8. For obtaining sustained
oscillations, which type of

feedback is used in oscillators?

9. Thebase of hexa decimal number

system is ............

10. When a small resistance 1is
connnected in parallel with a

galvanometer, it become an .....

Answer any six questions
from 11 to 17. Each carries two

scores.

11. RC phase shift oscillator

contains 3 RC sections.

a) The phase shift produced by

each RC section is ...........

b) In which mode the
operational amplifier is used

in this circuit?

K-47

(6 x 2 =12)

(1)

FY 31
7. o sodalnigd eex0endadlideOau
MIBEIM a@®Ooem qVOWOBMQIW

@vog/laflEHeaHM HaIEIUlHNM@).

8. ®mstoywow eomilealatm® elEeenom
BomleagMHEla  af®  ®0o

adlaienioss) @) §ale@OUIlEaM@.

9. 6a0& a0 oM@ maud

lQRETOD BRIV ................. @06,

10. &y womauemodigalsy maommaaowi
80 62101 §OMIERMIY BHEME:S
21QDOT BOD D) +.vrevverrereenen BOLE

@0Q00.

11 ayoa@d 17 cueowies 62103)emalad
agem®leljo 6 ag)eROTIM 9EMOORPI®H:.

2 mies0d allmo. (6 x2=12)

11. RC ganv' odflad’g eomileaigold

3 RC emumaymd eens.

a) ooy odflady  e0omileeigol@
80800 RC VB UM o
m1dIHHIM  GanM  aHlany’

................ @, (1)

b) @@ §ale@Oow @M
600 C0aH6M@ @Yogflad®@d oR®

cool® @eny oalsouileaymay. (1)
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12.

13.

14.

15.

16.

17.

Explain the process thermal

runaway.

How a capacitor works as a filter

in filter circuits?

List any two differences

between a BJT and FET.

Draw the V-1 characteristics of

a Zener diode.

Why intrinsic semi conductors
behaves as an insulator at 0° K

temperature?

Find the value of the resistors

having colour code.
a) Red, Black, Yellow, Gold

b) Orange, Blue, Green

K-47

(1)
(1)

12.

13.

14.

15.

16.

17.

FY 31

OmAN@ O6Mag)B af)M  (ad(dlQ

Alu@lee .

adl@dgd MdESISElE Bajomlgd
agieslom@oem’ &0) anl@dgoowly’

(BT BN ).

BJT wjo FET wjo omleygs

a@e@BIE0 2 A®IOMIO ag)PIMIss.

80y eammd wswowle@ V-I

BYOOBSTINIGIBM QUOWHEHs.

ag) (26 &0 6NS06M” 60 i (Wl

O 66 0D AW 'S 0> 0°K
®oalmlalad ommieegd Gowl

B06MEQISIMNE).

80 8O @M1 @186 0M

OMIIAROIBHRINS Melo BrensiallSles)d:.
a) e0W, ROBE), OHWEELD, BB

(1)

b) eocoewl, el ©Iad (1)



Answer any four questions from
18 to 23. Each carries three

scores.

18. Capacitor offers some resistance

to the signal passing through it.

a) Give the equations for
capacitive reactance.

b) Write a short note on any two

types of capacitors.

19. Classify solids on the basis of
energy band diagram. Give two

examples each.

20. Find the relation between a and

b in transistor configurations.

21. Varicap is a voltage controlled

capacitor.
a) Draw the symbol of a varicap.

b) How it acts as a voltage

controlled capacitor?

K-47

(4 x 3=12)

1)

(2)

1)

(2)
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18 nyo@ 23 cueowigs G210B)eBelmd
agem®leljo 4 ag)eROTIM SOMOOALI®H:.

3 Mieso0 allmo.

18. #qomlgoyed  @o@l@  #yes
HSMYBalodyM  aulwymellm’ aflel
9a60Wo aR3deIRISIMMOOENE.

a) sqljomlglal oclwoss@mlen
QVAQUOEY0 aG)PIMIbs.
b) ogeosslee 2 oo dalomigoy

H68890l2] AllCUC]Be)8:.

19. agmded snioMadlo manowemmons
IO ®IRNO8  BUA®IV]E6) k.
806800MIMJo 2 ©Boa00eMmo aflmo

QplEe

20. (sodmiaud eH:06Mdadltn@OarmBela
a @o b o omldd o988 enimwo

6N3)0 151666

o

21. saIdleyoqf ag) M ® 80}

eoes=Imo@ mwEmleneqa]sim

B jomiigd @vem.

a) eaidldmyoaflof avloeni @
QUOW B8

b) @oa 80y crIoREges BeNEISOPBUS
Bajomigd @l (aAUQED e,

M@ ag)EmBEMQOE.

(4 x 3=12)

1)

(2)

1)

(2)
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22. a) Draw the logic circuit of a
half adder.

b) Give the expression for SUM

and CARRY for the above

circuit.

23. Draw the internal diagram of a

Cathode Ray Tube (CRT).

Answer any four questions
from 24 to 28. Each carries four

scores.

24. Draw the circuit diagram of
Wien Bridge Oscillator. Explain
how it keeps the phase shift 0°

or 360° around the loop.

25. a) Draw the frequency response

curve of a transistor
amplifier.
b) Explain the Band width of an

amplifier.

26. a) Draw the circuit diagram of
bridge rectifier.
b) Explain its working with the

help of output waveform.

K-47

(2)

(1)

(4 x4=16)

(2)

(2)

(2)

(2)

FY 31

22. a) a0oad  @DWOlOM@  cr0les
MABYS QUOQBE)Bs.

b) 2y@el@ al0emm VBB @
mmloMio  &JOBIWIHSW0

QVRQUIBY0 ) PABYE:.

23. ®oewoa eo syemiea (CRT)

ENMBREM@ W (o AUOWHE)H:.

24 0)jo® 28 cueow)gs 62106)eBslmd
agem®leljo 4 ag)eROTIM SOMOOALI® LS.

4 Me9d aflmo.

24. a0y oculad e somieaigdion
MBS WU AUDL] @OEIE Ganmy
oladg 0° eoogml@ 360° eow
amld@DIM@  ag)emBem ag)am’
lvoElB:@le6) 8.

25. a) (sodmilgyd @ogllan@olen

bl HOMIGaIeMMY ((N0ald
QUOW B8
b) &0} @@ogllan@alem eniomaw’
aflaw ey’ ageoaman’
lvoEl 8016618

26. a) Enflawz ©0Sn0CIOM MdNS

WMo QAUAWEEE:.

b) &vgans (@oanled

(eI QId@mMo

MaOOWEEMINS

Alu@lee .

(2)

(1)

(4 x4=16)

(2)

(2)

(2)

(2)



27. a) Write any two differences
between Avalanche
breakdown and Zener
breakdown.

b) How we can utilize the
breakdown action of a Zener

diode in a useful manner?

28. Theinstantanious value of an AC
voltage is given by
V=282 Sin (628¢). Find the
rms value and average value of

the voltage.

Answer any two questions
from 29 to 31. Each carries five

scores.
29. a) State Kirchhoff's voltage law.

b) Find the total resistance of

the given circuit below.

=300
Ry=40£. R
—— = AN
Ko R4= 3000
Rg=304L

K-47

(2)

(2)

2 x 5 = 10)

(2)

(3)

FY 31
27. a) @oUeloee®  B(6NIHEH AWDEMYO
OIVMA  BEUBHWDEMYo @] @?d
988 oReO®BIeo 2 QAY®IOMVo
gL, (2)
b) 80 emmd  awewowlem
BENUBS AWVEM )M (ad (1
Qf)EtBOM MO0 HAld00 (1O

9aIeOUlBHYM). (2)

28. AC eanmesslon snadauoemlomy
euodege’ V=282 Sin (628t)
@OHIMY. o)1 @o@leq) rms
QORI @DAICOE  QUIORIYIQIl0

6N3)0 151666

29 njom 31 cueow)gs G2106)eBRElMd
agem®leljo 2 ag)eROTIM SOMOOAPI® LS.

5 mies0d allmo. (2x5=10)

29. a) &dafeansadmlO@ eIORESEE
rleao (EIM@®OQNee)w:. (2)
b) ®moev 605010166 0mM

MAB:YSIOEl BYOE: SOMIEYMY

6N3)0 151666 (3)
Ra=30.1
R4=404L1 AVWAN
i
—1 Ra=404
vl R4=300
Rg=3001
v
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30. a)

b)

31. a)

b)

K-47

How we can made a

transistor operates as a
switch? Explain with the

help of a circuit diagram.

The base emitter voltage in

a cut off region is ........
1) greater than 0.7V
i1) less than 0.7V

iii) equal to 0.7V

iv) cannot be predicted

According to De Morgan's

theorem.

Draw the logic circuit

corresponding to the
equation

Y=AB + BC (B+C).

(4)

(1)

(2)

(3)

FY 31

30. a) (soMMIgRd agEmBOM@OET B}
e @IS (RO EeIM®
ag) (M MBS W MOEmIeM

MaOOWEOMI6S AUGHE .

b) 3 &oad Jllweml@ centmy’

ag)algd (eI Y- oF>4

ag)0®0Qfl@le60.

1) 0.7 euodglad ys)®@d
1) 0.7 sauo@dgld wyoal
111) 0.7 euo@glay’ ayelyo

1v) bS] B6mMee0ee0manllg)

31. a) afl e@odmMM @lwoo @oMIVE]

Qg)yam

MACUIEY@BINT @YEIMOQ BRIOLE]Bs

b) Y=AB + BC (B+C)

MBS QUOQBE)Hs.

(4)

(1)

(2)

(3)
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alleyodmdle:@66)188 6al1om) MdeqraB®:
® MdGladis MAETIN alyoed 15 almlg ‘@id 60al e6se’ ©ns0WIaleeo.

® ‘0D 80al ©6SO’ G2IOGYTBR al@lalWeq|SOMio HEDOEBUD @OIV@EMo
£21Q0MP0 alBIUIHEH:.

MdERUIETBM MIPIAUMIo YBEBLIA Do ALORfBeEeMo.

HOMOEIBUWD g)PAEYM@IMN MM B2IdBYETBWH (BERLIABQe UIWIBeEMo.

BH6MBE)  8HISINBRD, 2l@EMBMR, (N0, ag)milal OOMOGla]GlEd ®eam
N30 @lesemo.

B2I0BYEIBW AIWIgETIRe M@H:lRIgNS.
@OUCYMER AVOLIGD MVACUIBYETBWRD 61B:0SIE6EMo.

MOGIYlee® 6sengie® al@le:u0a00glEd ©aleIUlEnHM@OANT).

G(IO(NODIHUWD 6).21QOMIBIBD HOIBMHNICRIQNIH WD BF10HHW IS 60)
\ EDRIBB(SOEMIE: Haldhoemlio al@ldHInndg@ HalEOUlHeIIOM aldslg). /
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Answer any five questions

from 1 to 6. Each carries two

(5 x 2 = 10)

scores.

1. a) Classification based on

places like country, state,

district etc., 1s called

classification.
1) Chronological
1) Geographical

111) Qualitative

FY 32

1 oo 6 ueowss 62106)eBgldd
agem®leljo 5 ag)eROTIM OMOOALI® LS.

2 Mesod aflmo. (b5 x2=10)

1. a) ooy, momnomo, &g @ysens]

WOIO® @OSIMOOMAIHHWIRES

UG H06me O
UdlBemo agiamy Allglenom;.
1) mawsnimwoo
11) @aluedmi@aloo

111) 1IEMOBRE:0

iv) Quantitative (1) iv) @ogayeimuwlomo (1)
b) What is relative frequency of b) 8r; gomle@ @DEaleHIE
the class? (1) @OOLYOT ag)amOEN? (1
2. What are the sources of 2. alole w@ogwies soalseasi
secondary data? oRO®RJ00?
3. Draw percentage bar diagram 3. ©069 08001 WORHE
for the following data : @ROM 6NIOd WMo AUOQBEH:.
Types of items A B C D
Quantity 10 40 30 20
4. With the help of a diagram, show 4. &80} WRWMOBIOM MaDIVWEEHINS
the shape of different types of alalwomoo  HAE50MMVIE810S
Kurtosis. @OBYBI B06M] 665
5. Explain convenience sampling. 5. @emalmwmm’ momid@d
Alu@loe .
K-48 2
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6. Match the following. 6. @2Impoals]l €oldBeE:.
A B
a) | Most repeated value Median
QR0 BYSIO@ UM BOOIBM B LM@Y Al
b)| & (X - A) =0Owhere A is an average Mean
4 (X -A) =0 A agmd &y 0eod) e
¢) | x value of point of intersection of two ogives GM
06Me) BE10BaIOsWio Mowaenfimialleon x allel eRyM(Sles dlad
d)| If one observation is zero, the value of this average becomes zero | Mode
ape®sslelio 803 Allel aljgymoOE M LEOWAIWES el a iRyMOd:o EhiteleIv]
HM
a000e@oeMlws aildd
Answer any six questions 7 mz@aﬁ 13 aUeoW8s8 G.’JJOGJGU’BQ’](U%
from 7 to 13. Each carries three 0@9@&’]&&0 6 Qe)smm'](ﬁ' OOMOODP IO} B>.
scores. (6x3=18) | 3 (gm0 allao. (6 x3=18)
7. a) CSO is located in ........ 7. a) CSO mud@leqigyma:
1) Kolkatta 1) BT TIT)
1) Chennai 1) e2leenm
i11) New Delhi iii) my awadad]
iv) Mumbai (1) V) aleee6nl (1)
b) Write a short note on ISI (2) b) ISI 6)(9)&6)&01%0 60} e]og&ﬁ%o'](g:l"
DROOIHOE. (2)

K-48 3 Turn Over



8 a) Fill in the blank.
The representative part of
population is called ........... (1)
b) Explain the method of
collecting data by Focus
Group Discussion (FGD). (2)
9. a) The median of the values
1,6,0,4,21s ........
1) 0
i) 2
111) 6
iv) 1 (1)
b) AM of two numbers is 17 and
GM is 15, find HM of these
numbers. (2)
10. Calculate Quartile Deviation for
the data given below.
3, 85, 12, 9, 16.5, 9, 14, 20,
18, 19, 20
11. a) Given M2=7, M4=98,
then curve is ........
1) Leptokurtic
i1) Mesokurtic
iii) Platykurtic
iv) Positively skewed (1)
b) For a group of 10 items,
8 x=452, &x”=242170,
mode = 43.7. Find Karl
Pearson's coefficient of
skewness. (2)

K-48

10.

11.

b)

b)

FY 32
aflgeomo alidlafleed.
maadslow  (al@lmluflealeaniom
BOWOOD ag)omy

aflglenyamy. (1)
€andBOM (o] 21doy (FGD)
£aleWoUile] Oy GUOEI@IHEKM
Allwo  ANlvddle@ee) . (2)
1, 6, 0, 4, 2 ogmil Qlleimgies
Al agomay ......

1) 0

i) 2

111) 6

iv) 1 (1)
o6emy mmioimeyes AM 17,

GM 15 agyomo@d sncuwyes HM

(2)

BHEMBOIDE)) .

@969 alOWYM QRIGNS &00663M

AlafleatMd BEMBHIBEHs.

3,

8.5, 12, 9, 16.5, 9, 14, 20,

18, 19, 20

a)

b)

M2=7,M4=98 @R QWO@

oAl

1) 6elalesoedgles

11) ©QeMVIB:AHs

111) gJogledgles

(1)

1v) ealomiglaflel misyan

10 epmes3dpsy

8 x=452, &x*=242170,
mode = 43.7 ©:00 alle¥mend
oR

MIBYMAY BeNn8 0 1S186)85.

dhoaganlaty@  &0an

(2)
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12. a) Range of a set of values is 12. a) &0y 50 Alai®ees @O
100, the highest value is 140, (ool 100, p@dm afler 140
then the lowest value is ........ @YWOT ®O¥M Qllel ...............
i) 100 i) 100
i1) 40 i1) 40
iii) 180 iii) 180
iv) 60 (1) iv) 60 (1)
b) Calculate SD from the b) ®oevalowim afleiweies SD
following data : BH06M)Bs.
1,4,3,2 (2) 1,4,3,2 (2)
13. a) What is tabulation? (1) | 13. a) soenyceladmd agMmom agomoem? (1)
b) Following table shows the b) ®moev PPN GOIIE-HNe O
cumulative frequency table of RI0BOMICRWI0 MM BH8)0S
profit and number of ageREmle@@io  alglem@oem.
companies. Prepare a @OUYOTDH il OQOOOLEH:. (2)
frequency table. (2)
Profit less than 15 30 45 60 75
No. of Companies 3 10 28 53 73
Answer any five questions 14 ojoad 19 cueow)gs 62loc)yaBgla
from 14 to 19. Each carries four a@em®elo 5 ag)eROTIM HOMOORLI®)H:.
scores. (5 x4 =20) | 4 aise08 aflmo. (5 x 4 =20)
14. Represent the following data by 14. ®oey alo@iMm WOg OeAIW®(o
means of a pie diagram. 818Ul (IGMUSlBElE6))0:.
City Sales City Sales
A 90 A 90
B 120 B 120
C 80 C 80
D 110 D 110
K-48 5 Turn Over



15. There are 50 students in a class
of which 40 are boys and rest
girls. The average weight of the
classis 44 kg and average weight
of the girls is 40 kg. Find the

average weight of boys.

16. a) An example of relative
measure of dispersion is .....

1) Mean deviation

1) Coefficient of variation

15.

16.

FY 32

60 gomileal 50 @ Slegld 40 Gald
@Y6MHISldH8l0 61UOHE] ealemdds)s]
BHRIM06M. oMol 1owEl @oro 44
kg 60 e1alendes)gle-e16s vdou@l @m0
40 kg 90 @ @OMG:)Se8)0S

(oL@ @00 dHOM .

a) deaglal emaud 8oad” awlmnigald
o™ B0 HBOAOVEMMOEN:

1) o adloewauad

11) @®oag)adlaytyl @oan-

111) Range cUGle UM
iv) All of these (1) 111) oofleraf
b) Calculate mean deviation iv) snemg)oo (1)
from median for the
b) ®@oevaloimm wogeil@ olom,
following data : 3) ) s 8 o
Alad wlafleaumd oensjallslenie.  (3)
Marks 20 18 16 14 12 10 8 6
No. of students 2 4 9 18 27 25 14 1
17. Suppose A and B are any two 17. A, B ogomlau o6zl snIRied

and

P,, P (ANB) =P,, then

events

P(B)=

P(4)=p,

find the following in terms of P,
and P,.
a) P (Z or E)
b) P (A and B)

P (A and B)
d) P (Aand B)

K-48

P(4)=F,
P (ANB) =

@6 MMI0lLH6S
P(B) =P,
@@ moevaloym P, P

AR Brenz30 1610665,
@P@ma

b) P (Aand B)

¢) P(AandB)

d) P (Aand B)



18. Let

P(A ﬂB)
Find :
a) P(A/B)

b P(ANB)
o) P(B/A°)
d) Are A and B independent?

18. P(A)=1, P(B) =

w |~
O

1

P(ANB) =

®26)¥ alOWIMA
06N>

a) P(A/B)

b P(ANB)

o) P(B/A°)

d) A, B agomlal epdasloatdandy

EOOUMIBHWD @DEEMD?

FY 32

19. a) Which one is NOT a 19. a) omoev alOWIM AW @
probability sampling? e(atoenientleNg) momiglowy
1) Systematic sampling @OLJOOHE®@ ?
1) Cluster sampling 1) @a0mymym momigloos
11i) Simple random sampling 11) &ayd momiglouy
1v) Judgement sampling (1) 1) ercey @acadi® momiglosy
b) Explain the method of 1v) kwgoadd momiglowy (1)
systematic sampling. (3) b) (waomymy® momiglowy’
100 0@ 060, 3)
Answer any two questions 20 o)jo@d 22 cueow)as €2106)aRE]M
from 20 to 22. Each carries six a@om®slalo 2 ag)enRETm OEMEORPI®)H:.
scores. (@X6=12) | ¢ rsse0d allmo. (2x6=12)
20. a) Draw a boxplot for the 20. a) ®oeY  aloWIM  AWORAHS
following data : BENIOBMIBEOS QUOQIBE)E:.
3,8,6,7,3,4,85,6,7,4 (2) 3,8,6,7,3,4,8,5,6,7,4 (2)
b) Find the mode from the b) ®oe¥ alowym all®mesmosled
following distribution. (4) GROUS HEMBHODEBs. 1)
Class 30-34 | 35-39 | 40-44 | 4549 | 50-54 | 55-59 | 60—64
Frequency 3 5 12 18 14 6 2
K-48 7 Turn Over



21.

22.

The following is the record of
goals scored by team A in the

21.

FY 32

@269 alOWIM ag)go BUIBIHBOEN

Slo A 80} anjseeruo®d milaveml@

foot ball season. @S] @
No. of goals 0 3 4
Number of matches 1 5 3

For team B, the average number
of goals scored per match was 2.5
with SD 1.25 goals.

Find which team may be

considered more consistent.

Four cards are drawn at random

from a pack of 52 cards. Find the

probability that :

a) They are a king, a queen, a
jack and an ace

b) Two are kings and two are
aces

c) All are diamonds

d) Two are red and two are
black

e) There is one card of each suit

f) There are two cards of clubs

and two cards of diamonds

22.

Slo B @jes 00000e@ 6nog)m®d 2.5
oo SD 1.25 9o @My
a@®) Slalmoam &sio@ auale®

(merdavlguadol) eaa®?

52 HHOBWIBHD H8E B0 aloHeGIEd

mlomgo 4 HH0BWIBRD OOMWmOW

Qg)SOM]. OOY alOWIMAWIOS

MVOBICLY® d06Mbs.

a) 80} Blow, B0 B, B0} 30B6),
8B0) afM agarial

b) ey &lotne @ ©eN3) ag)aVEMD

C) ag)gjoo WQMENSEHMD

d) 2 apaimae 2 &0ieme

e) &06e0mMI@ mimyo 8M BHOBdW
flao.

f) genuesios 2 agepalpo

WRRENHIOS 2 ag)emalio

K-48



March 2019 Reg. NO. .eeeeevreereecreneeeccsneeeenns FY 33

Part - I11
PSYCHOLOGY

Maximum : 60 Scores
Time : 2 Hours

Cool off time : 15 Minutes

K General Instructions to Candidates : \

afleyodmile:@96)88 ealom) MACGUEB®D:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

rldgladis oM ajoen 15 almlg ‘@i &dal 66so’ eenso@fl@leano.

‘@b Boal ©6S0’ G2IdEYIBW al@lalWea|SOMio HETHOIBWD @EDIVY®6EMO
£21Q0MP0 HalBIUHEH:.

MIRGGULETBU MILIMI YBERLIABQ o AUOWIBHEMO.
HOMOEIBUWD ag)PAEYM@IMN MM B2ldBYETBWHD (BERLIABQo CUIWIBeEMo.

MNP  8HISINRD, 2l@EMBMR, (N0, ag)milal OOMOGla]GIEd ®eaM
N30 @lesemo.

B2I0BYEIBM AIWIgETIRle M@B:lRIgNS.
@OOUCYMEE MVOLIGD MVACUOBYETBWD 61B0SIHEEMo.

G(IO(NODIHHUWD 6).21QOMIBIBD HIMHNICLIQNIH WD BF10HHW IS 60)
EDRIBB(SOEMIE Haldhoemo al@ldHInndg@ HalEOUlHeIIOM aldslg). /

K-27
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Answer all questions from 1 to 12.

Each carry one score. (12 x1=12)

1. Identify the Psycho social motive

from the following.
a) Hunger

b) Thirst

c) Sex

d) Need for power

2. The brain storming technique is

introduced by ......
a) Piaget

b) Osborn

¢) Guilford

d) Vygotsky

3. The main body of the nerve cell

is known as ............
a) Soma

b) Nucleus

¢) Dendrite

d) Axon

K-27
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1 0)o@ 12 cueowi8s ag)elo 8219B)aBslo

OMAOAL)ME. 1 MEH0d afl®o.
(12 x1=12)

1. ooy @mldlesm@@ aomavle
momadld  Glalddo  a@Ee®

10124 Ol

a) aflvog]

b) coa00

c) eeerloUld GaldEMEBWD

d) @wle:o0mTmes @Al

2. eEuI® megoales’ aem®o

@OOIOTa]lo)® ERO:
a) allwosat

b) &omiceniosm

¢) RBcanoda

d) eeaIewosmie:)

3.  moas BHONEMIONG (aIWIM BIMO

@O SN .......
a) eMom

b) myglomy

c) ewmwalg

d) @oeseM0eN



4. Identify the salient feature of
preoperational thought from the

following :

a) Animism

b) Centration
¢) Egocentrism

d) None of these

5. The highness or lowness of a

sound is called .............
a) Timbre

b) Loudness

¢) Pitch

d) Wavelength

6. Which among the following lobe
is mainly concerned with

cognitive function?
a) Parietal lobe
b) Temporal lobe
¢) Frontal lobe

d) Occipital lobe

K-27
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®o6Y @mMIdleIM®I@  mlimyo
lnfleog]e0atem@ oflm@ies o6y

MANBLAHD BHOENSOYH.
a) @omlalovo

b) eqvmaesaud

C) EDVEMIOHMVM(SIMVO

d) sncue@omyog

wniBdamlon sWha ®OYaldd

@GO SIM®:
a) sloud

b) erasmqy
c) allgf

d) saiaielowio

®06¢ @MIBlLHIM®IG® a@®moem’
0300 mIglal’  (aUdEmMA0W]

MNIMWOQ|S BRIOeNT:

a) aloeig@ eelomi
b) esocalo@ celoen
C) Glndes@ celoemt

d) emlalged eeoent

Turn Over



Memory primarily consist of
reproduction of stored
materials. Who proposed this

view?

a) Allan Collin
b) Bartlett

¢) Ross Quillian

d) Ebbinghauss

Filter theory of attention was

proposed by .............
a) Broadbent
b) Triesman
c¢) Campbell

d) Johnson & Heinz

Memory related to procedures
for accomplishing various tasks

and skill is known as .............
a) Procedural memory

b) Implicit memory

¢) Flashbulb memory

d) Declarative memory

K-27

FY 33

B00I@ (aIWOMDIWIo OWBOR|S)
Mm@ MoeEla] Qla] AUNGYEOHROS
al)m® mIdomoemaoen). &NV @Yo

DBIMOS OIB0NBIUM@OD:
a) @RI 6deoslnd

b) eniodgerlg

c) coom’ @flelnd

d) agenfadwmy

@aLEIRs  anl@gd  mlavboamo

MBI QU |®IT:
a) eenIoaeenInduy
b) eesimimond
c) &yooaleeni@d

d) emoemMaum® @MW ao@lday

aflaflw emoellée:glo ©OAURUTWI0
MBQa0lEnyMmIMIas msalsl
(2aBg00W] mInweqa|s 6800m

@GO SIM®:

a) elloniklwodd sodom
b) eogflmilg eodom

¢) adgoadieniddent e0dom

d) adlesgeoglal” eodom



FY 33

Match the following : 82l0loals] G2IdH6)b:.
10. Classical conditioning a) | Bandura
&OMH6T Benslastmilowy EUMWO
11. Operant conditioning b) | Ivan Pavlov
8aJod denglauilowy QUM aloQiBRIoOT
12. Observational learning c¢) | B. F. Skinner
midlezem alomo onfl.agad.cisslond
Answer any four questions 13 ayoad 17 cuenw)gs 6aloc)aBsla
from 13 to 17. Each carries two agem®leljo 4 ag)eROTIM SOMOOALI®H:.
scores. (4x2=8) 2 Mes00 allmo. 4x2=8)
13. Briefly explain any two 13. amzwomii® @oEMIaUeMETRRIOS ©6NE
limitations of psychological @@ 21086 Alldlee .
enquiry.
14. Write a brief note on teratogens. 14. esooegoememeiolal a0y el

allaioemo  af)Li@d-.

15. Explain the term cognitive style. 15. esowmiglal” eewel agm aldo
Aludlee .
16. Define the concept of latent 16. (@yEHLPED alomo ag)im @R
learning. rldaL2 86w
17. Discuss episodic memory. 17. agafemonle; aodom 21806 01Q®:.

K-27 5 Turn Over



Answer any four questions from
18 to 22. Each carries three

scores. 4x3=12)

18. Identify any two human service
area where Psychologist can

work.

19. Cerebral cortex regulate higher

level cognitive functions.

Evaluate this statement.

20. Explain any three life span

perspectives on development.

21. Elucidate the term,

reinforcement. Write its types.
22. Briefly discuss

the major

obstacles to problem solving.

Answer any four questions
from 23 to 27. Each carries four

scores. (4 x4=16)

23. Discuss the factors affecting

selective attention.

24. Analyze the strategies for
improving memory.

K-27
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18 oo 22 cueowigs 82106)eBgl@
agem®leljo 4 ag)eROTIM SOMOOALI®)H:.

3 mies0d allmo. 4x3=12)

18. MoV ®2emmodEs) (@ lIA®DIE6)0
QM oRO@®:IRllo O aMiaHy
GIAUM Ga6Uel @Gl Clwid:.

19. svdlen® eHodgH M HWAM

®elemless DOV ot >
e IQUBR@DMENBOS MIWMMIHNIM]. 0D
laloimoaum  flelfloy@mids:.

20. 8dowyes

oo ®slello @y

glafl®al@afle:semo Mialadsmose)s:.

21. olo@eano¥mon®d agMm alBGo

Mo la¥SMOH6)1H>.
22, (WM al@land® (o (B QQIOS
(IWOMeQS ®SQIEMURD 21)01665 2102

6.21Q))bs.

23 o)o® 27 cueow)gs G2106)eBElmd
agem®leljo 4 ag)eROTIM SOMOOALI®H:.

4 qie0d allmo. (4 x4 =16)

23. o®0OIMSIENQS GBDHALOW
moWIMIeenym IS alda)

6.21Q))bs.

24. eodmwsml Adallqflenyalomies

OODEBRD o l@l@UIUHE .



25. Explain the process of creative

thinking.

26. Explore Maslow's Need
Hierarchy theory
diagramatically.

27. Distinguish between James
Lange theory and Cannon Bard

theory of emotion.

Answer any two questions

from 28 to 30. Each carries six

scores. (2x6=12)

28. Elucidate any six branches of

Psychology.

29. "Adolescence is a period of rapid
change both biologically and
psychologically". Critically

evaluate this statement.

30. 'Observation is a powerful tool
of Psychological enquiry'. Justify
this statement and write the

different types of observation.

FY 33

25. qdRITaG 2lDBRIOS (alBIE:0d

lvoE| 8016618
26. ooaveeoallo@  EDUINYOBEIOS
@Y WeEMmMO mlavomo  afli®
@Y OO @3

MaOOWEOMO6S

al@1GUOOWI B6)ds.

27. 0emoal®:006ma1es Rlom)’ 106w
mlaLdamjo  HOMM 1o

milavoamalio ARGl Cl@)ds.

28 nyjom 30 cueow)8s G2106)eBRElM
agem®leljo 2 ag)eROTIM 9OMOOAPI® LS.

6 MeH00 allmo.

28. amuom@oTeR oge®msslae @O

$06UEBN2] AllKoE]B>@l86)d.

29. “@v200s0ei00150 ag) M@’
WOV (@al@OW0 BOMIVIER0W0

CUMNOWILIRE DOQEBRINS

N R

®0RI102IgM06M."" D (el V@M

AUadumo@nsn0Q) AlleiRoiEmd:.

30. “mdleremo ag M@ amMWONV(®
@OEM]aUHEMADIOM NVHMADOQW B0)

AR Rl

©ald06madem.”” D (Al ®OUM
myole:dla] aoIMI® ®oGmess

ldlerememegaldl ag)9imb.

K-27

(2 x 6=12)
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Part - I11
HISTORY
Maximum : 80 Scores

(Map of World attached)
Time : 2% Hours

Cool off time : 15 Minutes

/ General Instructions to Candidates : \

afleyodmile: @688 ealom) MACGUEB®D:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

rldgladis a@@Emm ajoen 15 almlg ‘@i &dal 66so’ ©ensoQfl@leano.

‘@b Boal ©6S0’ G2IdEYIBW al@lalWea|SOMio HETHOIBWD @DAVY®6EMO
£21Q0MP0 HalBIUHEH:.

MIRGGULEIBI MILIMI0 YBERLIABQ o AUOWIBHEMO.
HEMOEIBUWD ) PAEYM@IN MM B2IdBYETBWHD (BERLIABQe CUIWIBeEMo.

BH6MBE)  8HISINSRD, 2l@EMBMR, (N0, ag)milal OOMOGla]GlEd ®eam
30l @lesemo.

B2I0BYEIBW DAIWIgETIRle M@H:lRIgeNS.
@OOUCYMER MVOLIGD MVACUIBYETBRD 61B0SIEEMo.

G (IO(NODIHUWD 6).21QOMIBIMD HIMHNICLIQNIH WD BF1OHHW IS 60)
EDRIBB(SOEMIE HaldhOemlio al@ldHInndg® HalEOUlHeIIOM aldslg). /
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1. Match column 'A' with A esogomimmewogimowal B ol
appropriate items from o &6 6N algles
column 'B'. 4x1=4) (B DOQSYODD. (4 x1=4)

A B A B
a) Augustus 1) Social groups a) @omERIY 1) aomadle aleomensdd
b) Shapur I 11) Natural History b) a¥tand I 1) Mmoo adlgud
¢) Tacitus 111) Principate c) soalgmy 111) (Nddmleeq
d) Pliny iv) Iran d) gflenf 1v) 6000

2. Find the relation between two
parts of item 'a' and fill in the

blanks of item 'b' accordingly.

(4 x1=4)

omigesld 'a' alleonomles
O6Ng BOMEBW ®ONILNSE al®Mial®

eniTwo am@leloss @o@eatoeel b’

Qoo alRETIOBEIE:. 4x1=4)
a) | Almagest Ptolemy
@O@DOORAY @sogall
1)
b) | On Pleasure
wodogped
a) | First Printing Press Johannes Gutenberg
@OEIHOD @S| 0Oe £230a00MMY 1ISM6erUAUY
i1)
b) | First to dissect the human body
o200 oo adlal el L e
a) | The Pieta Michelangelo Buonarroti
3l allwom OODHNELIVEZRELID GENIOEMHOOS]
1i1)
b) | Duomo of Florence
sppodiction saamy
a) | Martin Luther Germany
@0oAgIad epnd 2000l
iv)
b) | Ulrich Zwingli
sides s T

K-1



3.

K-1

Choose the CORRECT answer

from the given alternatives.

(4x1=4)

a) Identify the author of
'Geography'.
1) Columbus
i1) Ptolemy
i11) Montezuma

iv) Cardinal Pierre d'Ailly

b) Mexico was conquered by :
1) Montezuma
1) Cabral
iii) Pizarro
1v) Cortes
¢) Brazil was occupied by :
1) The Portuguese
i1) The French
111) The Spanish
1v) The Dutch

d) Name the author of the book,
'Tmago Mundi'.
1) Cardinal Pierre d'Ailly
i1) Ptolemy
ii1) Eric Williams

iv) Tacitus

FY 34

2)aies emmileleanymaieid mlimio

WAIWIW  HOEMOo  ®IEOEMNS]
OBV, 4x1=4)
a) ‘ezyoWanl’ agmm (MMOEBIOR

b)

d)

021Ql®oad:
1) 6080
11) esogal
111) e@oemslovym

1v) &0dln@ alled allegioiel

DB MICHHIOW HPSHSQ@ :
1) emdendslavm

11) &EnIowd

111) aflquoeoo

1V) @005y

erumileled @aulaimyo qundallow:
1) Galod2uslauydeod

11) (a06™Ide:00

111) &qM@ld6:00

1V) Wwo)ide0d

‘eDMOBUNO oyensl’ ag)am
wnoemle@  oolwlmoallen
BalOOPI®H:

1) @ alled allegioiel
11) esogal
111) ag)dles allgjomy’

1v) soavlgmy’

Turn Over



4. Arrange the following in

chronological order. 4x1=4)

e A Republic under Sun Yat—

Sen in China
e Potsdam Proclamation
e End of Shogun rule in Japan

e First Opium War

5. Mark the following places on the
outline map of the World
provided. 4x1=4)

a) Mediterranean sea
b) Rhine river
¢) Sahara desert

d) Constantinople

Answer all questions from 6 to 9.

Each carries two scores. 4x%x2=298)

6. Identify the two impacts of
crusades on Christian—Muslim

relations.

7. Point out the features of the
military system of Genghis

Khan.

K-1
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4.  230s OMIBSAUOW EOLINEMMI

(B DD TIRIOBE)) . 4x1=4)

® 6621M@ qVeMd WO erVMlend

EMN®YOIOIE Claepflas
® CalOSMIWdo (aleydalMo

() %gjomm% GaHOMNM BOMMBIO M

@0CVOMo

® &0 &0Jal} WiAELo

5.  @mlalesyam BEIOH A6

©JalGoal@@ 213Ql6S alOWIMAl

BO6UOQSYOTHYD. 4x1=4)

a) enallgeomm qmyEo
b) ee0® mdl
€) and0 amye)al

d) ewoerdguo@lemoalicd

6 )@@ 9 UOAW8s af)Llo B2lIB)EIRS 0

9EMEORY)® . 2 IS0 allmo. (4 x 2 = 8)

6. (Wlmoym-oyqdlo srumwenBEldd @x@luo
@EL 6B (D 62121 E0 1@ 6ne’

MOUSINETBUD BENSETD)H:.

7. eoimlay e106 M 06 M
moflwomEmend qAlEUaH®E: WD

2 6NE 866 B bb.



8. Prepare a short note on

Luddism.

9. Elucidate what is Gold Rush in
the USA.

Answer any two questions from
10 to 12. Each carries three

scores.

10. Explain the factors that led to
the beginning of Industrial

Revolution in Britain.

11. How did Rousseau and
Wordsworth view the
Americans in the eighteenth

century?

12. What are the three principles of

Sun Yat-sen?

Answer any five questions from

13 to 18. Each carries four scores.

(5 x 4 = 20)

13. Write the differences between

Australopithecus and Homo.

K-1

(2 % 3=86)
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eRle®m® B0le] 6oy eleel diGla]

®QOOIHE} .
@OEAOIHNM  Oaf)dINOSIaleel
mjdememla”  caunslwies &’m
(alQU0a00 ag) MmOeEM AT’
QUBOROLEE>.

10 oyo@ 12 cueowigs G2106)eBslmd

agem®leljo 2 ag)eROTIM 9OMOOAPI® LS.

3 Mes00 allmo.

10.

11.

12.

(2 % 3=86)

ayoaimole: aflglalo (enflgmied
@ o ElEe M@ M’ HOMEMAOW

ApISHEMBRD V0BOOBE)H:.

al®@lemsgoo MyQoeNEI@d 0JeOW 0
s M UdE® 0 @O BD M1 H6) M

LOMOW BMIBENHHMNBODETBEMN ?

qvem @I® eAVMIENG MM O@IETBRD

QRO®LJ00?

13 ojo@ 18 cuenwigs 6a106)eBslmd

agem®leljo 5 ag)eROTIM OMOOALI®H:.

4 Me®9d aflmo.

(5 x 4 = 20)

13. @pMseenlermenmIe BanIEmOW) o

OoEN8s QA@IOM0 ag)PIBH:.

Turn Over



14. Prepare a short note on the tools

used by early humans.

15. How did the geography of
Mesopotamia influence the life

of the people? Explain.

16. Analyze the legacy of
Mesopotamia to the World.

17. Evaluate the importance of
Genghis Khan in the history of
the world.

18. Explain the factors that affected
the social and economic relations

of the medieval feudal society.

Answer any two questions from

19 to 21. Each carries five scores.

2 x 5 = 10)

19. Evaluate the changes
introduced by Diocletian and

Constantine in Rome.

20. Analyze the impact of humanism

on science.

K-1
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14. eocla omianyd oalewowlaloym
DalHOMEBOsHN 0l B80) eleal)

B0la] ®QO0OBO .

15. enemoeqgosgalowwes ealomi@o
LMEBRIOS glaflme om

mjoulmlejomemam? AlltormOEe)d:.

16. ceonsomm ©0eMIeq 0500w
M@HIQ  MoIAUMBW ltddelmo

6.21Q))b>.

17. ceio® 2d@OTI@ eoislmy’ eloed

ldowomyo  lleifly@rmes.

18. awysoel agw@  maOOWIeE
Momabld MOIMIETIE IMLEBOS

mjowllale aLIS@:6868 QANUdBMOBE)H:.

19 ojo® 21 cueowigs 82106)emBSI@
agem®leljo 2 ag)eROTIM SOMOOAPI® LS.

5 Mieso0 allmo.

19. wewoglauy@; @M Ey@IM
agymlald  eooal@ msaflelosslw

00QemEes  Alleifloy@rmid,.

20. woME@EWI@ 20male® 6ol

mjoullmo AlltadRIMNo 6).21Q)E.

2 x 5 = 10)



21. Explain the changes brought
about by the Industrial
Revolution in the field of cotton

textile production.

Answer any two questions
from 22 to 24. Each carries eight

scores.

22. Explain the legacy of Islam to
learning and culture.

Areas to be considered :

e Sufism

e Philosophy
e Geography
e Literature

23. What was the structure of the
feudal society? Explain its

features.

24. Analyze the features of the
ancient civilizations
encountered by the Europeansin

Central and South America.

(2 x 8 = 16)

FY 34

21. aoE®iem] ©®aldBMm AN
Qyaumoils aflgjalo @o6msaIm

@0Q6mEMd ANUoBMIB6H:.

22 o)jo® 24 cueow)gs 62106)eBslmd
agem®leljo 2 ag)enATIN HOMOOAPI® LS.

8 mizs0d allmo.

22. allgemomemlmio MoM®:00@BMio
MO0 M@HI®  MoBIUME: R
QlvoBOOH6H:.

al@lnemIeHe s GO6IRIG:W :
e aadlvo

o omallom

@)alloM|@®o

moadl@yo

23. ayaw@  moeoomle@  ceism
ag) o1 mymy ? @016

nleuoad®BD  AlvoEle@lee)ss.

24. cedlem  @ocadleoleljo oW

@oea o] WIeljo WIGOalymod
@ Ela)efle olal (at02flm
MoV E:I06B8LOS MVAGUaU® B (D

Qlvodheito 6)21Q)ds.

K-1

(2 x 8 = 16)
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Part - 111
ECONOMICS

Maximum : 80 Scores
Time : 2% Hours

Cool off time : 15 Minutes

/ General Instructions to Candidates : \

alleyodmdls:@66)88 6al1om) MdEqraB®:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

mldgladis o@@mlm ajoen 15 almlg ‘@i &dal 66so’ eenso@fl@leno.

‘@b Boal ©6S0’ G2I0EYIBW al@lalWea|SOMio HETHOEBWD @DAVY®6EMO
£21Q0MP0 HalBIUIHEH:.

MIRGGULEIBI MILIAMI ¢BERLIABQ o AUOWIBHEMO.
HOMOEIBUWD g)PAEYM@IN MM B2IdBYETBWH (BERLIABQe CUIWIBeEMo.

MNP  8HISINBWD, 2l@EMBMR, (N0, ag)milal OOMOGla]GIEd ®Oam
eensoQfl@lesemo.

B2I0BYEIBW AIWIgETIRle M@B:lRIgNS.
@OOUCYMER MVOLIGE MVACUOBYETBWRD 61B0SIHEMo.

G (IO(NODIHHUW 6).21QOMIBIBD HOIMHNICRIQNIH WD BF1OHHW IS 60}
EDRIBB(SOEMIE HaldhOemo al@ldHInndEM HalEOUlHeIIOM aldslg). j

K-55
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Answer all questions from 1 to 10. 1 ojoad 10 cueow)es ag)e)d 8aloryeBalo

Each carry one score. (10 x 1 =10) | pomeeas)ms. 1 mesod alwo.

Economic growth without
creating employment
opportunities.

a) Under employment

b) Jobless growth

¢) Disguised unemployment
d) None of these

Great Leap Forward (GLF)

campaign initiated in China

mainly aimed to .......

a) capitalization of the country

b) industrialization of the
country

¢) the development of service
sector

d) the development of human
capital

Karve Committee give

suggestions to promote the

working of the following. Find it.

a) Heavy Industries

b) Rural Infrastructure
Development

¢) The Public Sector Industries

d) Small Scale Industries

State any two sampling errors.

Give examples for quantitative

and qualitative classification.

K-55

(10 x 1 =10)
1. emovlaumeEamm®@® ayatslente®
QB8 MOMIEDIlE USDd.
a) @aljdEnEO® e®oYlelamo
b) emovlelgoom gy
) lalgMmo® emovlelgjowin

d) snaue@omyog

2. 2000mO® &olalaloge (GLF)
Q)M (alol®6Mo @REoElal@IReS
£621M ([ IWOMMIW)o Eld:Hjo HCLL®...
a) 008yelen) 0)®me8lEDaIM-
HOHO6MO

b) eomyomle@d MO AIEd-
HOHO6MO

€) GMAIM GoaILIWeS Alld:rvumo

d) ampeyy oyeiwmesleod allemmo

3. ®odeas smalwes mIReEEmBG
®06)¥a]OWIM Q1@ ag@leom
8(l0moadlalenomo@flom; ........
a) meIwm QlIMOWETBH
b) (woalem @S] VOO M VDB DY

alleavmo
C) ©alOmIBGAEIRID QYQIMOWENBHD

d) e210i8ls QLMW

4. ogeomleye  oeng  amomilglm
allPQNBHRD af)Limids.

5.  aldlmoemOTDH20W ®oEdleealmio
WNIEMalOMOW ®oo®l@lenelmio

©BOaDVEMO Ag)PIMbs.



10.

The consumer price index (Base
year 2011 = 100) was 125 in
January 2018. One rupee coin
worth in January 2018 in terms
of the base year is ...........

a) 80 paise

b) Rs.1.25

¢) 60 paise

d) Rs.2

Selling off part of the equity of
Public Sector undertakings to
the public is known as ..............

a) capital accumulation

b) investment

¢) disinvestment

d) none of these

Calculate the range of 20, 25, 28,
32, 36, 40, 50, 55, 72, 75.

The basic economic activities
include .........

a) distribution

b) production

¢) consumption

d) all of these

Find out the relative measure of
dispersion.

a) Coefficient of correlation

b) Standard deviation

¢) Coefficient of mean deviation

d) Range

K-55

10.
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2018 smaudllesa ©aleEIH ™,
afleiaqviofle 125 @Y M
(@rslcunomaidario 2011 = 100).
@oSIOOM AUt U] BEMENIHE)
eruotd 2018 gmyaidleflenl 6oy 0ald

MOMWEBIOHM Melio ...
a) 80 eealm

b) 1 1 25 e6aim
¢) 60 e6aim

d) 2 o

alO@EAMEIRID  MNJAIMEBRLOS
B00001HWD OaIO®MRMEBDBHE QNG
BYlOENM@IOM ................ ag)omy

allgleenyam;.

a) ORIM qValemo
b) alesstalo
¢) ®oalmlestalo

d) snaueomag)

aldlwl (range) HemeEeeis. 20,

25, 28, 32, 36, 40, 50, 55, 72, T5.

@oSlauAom MOMUED]E  (alUATHM
emglcd DO SHMEDD) ......

a) all®oemo

b) eeiaioamo

C) ©aleBINo

d) snauewg)oo

@0 Gl Lmoea%qqgm @ogl
QRODTY OISO,

a) QLAOENIMW NIEMOW>0

b) mome almlomo

C) mOWy QEIOM ¢EMIE:0

d) acdw

Turn Over
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Answer all questions from 11 oyo@d 15 cleow)8s ag)elo 82loryeBglo

11 to 15. Each carries two scores. DIMOOAP®H:. 2 MIsL:00 allmo. (5 x 2 = 10)

(5 x2=10)

11. Calculate the rank correlation 11. 0085 MAOENITMWO EEMBNOLEE:.

between A and B. A B
A B 1 5
1 5 3 2
3 2 5 4
5 4 2 3
2 3 4 1
4 1

12. Point out any four important 12. emovleNo® eoawyaI@esoem
productive activities for the ABINYIBTHOIM a@o®®sleno moel
diversification of workforce. oelal06m (U O MEB R

21)6nElE606MIB6) .

13. The average marks of class 13. oo A ®ies ®wEond addes
A (XA = 30) is better than (XA - 30) &om B wesolem
class B (XB = 25). But teacher _
says that class B is more HO0R (XB = 25) OD.2OS®IEM.
consistant and give the standard oM A @ios@yo B wgoswyo aomas
deviation of A and B as 15 and ayaleomo A=15g0 B=10go ag)my
10 respectively. ®OMOB:06ME @om)’ B wwoenm’ esiead
Calculate the coefficient of molo®  Hoemlenymemm’ Slojd
variation of class A and class B (admi@oalleegomy.
to prove it. SO A weswie B @eswio tmgemoss

QUYBIOIMo SENBOTIOBHIENE EDFIHM
MUOUIIB>B1 6.

14. Briefly explain the importance 14. cvomuomls WOV O @

of statistics in economics. quolalalale wom@amlmies
(1oWomyo 26 QUGB .

15. The workers in informal sector 15. &0al0100le GnaIAIOW @oealeHl e
have so many limitations @MVl olo] & coalel@leel
compared to the formal sector. 0®o¥1 01088 BB Wongo

Point out any four of them.

K-55

1010 @8)6nE. ape®mBslelo Moel

al@lal@ 0D 2 13eNElB606MH6)d.



Answer any six questions from

16 to 22. Each carries three

FY 35
16 o)o@ 22 cueowigs 62106)eBslmd

agem®leljo 6 ag)eROTIM SEMOORPI®H:.

scores. (6 X 3=18) | 3 Wemd almo. (6 x 3 =18)
16. Complete the table. 16. aig® aAOBE0le)b.
Mode of Data Collection Advantages Disadvantages
GO GUIELMEM BlMHRD BMZEIBUD @036

Personal Interview

QYBBIN® BREIM6I0

Cannot be used by the illiterates
M OBHUOOIQWUABLE]SHE) HalEIUIHHIMD

MOWYE

Relatively high
response rate
@G ldHH000] HWBMM

(al@e06em Mloos)

17. Catagorize the following

features of the economics of

India, China, Pakistan under

three heads.

a) One child norm

b) High fertility rate

¢) Economic reforms in 1991

d) High density of population

e) Highest Human Development
Index

f) High Infant Mortality Rate

18. The stagnation of Indian

agriculture during British
period was mainly caused by the
policies of colonial government.

Briefly explain that policies.

K-55

17. soavy, ©621M, alo@elquad® ag)o)
MIE QUIMNGEOS MAEUaHU®
HBD DM OEIOBHGB8leow]
QU B0l
a) egegl mleno
b) ewdmm (myeiaiosm mloss
c) 1991-eea MO o @0 B>
al@laHd06mo
d) odm LmmOM®mO Mloss)
e) owdm momal allemm avyalle
(HDI)

f) swdm wWuyarem allass)

18. (nfiglad’ HoelcisEmIeRl HODaHId
GOAIAIWIOS M ®oRMOINUMANSBHIBES
@owlmlealvo

(adOM ,HO0emo

MWAHeRIOM  MWEBREN. @D

MEBW 210306 QllaIdleds.

Turn Over



19. Calculate weighted aggregative
price index.

19.

FY 35

oy @yee mele aflel myoalle
BEMNBEIHE b,

Commodities Base Period Current Period Current Period
Price P, Price P, Quantity @,
QU@®YEO D @eslaunom afler P @amoeng aller P, @moenE’ @ogal @,
A 5 10 4
B 8 6 5
C 4 8 10
D 10 15 2
20. a) Name the foreign trade 20. a) 1950-1990 w:oereisED@ sy
policy adopted by India fle@le) AlleBUIE00y MW @ETTlend
during 1950-1990. (1) ODTO6T. (1)
b) Identify the policy b) eveym QYUMo EBOS
instruments to protect the moedleeM@lmol o lle:dlg
domestic industries. (2) mw QO_JoGa('ObTT)SUYBU% Q@@@%omoem"_ (2)

21. As an economic student, teacher 21. (alg)m emo¥lelgoRnewencla] aoy
asks you to make a project of BalO®BS  MYO0IHHOM B0
disguised unemployment. Write MOMIAT 00N (@ Alayod@ilow
the steps to making that project. aflemBeaos Slojd @oaItYeQ]SaM].

@ 6)(I0RMDHS MYIOILONIMEI MBS
ARISEIBRD ) PIMIHs.

22. Write the essential parts of a 22. ey mg udlolalaie algle:enealens

good statistical table. (IWOM BOMEBRB aReO®E0en
Qg) PO

Answer any four questions from 23 )o@ 27 cueow)gs @2103yBRElM®

23 to 27. Each carries four scores. age®®mlelo 4 af)eROTIM SOMOODLI®)S:.

(4 X 4=16) | 4 memod allmo. (4 x4 =16)

23. Analyze the relationship 23. omiayy @RILMAI0  MVOMIETH &
between human capital and AUsda®io ®omlenss MR
economic growth. QlvedeiMo 6.21Q)b:.

24. Prepare a frequency 24. ©26% 6&ISIOTTLOM COEMDEE)
diStI‘ibutlon from the fOllOWlng OJ@(Q)OU)']%" 63(0& «;@mém’] allemoemo
data (Exclusive Method). ®QYo0oEOIe (agemigumial dl)

28 36 15 8 46 39 18 24 34 9

15 19 26 34 42 29 43 27 10 55

13 52 35 41 26 36 20 39 58 6

66 18 25 43 32 21 40 33 50 7

53 35 41 68 22 39 42 10 36 11
K-55 6



25. Explain the areas to be
addressed for rural

development.

26. Identify the challanges faced by

the power sector in India.

27. Draw a pie diagram for the
following data :

Rural Workers (In Lakhs)
Regular salaried 28
Self-employed 216

Casual wage labours 156

Answer any two questions from

28 to 30. Each carries five scores.

2 x 5 = 10)

28. Point out the properties and five
degrees of correlation

coefficient.

29. Calculate the quartile deviation

for the following data :

Class Frequency
0-10 8
10-20 12
20-30 15
30-40 10
40-50 5

30. Critically evaluate the impact of
New Economic policy in
Agriculture and Industrial

Sector.

K-55
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25. (o alle:mmo qLOWROEHIM UBHERL

M@BEHENS BREULID:WD ANWOBMOBE)]s.

26. somyeienl 9vdmz emelel @MESM

6©UERANElHWD a@O®RJOODOMLIBD:.

27. ®06960#90S|O BOMO IO )
660l WMo AUOWHE)H:.

wodlem eoeleIRlerl H@OFIRINEl:W@ (LISHUOHIE)

qudlo QIEMOMENID 28

Mo OMIYIT HEOENBEBIQ D 216

®0@#60es Beloamodlenglsd 156

28 nyjom 30 cueow)gs G2106)eBRElm
agem®leljo 2 ag)eROTIM SOMOOAPI® LS.
5 miesod allmo. (2 x5=10)

28. maoeniqw NIEMO B0}
mAaflerat®md:glo @RI EMOMBSI0

2 16NEl 866N B bb.

29. ©269e000si0m cEmEBE@ mlmmio

21EALNB AUYBIIMO BEMBEILEBs.

oMY @R LY @YD)
0-10 8
10-20 12
20-30 15
30-40 10
40-50 5

30. ®00adle> coeueIlae QOAIMOWRE:
coelei@leo alj@mM qVOMU O
IWIOOII] BOMOW}6EMBOQ)
BOMODOANLIEBH ANladUoMOCDE:n0Q]

afleioy@mid:.

Turn Over



Answer any two questions from 31
to 33. Each carries eight scores.
(2 x 8 =16)

31.

32.

33.

"The three diamensional
approach of government to
reduce poverty helps the Indian
citizen to achieve a higher living
standard".

the three

dimensional approach to

a) Explain

reduce poverty.
b) Critically evaluate them.

Prove that Arithmetic
Mean > Median > Mode

(5)
(3)

Marks No. of Students

0-10 4
10-20 8
20-30 10
30—40 15
40-50 9
50-60 7
60-70 5
70-80 2

Scores — Mean 2%; Median —2%;
Mode — 1; Prove — 1

'The developmental activities in

India have exerted high pressure

on environment'.

a) Write the functions of
environment.

b) Analyze
development

the
activities

how

becomes a burden to the
above mentioned functions.
¢) Point out any four priority
enviornmental issues

identified in India.

(4)

(2)

(2)

FY 35
31 oo@ 33 Aueow)8s G2106)eBRElmd

agem®leljo 2 ag)enATIN HOMOOAPI®H:.

8 mizs0d allmo.
31.

32.

33.

“evamylen MBS SWBMM

glaum  mlaone emsgmalay
walemeaddlon coal(EmIdamodoem
EMIMI88 OJMI®El  qualal e
MandWlaj.”
a) B8oAIBY &HIOWENHMBIM8s
DM@ el qalalmemswd
lvoE) @1 e6)8
b) aladwmocasnoe] @ qudlaim

368 Qlleifoyormes.

madamo  adWyo > aWdEMmo >

eNla0RId0 @O uNda o).

(2 x 8 = 16)

(5)

(3)

MICHHOD

alleydmdleaes agemo

0-10 4
10-20 8
20-30 10
30—40 15
40-50 9
50-60 7
60-70 5
70-80 2

MIBHOD-mOWyo 2%, MOWOs»o-27%,
enla0)eldmo-1, qmundalleaymaim-1

“eomylenr Afle:aqm  (aldEmm
aBW@  alclmual®leniead WA
mmdGo eale®s”

a) admudlaleies wdmemsesal?

b) allemm (e IIdEHMEBD BBl

ECRENO) alelmnlolyes
WA on 63 DL BOODOQ®
Qg)EmBOMOQ MY’ s elmMo

6.21Q)ds.
c) snany@fleel a@galio oIMDwemm
M@EHHNS  al@ludlal (alwdmemsg]
@ moeeleMo 2 eNElHHI6N B,

K-55

(4)

(2)

(2)
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Part - I11
POLITICAL SCIENCE

Maximum : 80 Scores
Time : 2% Hours

Cool off time : 15 Minutes

K General Instructions to Candidates : \

alleyodmdle:@66)188 6al1om) MdequaB®d:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

rldgladis o@Emm ajoen 15 almlg ‘@i &dal 66so’ eenso@fl@leano.

‘@b Boal ©6S0’ G2I0EYIBW al@lalWea|SOMio HETHOBWD @EDIVY®6EMO
£21Q0MP0 HalBIUIHEH:.

MIRGGULEIBI MILIIMI YBERLIABQ o AUOWIBHEMO.
HOEMOEIBUWD ) PAEYM@IMN MM B2ldBYETBWHD (BERLIABQe CUIWIBeEMo.

BH6MBE)  8HISINBRD, 2l@EMBMR, (N0, ag)milal OOMOGla]GIEd ®eam
eens0Qf@lesemo.

B2I0BYEIBW DAIWIgETIRle M@H:lRIgNS.
@OOUCYMER AVOLIGD MVACUIBYETBRD 61B0SIHEMo.

G (IO(NODIHHUWD 6).21QOMIBIMD HOIMHNICLIQNIH WD BF]1OHHW IS 60}
EDRIBB(SOEMID HaldhOemlo al@ldHInndE® HalEOUlHeIIOM aldslg). /

K-31
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Answer all questions from 1 to 14.

(Total 32 scores)

Author of the book 'The

Republic'.

Fundamental duties were added
to the Indian Constitution by the
............ Amendment.

a) 44%h

b) 84t

c) 61

d) 427

The German philosopher who
believed that only conflict could
facilitate the growth of
civilization.

a) Karl Marx

b) Frederich Nietzsche

c) J.S. Mill

............. is related to the local
self-governing bodies in India.
a) Sarkaria Commission

b) Motilal Nehru Committee

¢) P. K. Thungon Committee

K-31

(1)

(1)

(1)

(1)
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1 o)o@ 14 cueow)88 af)elo8aloB)aBslo

OTMROALI®)B. (CDOD 32 MEH0d)

‘Olagepilee” )@ WY6S

021,

Qg)am

.................. eeeM@lRleaswosm arvells
BHSABWD DM BOEMALISM WIGRIHE)
B5le 28O0 |S®).

a) 44%h

b) 84t

c) 61

d) 427

MoRIBU@DIERES MI(@ED MINDB®
al@l@aloadla |606a|SiH@Ias) ag)om’
@El (oWl RAMD  ©Ow)
2flmesad.

a) HORD MORBMY

b) (eoandles aflean

c) oz.agM. ol

maylee  ®E3W  MWoBM6M
O2aIMETBEIN0QS] eNIMWEeR]S®O6N
a) MAeOHITIQ &oxlaud

b) emoglein@ emany song

c) allod ®eewomd &ongl

(1)

(1)

(1)

(1)



5. Arrange the following

statements in the respective

columns given below :

e Members are directly
elected.

e Permanent House of
Parliament.

e Can be dissolved by the
President.

e Money Dbills are not

originated here.

(4)

FY 36

BOOYOHHISYOTIBILHIM (Al AVBOUM

SR 9ollemmo®  EHORMEE]d

B @16).0] 91D

o @oWEBWD emals
ODOOETIHSIHNOQISITN].

e aldeioadleel qudlooveosn.

o MOaH(Sal®les alldlajallsom

Lok Sabha Rajya Sabha

6. Mention any four methods by
which Indian citizenship can be
acquired.

7. Write

any two forms of

structural violence.

8. Mention any two advantages of

studying political theory.

9. Define 'Harm Principle'.
Identify the philosopher who is

associated with this.

K-31

(2)

(2)

(2)

(2)

HFlQ)o.
o wmenllg)dd mafles
omealenymig). (4)
BRIOHMVE ORYME
................... @ iiiiiiiiiiieinanes
................... @ iiiiiiiiiiieinanes
HaMIM  alDo®mlo  @RRBEHOHIM

M8 age®®sleljo moel mANEBWD
100U H68. (2)
20ISMOalOMOW a0loM@ s

ROMBIE0 NS JIETBD ag) RO (2)

M2 (Sl@ aUlBWOMMO alCleemM@len
a@eO®mB1ello NS 1I)MaNelEnB

aviaflaleeid. (2)

‘an0ml@m®lo’ ag)e Oy AIlDQY2186))d.
DY EROWEAMOS  MIMWeQ]S

2l BDOOT) BH66NSOTT)D:. (2)

Turn Over
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10. Match the following. (4) | 10. eoli0)pals] 62IdH®:.
A B
a) | Power of Judicial Review 1) Ireland
BHHISBIWIOS al)NOCUGLIOBM @BOUSIB:000 @bl
b) | Law-making procedure 1) Canada
Nlamldomdem (al(@lw O
c¢) | Directive principles of state policy ii) | UK
MRBGRUH> @®)EIBUD Q)60
d) | Quasi-federal form of government iv) | USA
@AW ©anWO@ cEEMG|®I @}.ef)0V.ag)

11. Point out any three criticisms 11. soomyad BOEMARISMOBH @0
which are levelled against the oM BeeaSITHNM ago®eslelo
Indian Constitution. 3) @yam Afadwmens

2 16NEl 66N B b,

12. Write a brief sketch on the 12. dAolwes alalw ooleEBeseedlaf
various principles of justice. (3) 80} 6.210J0la106Mo M@DB:E:.

13. Suggest three different methods 13. moaoio aldlealoadlgflenymolmes
by which equality can be 20N QUI®IV® V(B EBRD
promoted. (3) lREGUY LB

14. Briefly explain any three factors 14. cerlwowies  oafllocemomim’

contributing to the emergence of

nationalism. (3)

K-31

BOEMAOBYM aRO®EBILlo BT

2RISHEMBUD 2130386 ANlQICB6w:.

(4)

(3)

(3)

(3)

(3)



Answer any four questions from

15 to 19. Each carries four scores.

15.

16.

17.

18.

19.

(4 x4=16)

Critically evaluate the
discretionary powers of the
President of India in the era of

coalition.

Modern development facing

some serious challenges.
Analyze the role of alternative
concepts of development in

resolving their challenges.

The Supreme Court has specific
jurisdictions defined by the

Indian Constitution. Explain.

Examine the relationship

between rights and

responsibilities.

State how the F.P.T.P. system
differs from the Proportional

Representation.
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15 ojo@ 19 cueowigs ca10B)eBelmd

agem®leljo 4 ag)eROTIM SOMOOALI®)H:.

4 Me9d aflmo.

15.

16.

17.

18.

19.

530 ] cReM®®I6
#0e1eRISETIE naTYM  (aJmilawaglen
Afleaimowle:o06mwd  aflladuomooy

0300 Qfleifloy@rme:.

@OWIMIe Alle:qumo aflel v
A00® OAULRONElED  BMAEISB@O6N.
momoo  ealgpallgle:id  @oemo
O2IYIM@IMIBE eUBE leaum

DOMYBHWD QNOHRIMNO 6).01Q)d.

myaflocs0s@milesy enamymd soemaaism
o' @ a1 63 QY ®DOQ

@oUSlB00a T USlB816nE. ANUOBMOBEH:.

@OCUBONETBSI0 HODOIE|®I6IBS0

®oleNgs enImo al@lEuodUSlB6)d:.

ag)ad.all.glall. mEUBIo ag)aldono
@Y M IalO @1 (ato@lanTwy
ayaule  mlmio QU@L

£aSlAHOIMIOAUM QUYBHOROHN)D>.

Turn Over

(4 x4=16)



Answer any four questions from

20 to 25. Each carries five scores.

20.

21.

22.

(4 x 5 = 20)

Narrate the functions of the
Election Commission in
conducting free and fair

elections in India.

'The Indian secularism 1s
fundamentally different from the
western model'. Evaluate the

relevance of this statement.

"The 42" Amendment was a
rewriting of many parts of the
original Constitution".

In the light of the above
mentioned statement analyze
the three different methods by
which the Indian Constitution

can be amended.
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20 )o@ 25 cueow)gs 62106)eBslmd

agem®leljo 4 ag)eROTIM SOMOOALI®)H:.

5 Mieso0 allmo.

20.

21.

22.

60 oy 1@ @ (Mo
ladialBHOBOQ  H@OOETNSIA B
M S @M @@ OO®OeMSial

&0DlaHOR 2 RO®LIGWD ANOIClE6)0:.

HAMIMD  AEO®ODIo  aldUD2I0Mm)
2e@®O@OBI@ mlan avelende
Q@O MO ] S1E16610M]. 600
(I BOUM WS (d VB> @

Alvodheito 6)21Q)ds.

‘42-00 @OEMAAISMO BBRUEI AT
BOMALISMQOS MILIOIBBIG G560
@ OIEMESHD NSO QL6 .
0 (MVDOAUMWIOS OS] 2|5 @D
CBBUN®I

60 My BOEMARISM

aolgumMm@lmes  oym ailelom

MSalS|(@a60800 ltoBaIMo 6).01Q) k.

(4 x 5 = 20)



23.

24.

25.

K-31

Examine the various demands
for autonomy existing within the

Indian Federal System.
Hints:

e Legitimate division of

powers
e Administrative autonomy
e Financial autonomy

e Demands for autonomy
relating to cultural and

linguistic issues.

Briefly explain the methods by
which the Parliament controls

the executive.

'Constitution prescribes
limitations upon the powers of
Government'.

Based on this statement, explain

the chief functions of a

Constitution.

23.

24.

25.

FY 36

MMM ©a0WO® aycmual @] s
maml@ENHM V] oBOMEBHIMO
ige allelm @RAIB:O0AI0G6BMW

al@1GUOOWIB6)ds.
M2 1MW :

o M®IWIH®NOW @OUWIHO0

allezmo
® BOMaAlOdOQ) (V|WoBMmeMo
o WMNaladW qVQoEMmeMmo

o MVOOMEIBIHOI}0 BOaHIAlOO)

Q0 (V|WoEmeMmo

HOYMIDQ aO6m afleomeom
ol (m]engmM @1 m’ alodeiong
@MY @] H6 M 0P EmBAD
21088 AlUElH6)8.

‘@oemeoaism walemeaaglen
@10 W1 660 0 608 (D H6)’ al@lW]

MU, 607 ([ IMIBOUMWQOS
@OSIAIMEWI@  BOEMELISM@IANS

(o 1om WAMMETBRD ANKdEMIHEH:.

Turn Over
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Answer any two questions from 26 )o@ 28 cAueow)gs @ol0ByBRElM®

26 to 28. Each carries six scores. agem®leljo 2 ag)eROTIM 9OMOOAPI® LS.

(2 x6=12) | § reeod alloo. (2x6=12)
26. 'The 73" and 74" Constitutional 26. ‘omywlen  ®EBEAQWoBOEM
Amendments aimed at aULO0AIMETBOE V0B ETlEeBOM
strengthening local self- Bl BOEMOSIdSIoem 73,74
governing institutions in India'. @O6EMORISMO CBBUNM &R

217.

28.

K-31

Critically evaluate the changes
brought about by the 73
Amendment in Panchayathi Raj

Institutions.

'Fundamental Rights are very
essential for the free exercise of
human faculties'.

In the light of this statement,
analyze the significance of
Fundamental Rights guaranteed

under the Indian Constitution.

What do you understand by the
term 'secularism'?

Briefly explain the various
criticisms raised against Indian
Secularism.

Hints:

e Anti-religious

e Vote bank politics

e Western import

M1dQadlB0O3®)." aleUOQWEB 0%
mNdalmemglad 73-00 BOEMALISMO

CRBUN®] O)DHIMB UM MOQIBOS

AUadumMIGRBHMIQS @oal(OLlE6)E:.

27. ‘aomaiewadl@ins VIO (MW
AUlsBmmEmla afgQllo @O®IAHO
Gl lmae(® aVelld00Id:0006B0w .
D (AVDOUMWOS OS] 2|5 @D
20243
AUoyE®IWIBleemM mefl®HolE000

0 MM BOEMOLISM

BEIOS  Moommyo  Allvodeimo

6.21Q))bs.

28. ‘0OMECUHH®  ag)M®OHO6MNE
mlemBRd  ag)omoaT) @AMODILHMN®)?
My D@ MGl HA® Q' H6)
) ®1000] oM Wleneq]slelenimm
1Wom QAfla@UomEsBUd 2 1jIHO @B Ed
Alu@lee .

)2 1MW :

o omalloyEwo

e GOUOSANINE AdaH(SIWo

e aldUBald®y EDOBNAGI
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Part - II1
GEOGRAPHY
Maximum : 60 Scores

(Outline Map of India attached)
Time : 2 Hours

Cool off time : 15 Minutes

/ General Instructions to Candidates : \

afleyodmile:@06)88 ealom) MACGUEB®D:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

rldgladis oM ajoen 15 almlg ‘@i &dal 66so’ eenso@fl@leanoe.

‘@b Boal ©6S0’ G2IdEYIBW al@lalWea|SOMio HETHOIBWD @EDIVY®6EMO
£21Q0MP0 HalBIUHEH:.

MIRGGULETBU MILIIMI0 YBERLIABQ o AUOWIBHEMO.
HOMOEIBUWD ) PAEYM@IMN MM B2IdBYETBWHD (BERLIABQe CUIWIBeEMo.

B6MBE)  8HISINWD, 2l@EMBMR, (N0, ag)milal OOMOGla]GlEd ®eam
©ens0Qf@lesemo.

B2I0BYEIBM DAIWIgETIRle M@E:lRIgeNS.
@OOUCYMER MVOLIGYD MVACUIBYETBWRD 61B0SIEEMo.

G(IO(NODIHHUWD 6).21QOMIBIBD HOIMHNICLIQNIH WD BF1OHHW IS 60)
EDRIBB(SOEMIE HaldhOemOlo al@ldHInndg® HalEOUleeIIOM aldslg). j
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Answer all questions from

Each carry one score.

1to 7.
(7Tx1=17)

Which one of the following

statements is TRUE?

a) Focus of an earthquake will
always be at the surface of
the earth.

b) Epicentre of an earthquake
will always be at the surface

of the earth.

The narrow belt along the

Shiwalik foot hills where

streams disappear.

The actual amount of humidity
present in the atmosphere is

known as .............

The total area of India is ..........
a) 6.28 million sq.km
b) 2.48 million sq.km
¢) 3.28 million sq.km

d) 4.48 million sq.km

K-28
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1 )o@ 7 UOOW8S ag)L]o 8210B)6TBWDHN)0

OMOORY) . 1 MEH»od allmo. (7 x 1 =17)

1.

21Q16S MAIBIWISI8s (IaV®OIM

@ ilewa ?

a) GleMIOmIef (@B ((Bo
0g)@a]0¥io @VEAdaIRl®melEmleld
Qfl@leyo.

b) eye--miEmIOR @O WG (B30
0g)@a]o%io @VEAdaIRl®melEmleld
Qfl@leyo.

@0 @ > D @0 (ol @)y U M O > (M

adl0elldy MBS BOSIALOOEOTD

0S8l Goeel.

@0 0 @ 1 OT0)1 @D H06MO QS

@O OIS QWId®  @ogal

.................. ag)(m @ECIWeR|SIM}.

DIMWIES HR0Eme AllavEdemo:

a) 6.28 BWAlHHO 21®0 03
16100l

b) 2.48 BUWAlHHO 21®003
#1600l

c) 3.28 BWAlHHO 21®0 03
1610010

d) 4.48 BWAlHHo 21®0 03
161001



5. Conduction is the process of heat

transfer in ...........
a) the outer space.

b) the lower layer of the

atmosphere.

¢) the upper layer of the

atmosphere.

d) the interior of the earth.

6. Foliation 1i1s a character

exhibited by .......... rock.

7. Groups of individual organisms
having similarities in their
physical characteristics are

known as .............

Answer any six questions from

8 to 15. Each carries two scores.
(6 x2=12)

8. Write any two factors affecting

ocean salinity.

K-28
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5. Mom@mMo ag)M ®al Qlydalm

(ol MNSHM@).

a) enladlOOBETIE.

b) @ommdleuomlond ®o¥m
®E160BE]E.
c) @ME]EHOIOR oA m

®El16B&]E.

d) eplewes 9s80d.

6. canogle@arm ag)aN MANEWAU®

............... UBlelegl@ B:06Mmea|SHmy.

7.  6)e MANewa®®El@ Maom®
H8B 60600 Hal AUdROTlORWI

BSEMBRD AGIWORSIOM O lOONT)?

8 nyjo@ 15 cueow)gs 62106)eBslwd
agem®leljo 6 ag)eROTIM 9OMOORPI®H.

2 mies0d allmo. (6 x2=12)

8. e aelusmmiee® mowlmleanim

a@e®mBlello 0 CRISHEBRD

Q)P 1D B>.

Turn Over



10.

11.

12.

13.

14.

15.

Recognize and write the process
through which rocks undergo

transformation.

Metamorphic |I> Magma

rocks

Sediments |I> Sedimentary

rocks

Igneous rocks |I> Sediments
Sedimentary |I> Metamorphic

rocks rocks

When does natural hazard

become a natural disaster?

List the four major divisions of

ocean floors.

Classify the discipline
Geography based on regional

approach.

What are Karewas? Which is the
agent of denudation responsible

for its formation?

Identify and write the factors
which influence the process of

condensation.

How does food chain differ from

food web?

K-28
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WD DHE 0Jal@dqo MocAHS)

Mo HOOMAOIW (ol (BHIWHHD

@AW ag)PImIes.

H0WA® Blel |I> oes])
@OOUTVOBETBRD |I> @OOUOE Udlel

[ ]

o @RUEM® wdel |I> @OCLITLOBEIBRD

® @OOUMOG wdlel |Ii>o€:0®)0(mﬂﬂ@ wdlel

10. ag)eajowon (aldn)@led0Bo (aldh)d
BIOMMA0Q] MOOIM@)?

11. woycomleq @oslemsles moel
lWwom QoMW afe®EoemOTy
Qg)PIO)bs.

12, (a10ccwle malalmosled
@oSIOOMEDI@ A COM (®EDAM
l26m0MU06UO® AUDY DB

13. ®eoom agmoeeInm? HAIWIOS
3Tl B:eM@BIY B:006MMOW @oalRM
a0 ag@moem?

14. calsoem (lQUAED MBS
avjowWlmlenyom Q015 &, 658 (D
ARODRIOONNT) BN f)PA®bs.

15. esuyzoeleeld@ ol esuym ol

Qg)ETBEM  A@IOMIOR]SIBlHNIM.



FY 37
Answer any six questions from 16 o}o® 23 cueowi8s 8210B)mBEl@
16 to 23. Each carries three agemsslelo 6 ag)epElm 9EMROAPI®)H:.
scores. (6 x 3=18) | 3 weeod allme. (6 x 3 =18)
16. What is insolation? Which are 16. avo0®almo ag)MmoeeIom? @DEMO
the factors that causes variation aldl@elemlen qyy0®alm e
in insolation at the surface of the QUY®IOMVETBRBE  HSHO0EMAI LM
earth? ARISHEMBRD aRO®E|00?
17. Complete the table based on 17. @000 alleonsmes @oslauaom
climatic types. 2066 2l)ales Mefelelgies alglde:
OB QOBE) .
Group Type Letter code
alleowmo §DMo @OBHUD VL2 10
e A-Tropical Humid & e, ) ST o Af
o A-—sadiemenelel @dEo
e Tropical Monsoon o 9
® oatlemaenelel memavgerd
L JRR [ TPOTN o Aw
e B-Dry Climate e Subtropical Steppe o 9
o B—ainen @oei001m0 ®  9GaloariemEa6Iel e imMY
L JRR [ SOOI e BWh
e Mid-Latitude Steppe o 9
® QW)Y @OHHICUD MVORaTmMY
e Mid-Latitude Desert e BWK
& MW @OB:HICUD MMYEIA
18. Identify the largest west flowing 18. svomyieel aISlemmocnI6S50PIEM
peninsular river in India and palalalle mdegd aggane alelw

prepare a note on it. mdl agemm &eemsor 80 @dlaf

®QYOOOH6) .

K-28 5 Turn Over



20.

FY 37

19. Recognize the type of soil 19. gaisaml®d A agamio B agyamyo
marked as 'A' and 'B' in the map @OSWOReSEMIWAeeyM agrlm
and give a brief note on each. MR age®M @dlolClemT @oalowW

001012 eleadCla i o).
A B
The lava that cools within the 20. seisootoR os8l® el el
crustal portions assumes ®EMIBMIO 6D QLY@ TV’ ® 3l 608 (D
different forms. Identify them OENBOBIMY. O aRO®EL0ea’
and explain any three. HOMBOT aReO®®Ielo MOMENOED
#0la] allaudless.
Which are the major biosphere 21. @EmMIEe @rousle:no meislwlgiss

21.

reserves in India recognized by
UNESCO? Prepare a note on

any one.

K-28

OOl (IWOIM HOHRAMEMDEA
MoOHHEN COEILIHD oRO®R|00?
Q@ epemeslelo 8nleMENla]
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22. Define the following : 22. anaes melslelgesal
a) Orogeny 1o 2 o6 k.
b) Degradation a) aldmayaile-nemo
¢) Exogenic process b) mlacile.memo

C) 6NIda0y (ol(ds WD

23. There are three stages in the 23. @pomdleomion aldlemoammial ayrry
evolution of atmosphere. CQISEBEIMIBR®. MV  CLISEBMD
Mention these stages and @EO®EOODMN af)#IMBHWI0 BOUOW
explain. &)la] Alltemoe B0 H.2IQds.

Answer any three questions from 24 oo 27 Alee®)8s €aloayRg)d

24 to 27. Each carries four scores. a@e®®elo 3 ageROTIM HEMEONEL)MS:.
B X 4=12) | 4 ovemod alwo. B x4=12)

24. Identify the depositional 24. A, B, C, D agmismem @oswogeq
landforms of wind marked as A,
B, C, D and write a detailed

note on landform 'A'.

SyOemf@lenM HogEIeNR Mlestalem
@0 IEIBI oRO@LOOANT) H66ENSEIT)
@I A ag @oSWOgeq ]SO

@leleeym B0l @D B0 2L
A Ql0Ea0W HYCla b ®YIOOH .

A
C
B
C
B
D
D

25. Explain briefly about the tides 25. oy, a1mm®, @l egamlu@es

based on the position of Sun, auOOM 6 YD) @SINOM A0 H6)]

Moon and Earth. Qlaleasyam  ealel&easny0lal’

QlvoBOOH6H:.

K-28 7 Turn Over



26. Describe the plate tectonic
theory and give two examples

each for major and minor plates.

27. Which is the atmospheric layer
situated between Troposphere
and Mesosphere? Mention its

features.

Answer any one question from

28 to 29, which carries six scores.

(1 % 6=6)

28. Explain the local storms of hot

weather season in India.

29. The velocity and direction of
wind are influenced by several

factors. Justify.

30. Identify and mark the following

on the given outline map of

India. (6x1=5)

a) The mountain range situated
to the north west of the
peninsular plateau.

b) The strait which separates
India from Sri Lanka.

¢) The physiographic unit
located between the
Northern mountains and the
peninsular plateau.

d) The island group which is
divided by 11° channel.

e) The river which rises in the

Brahmagiri Hills.

FY 37

26. anel® aleim IERLOMOEHENC] 2
QAUNBAOHOHIB:Wo  UManelH 688l
ORI®io BRI aNRIBHEBEIenAIW o
agemsslello oeng aflmo ©B0a0meM
OBW  HOMOM af)PI®Is QL0
6.21Q)ds.

27. csLsocsgjo«ﬁodm)o’lmgo £06VOMadldl
myo sns 1@ qual@l6.o1@ian
@G HHaI08] @ ?  O®IeMn
MANBLAHU®EWD ag)PIEIH>.

28 90 29 9o galoa)mBgl@ age®meseljo

amila 9emeEeaims. 6 mesd. (1 X 6 = 6)

28. oavieom  oeiBgl@ oy
040169 SIM WHBMAOW (0 I06RUHIdE

BORIHHOBBNT 2] QNG| H6))6.

29. ®ogle@ cunmeowie Gle®io
@OEMHo CRISHEBRD  MVIOUWIMHe),

mMENE. MO HEH:.

30. 2yaues  omlgies allaleesd
@@l clenmy melsslelges snanywies

@30 16REIQIC @ISWOReQ|S)ETmE:. (5X1=5)

a) 9oaldlalle aflogialwies aises
alslemmo0o@] qual®@le.algyom
aldQmmle.

b) spomye@ wlaml@  mlongo
cUA@I@leeM  &:sellsies).

C) 5OMO oldU® caeURIHN o
oalcflaflw aflogialenyo

sl qunl@le.ol1@iom
Bllaldry@l lleowmo.

d) 11° asomeindd aflemloonqgls
aflatvagaco.

e) (EUa0awIdl @ymysal@ mlamio

eomealleeim mdl.

K-28
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Part - I11
SOCIOLOGY

Maximum : 80 Scores
Time : 2% Hours

Cool off time : 15 Minutes

K General Instructions to Candidates : \

alleyodmdle:@66)188 6al1om) MdequaB®d:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

rldgladis o@Emm ajoen 15 almlg ‘@i &dal 66so’ eenso@fl@leano.

‘@b Boal ©6S0’ G2I0EYIBW al@lalWea|SOMio HETHOBWD @EDIVY®6EMO
£21Q0MP0 HalBIUIHEH:.

MIRGGULEIBI MILIIMI YBERLIABQ o AUOWIBHEMO.
HOEMOEIBUWD ) PAEYM@IMN MM B2ldBYETBWHD (BERLIABQe CUIWIBeEMo.

BH6MBE)  8HISINBRD, 2l@EMBMR, (N0, ag)milal OOMOGla]GIEd ®eam
eens0Qf@lesemo.

B2I0BYEIBW DAIWIgETIRle M@H:lRIgNS.
@OOUCYMER AVOLIGD MVACUIBYETBRD 61B0SIHEMo.

G (IO(NODIHHUWD 6).21QOMIBIMD HOIMHNICLIQNIH WD BF]1OHHW IS 60}
EDRIBB(SOEMID HaldhOemlo al@ldHInndE® HalEOUlHeIIOM aldslg). /

K-52
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Answer all questions from 1 to 6. 1 )o@ 6 UOEW 88 ag)g]d 8210B)ETBWEN )0

Each carry one score. (6 X1 =06) | gomoenwims. 1 niesd allme. (6 x 1 = 6)
1. Movement from one status or 1. &) asal eoegeld emovled aloy

occupation to another is ............ 06700 aldal@leaesnd eomovlelesl

a) social order BHOO OB MOQAOEN ... .

b) social mobility a) mgdle: (@00

c) social status b) mapde aemesa®

d) social control ¢) mojpdle: aleal

d) avaadle mloEmemo
2. Complete the chart. 2. 21003 ald®De@leeds.
Caste and race G. S. Ghurye snmy@ilenl 2odlwye | el ey eepcoy

in India Qoo

Living Tradition | .cccoeeeeeeeeee. | | | cvedu asoomuoye | s

gl aldEMIy

3. The process by which we learn 3. Moo aOEHee! BoonmoRasioym
to become members of society (BN ..., .
IS e

4. The researcher trying to look at 4. 06Qgo0o8es $09°210]081@

his or her research through the

eyes of others is called .........
a) relativity

b) self-reflexivity

¢) rationality

d) retrievability

K-52

lMOIE:06NE VMo NDEUAHEMOED)

BMOBEI0eMIMM ABI@O6NT ............... .
a) eI Do

b) @ooa (@®laneimo

c) iemlalon

d) @dleasieeamd cuoad




5. The way it works for others

beyond their own interests is ....

6. Name the Indian Sociologist,
who conducted fieldwork among

tribal communities.
a) G. S. Ghurye

b) M. N. Srinivas

¢) Sarachandra Roy

d) D. P. Mukherjee

Answer all questions from 7 to 11.

Each carries two scores. (5 x 2 =10)

7. Differentiate mechanical
solidarity from organic
solidarity.

8. Explain macrosociology with

examples.

9. Briefly explain the symptoms of

welfare state.

10. What is emperical investigation?

11. Comment on pluralities and

inequalities among societies.

K-52
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5. Mo ®I@ojoyemlny’ Eo@@aow]
DRIBRAUDdHEEUENE] ([ IQUBDBTIHHIM

QNSO .. .

6. cuoaeINEBRDBsIsIE adldday
QURHE msOmw e My
BaVOGaUYORZITY @DOO6T?

a) =d.ag)av. eLye)
b) ag)o.agiad. wladlcuomy
C) O®al3 GO

d) adl.all. oyeuded

7 o)mad 11 auen ag)glo 6aloa)aBgwen)o

9EMEODY)®)d. 2 MIEHo0 allmo. (5 x 2 = 10)

7. @00t 6ag)ByEodUeED 6620Ne:

6)ag) B> 30D U9y YD) @ mlm

BUR®I @ B56).

8. Mol moeduda(®e e eeiolal

£30a006M Madl®mo QNlKdElE:BleeIH:.

9. BHAUDO0H (SOWIOM  LIHA6METB D

21086 AlElH6)d8.

10. eemieaimilavodw  @eEmMjauemo

Qg)OMOBRINT)?

11. vapomslee eniadi®lo, @MVAMIO

ag)MIUeOHEN o] AllIGlH6ds.

Turn Over



Answer any three questions from

12 to 15. Each carries three

scores.

12.

13.

14.

15.

Environmental problems can be
considered as social problems.

Explain.

The functionalist perspective
argues that modern industrial
societies function best if women
look after the family and men
earn the family livelihood. Do

you agree? Why?

Examine the importance of
scientific methods in the study

of sociology.

Distinguish between status and

role.
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Answer any three questions
from 16 to 19. Each carries four

scores. B x4=12)

16. Ascribed status has some value

even in the modern society.
a) Give some examples. (2)

b) Differentiate between

ascribed and achieved status. (2)

17. Write notes on :
a) Gated Communities

b) Gentrification

18. Do you agree that mass media is
an important agent of adolescent
socialization process?

Substantiate your view.

19. a) What is global warming? (2)

b) What are the major social

effects of global warming? (2)
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Answer any three questions

from 20 to 23. Each carries five

scores. (3 x5=15)
20. a) What are the various types of
interview? (2)
b) List the merits and demerits
of Interview. 3)

21. Explain the debate between
G. S. Ghurye and Verrier Elwin

on how the state should respond

to the Indian tribes.

22. List some major environmental

FY 38
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A B C

a) | Primary group Large in size

Professional group

b) | Secondary group We group

Immigrants

¢) | In-group Face to face

Formal relationship

d)| Out group Same age group

Children belonging to a particular school

e) | Peer group They group

Family
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Answer any two questions
from 24 to 26. Each carries six

scores. (2x6=12)

24. Describe the various forms of

family.

25. Briefly explain the three

dimensions of culture.

26. What are the factors affecting

social change?

Answer any two questions

from 27 to 29. Each carries eight

scores. (2 x 8=16)

27. Three revolutions paved the
way for the emergence of
sociology. List them and analyze
how did they contribute towards

the emergence of sociology.

28. Discuss the relationship
between sociology and any other

two social science discipline.

29. Write an essay based on
examples to show how conflicts

get resolved.
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March 2019 Reg. NO. cooreeeeceerreeeeceeereenneeeeeeene FY 39

Part - I11
MUSIC

Maximum : 40 Scores
Time : 1% Hours

Cool off time : 15 Minutes

/ General Instructions to Candidates : \

afleyodmile: @688 ealom) MACGUEB®D:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.
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£21Q0MP0 HalBIUHEH:.
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BH6MBE)  8HISINSRD, 2l@EMBMR, (N0, ag)milal OOMOGla]GlEd ®eam
30l @lesemo.

B2I0BYEIBW DAIWIgETIRle M@H:lRIgeNS.
@OOUCYMER MVOLIGD MVACUIBYETBRD 61B0SIEEMo.

G (IO(NODIHUWD 6).21QOMIBIMD HIMHNICLIQNIH WD BF1OHHW IS 60)
EDRIBB(SOEMIE HaldhOemlio al@ldHInndg® HalEOUlHeIIOM aldslg). j
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Answer any four questions from

1 to 5. Each carry one score.
4x1=4)

1. Regional music of Kerala.

2. A tala which has 8 aksharakala

duration.
3. The simplest musical form.

4. The tala among saptatalas

having anudrutam as an anga.

5. Select the sign which indicates
the foreign note in a bhashanga

raga.

» U

b) %

¢) O
d) ~w

Answer questions 6 & 7. Each

carries three scores. (2x%x3=6)

6. Define arohana and avarohana.

7. Give a brief description on the

musical forms of India.
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Answer any five questions

from 8 to 13. Each carries four

scores.

8.

Explain 'Sthayi'.

9. What are Janaka ragas? Give
the characteristic features of
Janaka ragas.

10. Compare jatisvara and svarajati.

11. Describe the distinctive features
of Indian Music.

12. Prepare a short note on the
contribution of Purandaradasa
in the field of musiec.

13. Explain saptatalas with their
angas and aksharakalas.
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Answer any two questions

from 14 to 16. Each carries five

scores. (2x5=10)

14. Describe the musical
contribution of Sri. Swati

Tirunal.

15. Notate a 'gita' you have learnt.

16. Explain 72 melakartha scheme.

FY 39
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Part - I11
GANDHIAN STUDIES

Maximum : 60 Scores
Time : 2 Hours

Cool off time : 15 Minutes

K General Instructions to Candidates : x

afleyodmile:@66)88 ealom) MACGUEB®D:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.
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£21Q0MP0 HalBIUTHEH:.
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Answer all questions from

1 to 6. Each carry one score.

(6%x1=26)

1. Name the book which
influenced Gandhiji to
became a vegetarian by

choice.

2. Who 1s known as the

forerunner of Modern India?

3. Every state has four
elements : People, Territory,

Government and .............

4. Name the father of
Economics.
a) Alfred Marshal
b) Adam Smith
¢) Robbins
d) J.S. Mill

5. Name the slogan that
Gandhiji put forward in Quit

India Movement.

6. Who is the author of famous
book 'Unto this Last'?
a) Ruskin
b) Gandhiji
c) Tolstoy
d) Thoreau

K-24
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Answer any nine questions
from 7 to 16. Each carries two

scores.

7. Four Noble Truth and the
Eight Fold Path
(Astangamarga) are the main

teachings of Buddhism.
Write the four Noble Truths.

8. In Gandhiji's school life's
'Kettle' 1incident 1s a

remarkable one. Explain it.

9. Analyze the influences of
Rajchandra (Raychand) and
Gopalakrishna Gokhale on
M. K. Gandhi.

10. Write a short note on the
factors led to Vaikom

Satyagraha.

11. Prepare a chart on various

forms of nonviolence.

12. Freedom, Justice, Equality
and Rights are major political
values. Briefly explain any

two of them.

K-24
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13. Identify any four rules of
Satyagraha.

14. Briefly explain Gandhiji's

views on Socialisms.

15. Based on 'mature' J. C.
Kumarappa has classified
economics into five types.
Briefly explain any two of
them.

16. In 1896, Natal Indian
Congress had two partical
success to its credit. Identify
them.

Answer any four questions
from 17 to 21. Each carries

three scores.

17. London experiences made
remarkable changes in
Gandhiji's life. List any six

changes.
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18. Evaluate Gandhiji's
journalistic skill based on his
South African activities.

19. Champaran Satyagraha was
Gandhiji's first satyagraha
experiment 1in India.
Examine the factors led to
this satyagraha movement.

20. Gandhian concept of truth
has two forms. Identify and

explain it.

21. Gandhiji suggested several
means to tackle alcoholism.
Point out any six.

Answer any three questions
from 22 to 25. Each carries
four scores.

22. Gandhiji started two
Ashrams in South Africa.
Identify them and explain
their activities.
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23. Gandhiji's concept of
'Sarvadharmasamabhava'is
more relevant today. Do you
agree with this statement?

Explain with reasons.

24. There are three basic
components of Satyagraha.

Explain any two.

25. Distinguish between
Satyagraha and Passive

Resistance.

Answer any two questions
from 26 to 28. Each carries

six scores.

26. 'Gandhiji made Indian
Freedom Movement a
popular Movement'.

Elucidate the statement on

the basis of Noncooperation

Movement and Civil

Disobedience Movement.

27. Village swaraj 1is the
Gandhian model of rural
reconstruction. Analyze the
basic principles of village
swaraj.
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28.

K-24

Prepare an eassy on
'Economic ideas of Gandhiji'
based on the following
hints :

(Hints : Trusteeship, Khadi,

Swadeshi)

28.
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Part - I1I
PHILOSOPHY

Maximum : 80 Scores
Time : 2% Hours

Cool off time : 15 Minutes

K General Instructions to Candidates : \

alleyodmdls:@66)88 6al1om) MdequaB®d:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.
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Answer all questions from 1 to 8. 1 )o@ 8 cuenw 88 ag)elo 8210B)6BS )0

Each carry one score. (8 x1=28) | gomeeas)®s. 1 Mesod allme. (8 x 1 = 8)

The word philosophy is first 1.  oomwomi@o agm Qe @RI
coined by ......... OGO YD ... @D6N.
Identify the given proposition 2. omlalesim & al0gjMlatteO)M
'A student is not both a hosteler @02 Sl .
and a day scholar at the same 'A student is not both a hosteler
time'. and a day scholar at the same
a) Conjunctive time'.
b) Implicative a) eemeowiglal
¢) Disjunctive b) eogfleseglal
d) Alternative c) awlnvmmessial
d) eoBdgdemglal
Reduce the following sentences 3. ®oe¢e ®MIBIHHIM  QUOEO ®D
to logical form : ®0BBe & Yol OHIBRISE 2130486
'Inmates alone are admitted'. QG) YD),
'Inmates alone are admitted'.
The statement, "good people die 4. “mg omiaxyd emoemm adleeio’’
young" is an example for ......... ag)aM  (IV@OQUM o, a
leeliellanlniel o8

a) nonobservation of essential

circumstances
b) individual malobservation
¢) nonobservation of instances

d) universal malobservation

K-49

a) eMoM-BeIMACQIAHM  &0an
ag)qBoxy @ qdBogAdMY

b) endulafeg@ aodd-
amindealeum

c) emoed-aeenimdelaym® &dan’
enMdauadamy’

d) wiemleadmm QO@-

BSenirmdelar



5. The word 'causality'is originated

from the Latin word ........

6. Identify the thinking process in
which we begin with particular

facts and proceed to general law.

7o s is a tentative explanation

for the observed facts.

8. Choose the symbol for negation

from the following :
a E
b) U
c) Y

d) ~

Answer all questions from 9 to 13.

Each carries two scores. (5 x 2 =10)

9. Obvert the following
propositions :
a) Some leaders are graduates.

b) All roses are red.

10. Write the characteristics of

scientific observation.

K-49

5.  end® alBa0w ... @ aflamoeny
‘emomoellgl’ ag)om QUOBHE
@oldenllea.

6. (e UWOIOSI@ mlmmyo
6a10®) MOGDIGRISS) ag)@TIC2|0I™M

2090 (i@ Wew @0l Ol@)es.

7.  dedley oeesendlal o8s

®0Me60elle Alltdle-oemmoen ......... .

8. ®oey @mldlesymaii@ mlmyo
OMBWaHOM 2flaMo H@OEETMSYET
Qg)PAOE.

a E
by U
c) v

d) ~

9 o)mad 13 e ag)e]o @2IIBYETBW@EN)0
HOMOODLI®)H. B8IMIMIo 2 MIBHOD

ol G x2=10)

9. moey eaMldlenym elog]mlaxmy
68 BMICAT 6.01Q)b:.
a) Some leaders are graduates.

b) All roses are red.

10. woav @ 1 dleem ol e

MANBLAHU®EWD ag)PIEIH>.
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11. List out the four types of causes
explained by Aristotle.

12. State the features of Barren

Hypothesis.

13. Write the difference between

primary and secondary data.

Answer any four questions from

14 to 18. Each carries three

scores. 4x3=12)

14. Write any three laws of thought.

15. Classify the following as
relational, class membership
and general proposition.

a) All students are bachelors
b) Ammu is an artist
¢) Ram Nath Kovind is the

president of India.

16. Conversion is an immediate
inference. State the rules of

conversion.

K-49
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11. wmndleguosi®d allvdle:dlay moeimoo
BO0EMETBOE IS HOQSYO .
12. enuooem ©6a08a]0o®aVl e

AU MBO8 (IO B6)d.

13. (cowadle cemale el cemale

OolENSs QA@IOM0 ag)PIBE:.

14 ojo@ 18 cueowigs 6210B)eBslmd
agem®leljo 4 ag)eROTIM HOMOOALI®H:.

3 Mies00 allmo.

14. ogeoelege oy 2llomo dlwoassd

Q) PI®B>.

15. @20y @mldleaniam elogjmilaumy
68 Cleelatem@d, oq-oamideda]
2MO@ O log]Mlat@® ag)omlemem
B @16).0] 91D
a) All students are bachelors
b) Ammu is an artist
¢) Ram Nath Kovind is the

president of India.

16. ®emeaidarmd ag) M@’ }0)
oolwlwg OManoMm @Y.
HeMedarom o3y Moeswd

Q) FID)B>.

(4 x 3=12)



17.

18.

Mixed syllogism is devided into
three. Which are they?

Categorize the following
statements under the headings
of Method of Tenacity, Method
of Authority and Scientific
Method.

a) Government declares
emergency.

b) Flood is the curse of God's
anger.

¢) When heat increases volume

also increases.

Answer any five questions

from 19 to 24. Each carries four

FY 41

17. olemaw’ mileenglmesm ajmowi

oo @IBlENYM]. @ a@al?

18. ®oev OMIBHNMM (ITV®IUMEHO8
OOCEMAW  &%an” esmomlgl,
OOCEMAW  &0ad  @EEmInlg],
@ @lanls  OaeEDAW  ag)am]
afleomemglenell AdYSle@loeis.

a) BEEMESo  MOSImIEOQIMmA
lad6xyOafloy).

b) ©6BIEE:0aInM QUOWB W B
@:006Mo.

C) 21SHISHEMIOWD QUi sy

19 ojo@ 24 cueowigs G2106)eBslmd

agem®leljo 5 ag)eROTIM SOMOOALI® LS.

scores. (5% 4=20) | 4 vesod almo. (5 x 4 =20)
19. Complete the given flow chart. 19. omldlenym an'@8o 21085
a )@ BB 06))85.
PHILOSOPHY

(What is real?)

T T

T T

Epistemology [ ... b....

...... C...... (What is value?)

Logic T T

Ontology |- d.... (Correct reasoning) Ethics | e e
...... f... SUURE < JONN weho Beauty
K-49 5 Turn Over



20.

21.

22.

23.

24.

Discuss the distribution of
terms in AETO propositions with
the help of Euler's circle.

Experiment is a method for
reaching scientific conclusions.
Prepare a chart showing the

merits of experiment.

Draw 'square of opposition' and
mark the 'relation of opposition'

existing between propositions.

Write any four characteristic

features of science.

Find the major term, middle
term, minor term and mood of

the given syllogism.

20.

21.

22.

23.

24.

FY 41

IBOOS MadHRIgIONR  MVa0OW
eomo0s AEIO 6(1oq]milaximyealenl

alBemgles All®oemo 21006219,

WOV (@ QW mlnamengleel s’
ag)OTe|OMEIMEs 60y ddloeny
al@l®emo. alGleuem@mIo Gomd:td

BH0EMIBHHM 21003 BQYOOIBE)E.

‘M @d B82a0" BoMlanm’ alogf
6 (10 Moy M BB @ o1 @
mlaml@enimm  ‘Olealay@®  an

Ba]Milat@’ @OSWOROR|SIOTDIE:.

WO (@EDIOM aReO®sslejo moel

MANBLAHU®EWD ag)PIEIH>.

@069 @MIAlHeIM MUlerIol Mm@ BTleAl
eaxd 6sSo, olal@ GsSo, ©OOMA GSo,

DI ag)MIQL HOMBOTT af) LIS,

All Russians are revolutionaries

All anarchists are revolutionaries

.. All anarchists are Russians

K-49



Answer any two questions

from 25 to 27. Each carries five

scores. (2%x5=10)

25. Illustrate J. S. Mill's Method of

Difference.

26. Discuss the characteristics of a

good hypothesis.

27. Logic is applied in every walk of

our life. Describe the utility of

logic.

Answer question numbers 28 and

29. Each carries six scores. (2 x 6 = 12)

28. Truth table is the logical device
to demonstrate all possible truth
values of compound statement.
Construct truth table for
disjunction, conjunction and

implication.

29. The first step of research is
selection of the problem.

Explain other steps.

K-49

FY 41
25 )o@ 27 cueow)gs 62106)eBslmd
agem®leljo 2 ag)eROTIM 9OMOOAPI® LS.

5 miesod allmo. (2x5=10)

25. o=m.ag. dlgflo eacemdU eoad
WlanOMa ag)M @OEM]aHem @@l

£30a006M Madl®mo QNlKdElE:BlHeIH:.

26. a0} Mgl 660y Pe®mMIMIeMR

MANBLAU®E:WD 210.26).21Q)1d:.

27. momes Haloowle®  agglo
coeleldglello @RS KOV (®o
(EWOBMOQ|SIM. ®DBHH WON(®

OOM SalIBm® QNGlE6)w:.

28 90 29 9o 6210B)BRHS HOMAO

ag)P1®)B. 6 MEH:0d allmo. (2x6=12)

28. Mowa®m (AU ®OAUMBRIOS 1@
DYLIETBO S (180 QIoely))
6®8lHMTIMIBE 60 ®ODHEH>
Daldemaoem  (S3em @sent1d.
awlmggowaud, oMo o,
Moqlletnat® HAUWEOS  (SIEW

egsenllid (667

29. wealaemomlo® GoEy eIgmoem’
(0w mE®l6od O®OOETMSia].
WEQUMMOBIOQ QY CLISEHBUD

lvoEl 8016618
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Answer any one from question

numbers 30 and 31, which carries

eigh

30.

31.

K-49

t scores.

The validity of a syllogism 1is
based on certain rules. Explain
eight rules of a categorical

syllogism.

A categorical proposition has
definite structure. Explain the
structure and discuss traditional

classification of proposition.

(1x8=8)

FY 41

30 90 31 9o @aloB)EIBEIM age®e:Ell0

amila 9emeeaw)®e. (8 Mesod)

30.

31.

(1x8

mleaolmemlo aqowi®m oflel
Mol  @RSIMAOMN0LHHTI8s
@M. HOQENITIHOH@  avlerIogla

QI moeases

ag)s

lvoE|B:@le6) 8.

B0} HOREUNIC]H6H® @Lmo%mﬂnsnm”
QYBMHAOW CRISMWINE. CRISMOW®
AUlwEle:ala) aljeodm dlolwlenas
& (alog]Mlav 6 @ UdG:o6emo

21026219,

8)
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Part - I11
SOCIAL WORK

Maximum : 60 Scores
Time : 2 Hours

Cool off time : 15 Minutes

f General Instructions to Candidates : \

afleyodmale: @688 ealom) MACGUEB®D:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

rldgladis oM ajoem 15 almlg ‘@i &dal 66so’ oenso@fl@leanoe.

‘@b Boal ©6S0’ G2I0EYIBW al@lalWea|SOMio HETHOIBWD @DIVY®6EMo
£21Q0MP0 HalBIUHEH:.

MIRGGULEIBU MILIAMI YBERLIABQ o AUOWIBHEMO.
HOEMOEIBUWD g)PAEYM@IMN MM B2IdBYETBWH (BERLIABQo CUIWIBeEMo.

BH6MBE)  8HISINBRD, 2l@EMBMR, (N0, ag)milal OOMOGla]GIEd ®eam
©ens0Qf@lesemo.

B2I0BYEIBW AIWIgETIRle M@E:lRIgNS.
@OOUCYMER MVOLIGE MVACUOBYETBWRD 61B0SIHEMo.

G(IO(NODIHHUWD 6).21QOMIBIMD HOIMHNICLIQNIH WD BF1OHHW IS 60}
EDRIBB(SOEMID Haldhoemlio al@ldHInndg® HalEOUlHeIIOM aldslg). /

K-21

1 Turn Over



Answer all questions from 1 to 8.

Each carry one score. (8x1=28)

1. ... method of social work find
the solution for mass social
issues through propaganda,
public opinion and collective

support.

2. Children in conflict with law is

3. is known as "Magna Carta"

of human rights.

4. Dowry Prohibition Act is an
examples of .........
a) social reform
b) social security
¢) social welfare

d) social legislation

K-21
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1 m)m@d 8 AueEW)88 ag)e)o BaIdB)EIBWDE o

9EMEeaY)®)m. 1 esod allme. (8 X 1 = 8)

1.  (aleemo, ©ao®mIBMOE](@loWo,
OalomzRm allamiem egymlaiienes

2N AUNaHQWEBRDHE al®ladd®o

BHO6MIM GO @ QUL
QBN ... .
2. owoayoow Mool dat e @

@OHOQSIMN  BYSIBOB oo

ag)MOlQeR{SHMY,.

3. 2MAPQUBINOTEM “‘@owim &3

Ag)MOIVOQSIMD ..ovverriveinee @6M.
4.  Elom dleoowm Moo .............. ay
leeliellanlniel o8

a) aoaadld aldladiv:oemo
b) momadle: oy
c) omalle GeHMo

d) momadle dloa mldomoemo



Among the following which is
NOT an association.

a) Student's Union

b) Farmer's Welfare Society

¢) Religion

d) State

Woman committing suicide due
to the death of her husband is an
example of ........ type of suicide.
a) Altruistic

b) Egoistic

¢) Anomic

d) Fatalistic

According to psycho-analytic
theory ......... is the executive of
our personality.

a) Ego

b) Unconscious mind

¢) Conscience

d) Subconscious mind

Choose the odd one from the list

of life skills given below.
a) Creative thinking

b) Problem solving

¢) Decision making skill

d) Interpersonal relationship

K-21

FY 42

®OeY @ M1 ®1H86 M 1@

@OEIOMIIEQaHUM @RLJOODA oR®?

a) Quwad el

b) anodcayay QMO
lyvelololegilal

c) oo

d) emg

edEmOQlen moemo @IETBOMOIOE®
BOQ) BOBRAOBYO.2IQYN®D) ............ @0
@OTDAO@YHE) HBIAOOEMMOENT.

a) eoREqles

b) spvemoniglss

c) ®oemoniles

d) sangelgyles

onemoltagmein alaLIAm (aldhO®o
................ @6 MOMOS QBB @)]
eolOM ag)d-aulayslal.

a) §VeMI

b) @ossniowam@y

c) oML

d) ®alssniowamQ)

®O6Y 6BHIsIEMIdlenym Kol
06 Mallemlegl@d mlan &g em @b
OalSOEO®IOMm OOV NHSIOD
QG) YD),

a) mdgosas ol

b) (IMalBan0maldsOlo

€) ®o@OMo ag)SIeOHIMIBS aldSlo

d) ayeslwoomo el
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Answer all questions from 9 to 14.

Each carries two scores.

9.

10.

11.

12.

13.

14.

List out any four skills required

for a social worker.

What is the difference between
social insurance and social

assistance?

Distinguish between equity and

equality.

Write any four roles of social

worker in school setting.

What is critical thinking? How
does it contribute to decision

making?

Differentiate between growth

and development.

K-21

(6 x 2 =12)
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9 o)mad 14 1O ag)]o G2IIBYETBW@EN)0

2OMEOALIEYS:. 2 MIeH:Od aflmo. (6 x 2 = 12)

10.

11.

12.

13.

14.

B0} GAVIAYUI@ UAHOHDHN) GCUMS

a@e@sslello MoR ©eMallemld R

Q) FI®)B>.

GVOAHUY@ EDMAUIOMAVI0 BAVIAUY@D
@aIgRMe @oTleRes @OV

Q) FI®)B>.

O [Iglwio nd:oglglwe momleas

QU®IOMIO  ag)FIBIBs.

MWD  eavgloaml@  daVOauy@d

QUBSH0YOS mMmoel HAEmUYETBRD

QG)FID)B>.

agymoem’ alladuomomad oflam?
HOMETBOM ®IOIROMOASIER LN M

MaNIWH630M].

Ugdojwio Alld:omvalje @omless

QY@HOVODNT?



all
15 to 18. Each carries three

Answer questions from

scores. 4x3=12)
15. Prepare a Venn diagram
showing the relationship

between social work and related

disciplines.

16. Kerala has faced serious flood
disaster recently. What is
disaster? Suggest four measures

to manage the disaster.

17. Write any three remedial
measures to reduce violence

against women.

18. What is
Explain 'POWER' model of

decision making?

decision making.

Answer any three questions
from 19 to 22. Each carries four

scores. (3 x4= 12)

19. Define social work. Write any six

characteristics of social work.

K-21

FY 42
15 oyoad 18 cuen ag)gjo 8210B)aRWREN0

DOMEOAPImH. 3 MEHOd allmo. (4 x 3 = 12)

15. cavoayy@® U@l  @OMETLAW

aloMMoelHelo ®onIe8s MmIawo

HOMHOHYIM e QUM W (o
BQOOOHEs.

16. @nsyom H0LIOmOW] BHOGO
WIOAUMODOW (al8®  BOOD6 @YD)

@Elmeflanlall. BlJeaMo afMOI@
ag)m’?

e21guM@Imol 4 mldeguemsw

330000 )6 HHdHO0jo

MN@Br)bb.

17. v @eRe0) Me0WIes @O (G0
BR  HIOW O MEIMI8s oM
al@la00® MSalSldhd MIBGGUTIHH:.

18. ogyomoeny’ @ OIROMONS)B6 @ ?

@ @0MONS)HHLNM (Va0 H630M

'"POWER' oomye aflvodle:@lead:.

19 ojo® 22 cueowigs 82106)eBgl@
agem®leljo 3 ag)eROTIM OMOOALI® LS.

4 Me9d aflmo. (3 x4=12)

19. emonyy® dssiom mldq alleaid.
BaVOAHUY@ AUBBENOM aReO®EIeN0 @D

MANBLAHDEWD ag)PIEIH>.
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20. Farmers are the backbone of
every community. But they
struggle for their existance.
Examine the major problems
faced by the farming community.
Suggest remedial measures to

improve their situation.

21. Structural analysis is an
important method used in social
analysis. Explain the four pillars

of structural analysis.

22. What is personality? Briefly
explain any six determinants of

personality.

Answer any two questions
from 23 to 25. Each carries five

scores.

23. Manis born as a biological being.
He gradually becomes a social
being by the process of
socialization. Describe the

various agents of socialization.

K-21
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20. ogemony MaeooTOR@e Mese
HDUBHO06M. ag)(MO@ @O
mlaml@allmow]  mpavimygiamy.
HHQard-TMa00 @oElmeSBElenim
(IO MEBRD RO ®OOHH WO MMM’
al@lBLIWIHNM. @RAIOIOS @OOINVA
0020aSIEDIM@IN al@la00®

20RQeMmUd (IAGGUTBeIE:.

21. mooaole alleemenlea &oy
(oM Al apismo QflvadseiMo.
apIsmMo 1B eI @D 6 el moef’

@M AN0oE|B:@166))d.

22. ogomosny’ el ®io? QST GIE®D
mldep@Iee;Mm oo ®Hs1elo0 6
20ISHEBO B0 EI=Tplotfelul)

Alu@loe .

23 )o@ 25 cueow)gs 62106)eBslmd
agem®leljo 2 ag)eROTIM 9OMOOAPI® LS.

5 Mieso0 allmo.

23. omiayy® 80 Mmiewoslend
glalow &mleanimy. Moaiacle:le
HOHO6M (ol (Bl Uyl @O
OOUBOU00 630} MVIMOIE: elaflowf
@OOMY.  MVOMYASlBOUBHHOEM DTN

Ma00H0,M aRRWHWD agyl?

2 x 5 = 10)
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24. Write a brief note on multiple 24. a0Q0dW DOdWMOeS adglafldd
intelligence theory proposed by snRelledmy’ mlavoamne@meniolal’
Howard Gardner. 80} eleal) &dla] @QO00H6E:.

25. Describe the stages of Psycho 25. mwnee sloowlwled milavom
sexual development in the odlo  @eslmaomemld 8w
personality development of an QeEBIes alsl® alle:onoses
individual as proposed by 20MMIld: ©6loUSld: Ale0m epISEmTd
Sigmund Freud. ANUT 860

Answer any one from question 26 90 27 9o @2IIB)IBSIM afo®®B™Elj0

numbers 26 and 27. (1 X 6=206) | emila gomoenPi®)s. (1x6=26)

26. There are certain rules and 26. ogpo elldanaymio allel alwnemgle
guidelines that should be 200 mldeguoamBglo alld@som;.
followed in every profession. Demoo  Mwaamsdonle 26QY
These rules and guidelines are rlRGGRUEBRDLM6N ODITBRD gy
called principles. Write down alO@IM®? MOy  AUABS
the principles of social work & (al0a0adM alld@SOIM @ @|EBDd
profession. Qg)PYOYE>.

27. Social control ensures social 27. aoniadle MEmemo Modasdd
order. Explain the various (@00 90| QAUOIEmM]. MVOMIaCld:
means of social control. In your dleEmemesieq alalw aodyesd
opinion which type of social AN B8 0166 1b. memaes
control is more effective? @E (OQET @ o@@®®Oo MVODIASE:
Substantiate your answer. M@ EDEM  2OBYEBRIEM &S

alflalBo?  MIBges  HOMEo
MUOUII BBl BE)) .

K-21 7
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Part - III
ISLAMIC HISTORY
Maximum : 80 Scores
(One outline map attached)
Time : 2% Hours
Cool off time : 15 Minutes

f General Instructions to Candidates : \

afleyodmale: @688 ealom) MACGUEB®D:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

rldgladis oM ajoen 15 almlg ‘@i &dal 66so’ eenso@fl@leanoe.

‘@b Boal ©6S0’ G2I0EYIBW al@lalWea|SOMio HETHOIBWD @DIVY®6EMO
£21Q0MP0 HalBIUHEH:.

MIRGGULEIBU MILIMI0 YBERLIABQ o AUOWIBHEMO.
HOMOEIBUWD ) PAEYM@IMN MM B2IdBYETBWHD (BERLIABQo CUIWIBeEMo.

BH6MBE)  8HISINBRD, 2l@EMBMR, (N0, ag)milal OOMOGla]GlEd ®eam
N30 @lesemo.

B2I0BYEIBW AIWIgETIRle M@H:lRIgeNS.
@OOUCYMER AVOLIGE MVACUIBYETBRD 61B0SIHEEMo.

G (IO(NODIHHUWD 6).21QOMIBIBD HOIMHNICRIQNIH WD BF10HHW IS 60)
EDRIBB(SOEMIE Haldhoemlio al@ldHInndg® HalEOUlHeIIOM aldslg). j
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Answer any two questions

from 1 to 3. Each carries eight

scores. (2 x 8= 16)

1. The period just before the
advent of Prophet is known as
Jahiliyah — Age of ignorance.
Examine how far this name is

suitable to denote the period.

2. Battle of Badr, Uhud and
Khandaq were the struggle of
existance by Madinah Republic
under Prophet Muhammad.

Justify.

3. Explain the Umayyad
administration. Analyze its
the

changes from

administration of Early Caliphs.

Answer any two questions

from 4 to 6. Each carries five

scores. (2 x5 = 10)

4. Examine the features of the
doctrines of Islam as the
spiritual

youngest semitic

tradition.

K-2
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agem®leljo 2 ag)eROTIM 9OMOOAPI® S

8 Mies0d allmo. (2x8=16)

1. (waoamen @O NAMEBHIMY
OMmOFMMUKE B-0rlo Roadlelg) ag)any
@OCIWOQ|S}MY-CRRADOWIOS E:Jelo.
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8al000560m80oyM]. nIBR, ©and,
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Al@QI@ MlMI8s QI@IOVEBMD

ag)emRoenm AfltodeIMo 6.21Q)w:.

4 )o@ 6 ueow)8s 6210c)aBslM
agem®leljo 2 ag)eROTIM SOMOOAPI® LS.

5 miesod allmo. (2x5=10)

4. emalge eooRle aldemieyemlc
a@RQdo mleled
O o

MANBUAHBWD al@lBUOOWIEE)]dH:.

HEWO®M

@®OMIUO MM ETBYIOS



5. Prepare a note on the desert

divisions of Arabia.

6. Emigrations of the Muslims
during the period of Prophet
was due to the compulsion of the
situation. Analyze the migration
of early Muslims on the basis of
the statement. Write your own

opinion.

Answer all questions from 7 to 10.

Each carries four scores. (4 X 4 =16)

7. Mark the geographical
boundaries of Arabian Peninsula

in the given map.

8. Write a note on the first
revelation of Prophet

Muhammad.

9. The treaty of Hudaibiyah was the
stepping stone of the success of
Madina Republic. Prove the

statement.

10. Prepare a note on the challenges
faced by the First Caliph, Abu
Bakr.
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Answer any four questions from

11 to 15. Each carries three

scores. 4x3=12)

11. Explain the fauna of Arabia.

12. Briefly narrate the activities of

Prophet as a social reformer.

13. Discuss the different views
regarding the genesis of Islam in

Kerala.

14. Describe the impact of

Mysorean interlude on Kerala.

15. Narrate the causes for the

decline of Umayyad Khilafath.

Answer any five questions
from 16 to 21. Each carries two

scores.

16. Describe the different types of
sources of history with

examples.

17. Assess the contribution of Ibn
Khaldun.

K-2

(5 x 2 = 10)
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18.

19.

20.

21.

Evaluate the role of Shura under

Pious Khilafath.

Write the importance of the

Sermon of Prophet of Arafah.

Give an account of the Arakkal

Dynasty.

Briefly explain the services of

the Kunjali Marakkars.

18.

19.

20.

21.
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Make a timeline by using given data.

217.

28.

29.

30.

31.

(5%x1=5)
680 —+

657 —+
628
622 —+

615

605 -+ Reconstruction of Kaaba

e Hijra

e Hudaibiyah Treaty

e Tragedy of Karbala

e Abyssinian Emigration

e Battle of Siffin

Answer any six questions from

32 to 39. Each carry one score.

32.

33.

K-2

(6%x1=26)

The First Mosque established by
Prophet in 622 is at ......

a) Makkah

b) Madina

¢) Jerusalem

d) Quba

In the given tribes one is NOT
belonged to Jews.

a) Banu Qurayza

b) Banu Nadir

¢) Banu Ghifar

d) Banu Qaynuqga

FY 43
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34.

35.

36.

37.

K-2

Name of the person who was
absent at the council hall to elect
the leader of Madina Republic
after the demise of Prophet.

a) Abu Bakr

b) Umar

c¢) Al

d) Saad bin Ubayda

Write the name of the Khalifa
who introduced Hijra Calendar.
a) Abu Bakr

b) Umar

¢) Uthman

d) Al

Shura (advisory council) was re-

established in Umayyad period

a) Umar II
b) Walid I
¢) Marwan II

d) Abdul Malik

The author of Khalila-wa-Dimna

a) Ibn Ahamad

b) Ibn al Muqgaffah
¢) Ibn al Arabi

d) Ibn Jarir

34.

35.

36.

317.
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38. Meddanna, an able revenue
officer appointed as the

Governer of Malabar by ......
a) British

b) Portuguese

¢) Hyder Al

d) Tipu Sultan

39. Maldives was obtained by
Arakkal Dynasty in the period
of ...

a) Valiya Mammali
b) Ali Musa

¢) Aysha Beevi

d) Abdulla Ali

38.

39.
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Map for Q. No. 7
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Part - I11
ANTHROPOLOGY
Maximum : 80 Scores

Time : 2% Hours
Cool off time : 15 Minutes

/ General Instructions to Candidates : \

afleyodmile: @688 ealom) MACGUEB®D:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.
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Answer all questions from
1 to 16. Each carry one score.
(16 x 1 = 16)

Select CORRECT answer to the
following questions from bracket
given below.

(Oath, Microlith, Silent trade, Blade
tool, Middle Palaeolithic period,
Ordeal, Neolithic period, Kula
exchange, B. S. Guha, S. C. Roy)

1. Specialized form of barter

system found among the
Semangs of Africa in which no
verbal communication takes

place.

2. Founder

Anthropological survey of India.

director of

3. Thin and long tools very well
made from flakes and flourished

in upper palaeolithic period.

4. The prehistoric period
characterized by invention of
wheel and manufacturing of

boats.

5. Process of proving the guilt or
of the

through dangerous or painful

innocence accused

tests.
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Find the odd item based on the

criterion in bracket.

6. a) Manaism
b) Polytheism
¢) Monotheism
d) Animism

(Evolutionary stages of religion)

7. a) Human cooperation
b) Technology
¢) Capital
d) Distribution
(Components of economic

organization)

8. a) Pithecanthropus erectus
b) Java man
¢) Taung Baby
d) Eugene Dubois

(Homo erectus)

Write the concept related to the

following statements.

9. Smallest indivisible unit of a

culture.

10. Attitude of judging other
cultures based on the norms and

values of one's own culture.

11. The basic sound unit in a

language.
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Find the pair.

12.

13.

14.

15.

16.

Magic for fertility
Productive magic

Magic to attain safety in travel

Study of blood groups : Serology

Study of Gene structure and

inheritance pattern :

Couple resides with wife's uncle
Avunculocal residence
Couple resides with husband's

father's sister :

Which one of the following

statements is NOT true?

a) Blood group 'A' contains
antigen 'A' and antibody 'b'.

b) Blood group 'B' contains
antigen 'B' and antibody 'a'.

¢) Blood group 'AB' contains
both 'a' and 'b' antibody.

d) Blood group 'O' do not have

any antigen.

Mother's brother of a person is

a) primary kin
b) secondary kin
¢) tertiary kin
d) affinal kin

K-25
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Answer any six questions from

17 to 23. Each carries two scores.

(6 x 2 =12)

17. Examine any two features of
Anthropology that makes it
distinctive from other

disciplines.

18. Write a note about different

types of social groups.

19. Differentiate arbitrary sign from

natural sign.

20. Write a note about any two

stages of evolution of marriage.

21. Explain the differences between

a tool and an artefact.

22. Write a note on any two
branches of biological

anthropology.

23. Describe the importance of

folklore documentation.
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Answer any five questions

from 24 to 29. Each carries four

scores.

24.

25.

26.

217.

28.

29.

Examine the differences
between achieved status and
with two

ascribed status

examples each.

Give a brief description of the
megalithic culture of India.
Highlighting important sites
and type of artefacts found in

India.

Examine the problem of 'loss of
language'. Suggest any two
measures to revive language

from extinction.

List the four levels/types of
political organization proposed
by Elman Service. Explain any
three features of 'band' political

system.

Explain any four features of

Hunting Gathering economy.

Prepare a chart showing
different forms of magic. Explain
how white magic differs from

black magic.

K-25

(5 x 4 = 20)

FY 44

24 0)o® 29 cueow)gs 62106)eBslmd

age®m®leljo 5 ag)eROTIM SOMOOAPI®H:.

4 e9d aflmo.

24.

25.

26.

217.

28.

29.

@dRI® ]l SH@Badle el

agmial  @omlengs Qy@yoavo
oemiafllmo  ©80a00em  aLadI®mo
al@1GUOOWIB6)ds.

(IWOM  allPOUMI®Y (alCBUETBEI0
@OAZla00H7Imal0 Mallalloios06me
MM DaOIWIEl  TVoAVE:I06) @D
#9012l en) 6210y afllaueemo

QplEe

@0aY¥ MaU'SOQ|FIBalOMHIM  (alUOMo
al@1GUOWIHEd:. BOAUOX MOUDDII M
Mmoo HABHIMIBR oRO®Bs1RIY0

@6nE" 20dWEMBUd MIREZUTlEeE:.

ag)@aoM avdafloy’ mldegurleaom
M0 (Sl MocalosmEmIeM moel
2ISEBW /@O Mgy 6.01Q) .
‘eruo )’ MdadiSl molwom@msle

g qAeUaH®BHW A0BMOBE)E:.

BQISISERO BLOEUEMAL0 allmysmm
Ml Al@les ope®msslello Mol

MANBLAH®EWD ANKOBMOBE)H:.

QMAUIBETIOM QUDIN® @B

o

Qoo

BAD(OMOUOB0, MVEDEMAIIGo ag)MIal

B06M1B6M 21008’

Qg)EmBeMm @HOMVeSlElEeM] ag)amy

QlvoBOOHeH:.

(5 x 4 = 20)



Answer any four questions

from 30 to 34. Each carries six
scores. (4 x6=24)

30. Formulatory, Convergent,
Constructive and critical are the
four periods of development of
World Anthropology.

a) Identify the anthropologist
and his book related to this
classification.

b) Explain the development of
Anthropology in any two of

the above periods.

31. You can come across some
Anthropology books with same
content having different titles
like 'Social Anthropology',
'"Cultural Anthropology' and
'Social Cultural Anthropology.
Examine this based on different

traditions in Anthropology.

32. Prepare a chart showing
different dating methods in
Archaeology. Explain one
absolute and one relative
method.
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33. Draw a chart showing different
forms of family. Explain
different types of composite

family.

34. Explain the different types of folk
games and folk arts with

examples.

Answer any one question from
35 to 36 in not more than 250

words, which carries eight scores.
(1x8=28)

35. Examine why Darwin's theory of
Natural Selection is considered
more scientific than Lamarck's
Organic theory of evolution.
(Hints : Basic principles of
Lamarckism and Darwinism
— Limitations of Lamarckism

— Example of Natural Selection)

36. Explain the different criteria of
racial classification. Examine
the physical features of the
major races (Mongoloid, Negroid

and Caucasoid) in the world.

33.

34.
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g0 al@lEUoOUNB6) .

MMM — 2I0M0ALSIMOBTIOMQ0
avodallalnesile@@ie @oslmnomove
QEIBA.

— RI0MOABSIMEON BaldOQDDUD

— laddny@l aildELOEEM @6

£BaOMEMEIBMRD

by mlden@EBIOR  QAUIEIM®
QOMBEMLEIBUD QANEMIHE, BRIDD:@
Ol 3M] (IWIM AMUUBNEIBRIOS
(momegolw, mlewolw,
BB OBHEMIW W) RG]

MANBLAH®EWD al@lBUOOUWHE)]d:.
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Part - II1

COMPUTER APPLICATION (HUMANITIES)

Maximum : 60 Scores
Time : 2 Hours

Cool off time : 15 Minutes
/ General Instructions to Candidates : \

® There is a 'Cool off time' of 15 minutes in addition to the writing time.

® Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

afleyodmile: @688 ealom) MACGUEB®D:
® MdGladis MAETIN alj0ed 15 almlg ‘@id 60al 66so’ ©Ns0WIalHeo.

® ‘0 80al ©6SO G2IOBYTBR al@lalWeq|SOMio HEDOEBUD @RIV @EMo
£21Q0MP0 HalBIUTHEH:.

® AGEUEIBM MILINIMP YBEBLIAIBQ o (UOQIBeHEMO.
® HOMOTBWD af)PIOM@IM MM B2I0BYEIBWD YBRLIABQJo AUOWIBsHEMO.

®  HBEMBE)  BYSENDWD, 2N(@EIBWD, (WOaNE-W, ag)MMIc OOMOGla]GIEd ®eam
30 @lesemo.

® GoI0B)IBI MAIWOSEBILe M@BIQISNS.

®  BOUMIMES MAOLIET MVAUIBIETBUWD EIBISHOHEMO.

® GaIO(NIMBHWD 6.21QYIMIBHIMM dHI@HNICRIQOIHWD BF16HWIes B0)
K EDRIBB(SOEMIE HaldhOemo al@ldHInndE® HalEOUlHeIIOM aldslg).
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Answer all questions from 1 to 5.

Each carry one score. (5 x1=35)

1. The number of symbols used in

Hexadecimal number system

2. The act of making a row or
column immovable in

spreadsheet software 1is

called ............

3. Write the shortcut key to save a
presentation in Impress

Software.

4. In GIMP, the filter that can be
used to give more clarity to

edges of an image 1s ...............

5. Mention an example for

educational TV channel.

K-50
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1 m)m@d 5 UUOEW8S8 ag)e]o BaIdB)ETRWDE o

OOMAOAL)ME. 1 ME0d afl®o.

1.

Hexadecimal ommud mlgyonldd

9a18WIUSlEnM 2flamemBaIes ag)eMo

Spreadsheet emoadgecudl®d ewy
ol @06 £ 8] @ mloew
MERAIRIHENM [ IQUETOW ..............

Q)M a0},

Impress camoadgeaioldd &wy
(VB Baud save e21gomas short

cut key ag)9ymd.

GIMP & a0y al@omle e

&HRHe (edges) HISIO@ UyEH®

M@HOM e, anl@gd
8a 1eWIUllH60.
aflayoeyoa moenmwlwow

esellaflaum alomellay 80y HE0a0m6Mo

QplEe

(bx1=5)



Answer any nine questions

from 6 to 16. Each carries two

scores. (9 x2=18)

6. Name the four functional units

of a computer.

7. Write any two major functions of

an operating system.

8. Define merging of cells in Calc
Software. Which menu is used

for 1t?

9. Write any four chart elements in

Calc Software.

10. What are the two different ways
of inserting a text into a slide in

Impress Software?

K-50
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6 )o@ 16 cueow)gs 62106)eBslmd
agem®leljo 9 ag)eROTIM SOMOOALI®)H:.

2 Mes0d0 allmo. (9x2=18)

6. ®oalysolo@ moe aneSaxem@

QIEMIB-BIOS Gald ) LI,

7. 80y eogeogles  migyowleg
a@e@sIelo O6NE ([alWom WACMEN3RD

Q) FI®B>.

8. Calc smoadgeaidl@ emgsains
merging ag)moesmmm mIdQ)all
®9)d. o@® eamy (menu) @em.

@O MY B LM,

9. Calc emoangeaiol@® chart
@oseslw1sias ape®@sslelo moel’

CQISEHETBOS Bal® )P w:.

10. Impress emoadgecicl® ey slide
@ text 9o SEHIMTIMEBS 6N

QY@HMI® 20BNEBWD oRO®LJ00?
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11. Classify the following into
Raster Software and Vector
Software :

(Inkscape, Photoshop, GIMP,
CorelDraw)

12. Explain any two transform tools

in GIMP.

13. Describe any two features of

Wi-Fi transmission.

14. Compare intranet and extranet.

15. Define the following terms :
a) Hacking
b) Phishing

16. Pick the odd one out. Give the
reason.
a) e-Book reader
b) e-Text
¢) e-Business
d) Educational TV channels
K-50
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®O6Y B OSIOM O] HNHIMAUOHQ
Raster emoangeaioje Vector
BaaNFEAIOIMIQS @@ I@lH6))H:.
(Inkscape, Photoshop, GIMP,
CorelDraw)

GIMP o8 ogoosley o6ns
transform $)8)6680]q]
Alu@lee .

Wi-Fi (sodavglazen ogemssslelo

o6 AW AH®B®HOE B0l

Ao .

ENMSOOMAI0 af)BMISIOMQI0 AED

®OO®AY0 6)1.21QYd.

®06PalO@IM alBemBes
mIBQ 2 l66) 1.
a) a00Hsslens

b) adlatend

B ISOBIE BIOOOM® BreN33al1SlH6) .
BO@IOM HHOMEMO AG)PAMIbs.

a) e-Book reader

b) e-Text

¢) e-Business

d) Educational TV channels
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Answer any nine questions from 17 oo@ 27 cueowi8s 82103)eBsl@

17 to 27. Each carries three agemsslelo 9 ag)eRAElm OOMROAPI®)H:.

scores. (9% 3=27) | 3 mesod almo. 9 x 3=27)

17. Write notes on any three 17. Character (@lmlwomo 6a1@omd
character representation codes. 8aleOWHNM o@O®eIRo A

EHHOWIBOBaF B0la] ®QO0IBEIH:.

18. Match the following : 18. 2l0)0als] 62IdHe6:.
A B
a) | Application Software 1) Winzip
b) | Utility software 1) | Unix
c) Operating System 1i) | Cale
19. Explain the different types of 19. Calc emoatgecudiea allalwmeo
cell referencing in Calc with an cell referencing-emaigl ©39a00M
example. Madl®o ANlvdElo6lEe)H:.
20. Write the name of functions in 20. Calc smoadgeaidi@d moeLalowim
Cale Software for the following HOQYEIBND O.2igomas function -om@
purposes : Bal® af) I
a) to find the largest value in a a) 80) &S0 Moelydal@d mlan’
set of numbers. (1) a@ROe alen® denslalidleeod. (1)
b) to convert a text into capital b) &) text -em capital @oouoO
letters. (1) elBsy mORo (1)
c) to find the number of C) 80} QAUIBNIOL BVAHNOTBYIOS
characters in a word. (1) ag)eRo @6mejallSleanoad (1)
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21.

22.

23.

24.

25.

Write down the steps for sorting

in Calc Software.

Differentiate between hatching
and gradient fill in Impress

Software.

GIMP has a variety of selection

tools.

a) Name the selection tool to
select circular areas in an
image.

b) What 1is the difference

between fuzzy select and by

colour select?

There are two types of colour
schemes — subtractive colour
scheme and additive colour
scheme. Compare them by giving

any three points.

Consider the URL :
"http://www.dhsekerala.gov.in/
index.html"

Find the following from the URL.
a) Domain name.

b) protocol

c) file name

K-50
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Calc emoadgeauodl@ emodglens’

MSEDIMIBE steps ag)Li®ds.

Impress emoadgeaudi@® hatching
oo gradient fill o @mlenss

QU®IOMIO  ag)FIBIBs.

GIMP-®ayoymi® ®oo selection
tools eens.

o

a) 80 2N(®ED @ alom

QUIEODOH @@ 80 GOWo

select e21gomgs siEloq Gald

Qg)PYOYE>.
b) Fuzzy select o by colour

select 8o ®omleas

QY@HOVORNT?

N MOOTIENSS Hed MVsslo Heneg —
ENISOBSIOT 80 Midslmgo @Gl
H8d Mslmo. aRO®mBILlo I
QUMD BB M@ OBHI6NE @O

®olE GOOMDYo 6).21Q)ds.

"http://www.dhsekerala.gov.in/
index.html"-agom URL a1@lmenm]
A, MIOY §)BHOSIOMIBlHNHM AU
URL @ adlomy’ s6ngyallslee)des.

a) eweeam emwio

b) 61063060600

c) file name

(1)

(2)

(1)
(1)
(1)



26. Name and explain any two data

communication devices.

27. Briefly explain the advantages
of e-Governance.

Answer any two questions

from 28 to 30. Each carries five

scores.

28. Briefly explain about any five

input devices.

29. In GIMP, path tool is used to
create straight lined and curved
paths.

a) Each point in the path is
called .........

b) Which tool can be used to
make a path invisible?

c¢) Write the steps to align a text
to a path.

30. What is meant by network
protocol? Explain any four

network protocols briefly.

2 x 5 = 10)

(1)

(1)

(3)
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26. ogo®mslalo @6ng’ data
communication §al&EeMEBSIOS
Calowoll @alaa|dl AlltEa0HbH.

27. e-Governance-eo@ BMSEMBAR

21088 AlElH6)d8.

28 nyjom 30 cueow)8s G210B)eBElM
agem®leljo 2 ag)eROTIM 9OMOOAPI® LS.

5 Mieso0 allmo.

28. ogem®mleye @oem input ©alsoem

emBe8algl 203861 allaidleas.

29. GIMP @& path tool salewouslaf
emd eoeufeen curved doleiead
688 path mdmiesdo.

a) eny path eel 80600 calo@]
BMNWYO ..o ag)omy allglesymy.

b) er; path @oayKyROBOOMD

8aleousleniMm tool agmosn?
c) ao) text em &wy path ceies
align

021Qomias steps

Q) PIDB>.

30. emgudLs 6aI0B506HOIMD ag)M®}
O@06ME @OA@OMILH)ME®AD ?

agemsslello Moel  emEUdLs
B(aI0B30BHNIBYBHOE B01al eleal)

allaieemo N@ddYHs.

K-50
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Part - 111
COMPUTER APPLICATION (COMMERCE)

Maximum : 60 Scores
Time : 2 Hours

Cool off time : 15 Minutes

K General Instructions to Candidates : \

afleyodmale: @688 ealom) MACGUEB®D:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

rldgladis oM ajoen 15 almlg ‘@i &dal 66so’ eenso@fl@leano.

‘@b Boal ©6S0’ G2I0EYIBW al@lalWea|SOMio HETHOBWD @EDIVY®6EMO
£21Q0MP0 HalBIUIHEH:.

MIRGGULEIBI MILIIMI YBERLIABQ o AUOWIBHEMO.
HOEMOEIBUWD ) PAEYM@IMN MM B2ldBYETBWHD (BERLIABQe CUIWIBeEMo.

BH6MBE)  8HISINBRD, 2l@EMBMR, (N0, ag)milal OOMOGla]GIEd ®eam
eens0Qf@lesemo.

B2I0BYEIBW DAIWIgETIRle M@H:lRIgNS.
@OOUCYMER AVOLIGD MVACUIBYETBRD 61B0SIHEMo.

G (IO(NODIHHUWD 6).21QOMIBIMD HOIMHNICLIQNIH WD BF]1OHHW IS 60}
EDRIBB(SOEMID HaldhOemlo al@ldHInndE® HalEOUlHeIIOM aldslg). /

K-51
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Answer all questions from 1 to 5.

Each carry one score.

1. The number of symbols used in

a number system is called ........

2. Pictorial representation of an

algorithm is known as .........

3. What is the escape sequence
character for new line in C++

program?

4. The starting symbol of a
preprocessor directive

statement 1s .........

5. Write the full form of MAC.

Answer any nine questions

from 6 to 16. Each carries two

(9 x 2 =18)

scores.

6. What is the importance of
registers in computer system?

Name any two registers.

7. What do you mean by
humanware? Give any two

examples.

K-51
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1 m)o@d 5 UeEW8S8 ag)e]o BaIdB)ETRWDE o

2oMmEaaw®e. 1 MeLod allme. (5 x 1 = 5)

1. &0y omud gedl® oaleon]
#0,0M  2laMEBRIOS  af)gNe oD

................ Qg)(My, oM.

2.  ondenidomalod 2@ @oalaie:0

OODD) <.ooereerene. Qg)(my, a Oy,

3. C++ ennwod@ @osiom aidlela
805a)g QUOAUOMIBE gV Gdsral

Ml BT 500855D a@@O6N?.

4. a0y (@f Bl WO Sl

squRead@len (aoooe  ailaMo

5. MAC wpes aden 0lonei®e.

6 )o@ 16 cueow)8s 62106)eBRslwd
agem®leljo 9 ag)eROTIM SOMOOAPI®)H:.

2 mies00 allmo.

6. 80 ®oalysd MIgETI@ oo
8160S (A I0WOMIBEMIITT2 ag)LImIb:.
a@e®sslelo NS ELEITROIBEINS Gald

alOW)ds.

7.  a0)oMed ag)momd ag)om? o6ne

HBIANOEMETBID f) LI

(9 x 2 =18)



10.

11.

12.

13.

14.

Explain any two limitations of

flow chart.

Differentiate between character

literal and string literal.

What is the use of comments in
a program? List out two ways to
in C++

include comments

program.

List out type modifiers in C++.

Assume that recently your
school computer lab 1is
networked. List any four
advantages you can experienced
when using networked
computers instead of stand

alone computers.

Name the major parts of an

optical fibre cable.

"Servers have much importance
in a client server network".
Write the importance and list
any two classifications of

servers.

K-51
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afB80 21005160 age®meslelo o6nE

B loEOWEBW QANOUE]B6))E:.

mislowd elgoelo 00850 ellgoeno

OoENSs QA@IOMO ag)PIBE:.

80 GaIO(WONId  HOMPIHBINS
8aleomo ag)m? C++ elalowoalad
HAPHD ORBORISIOMOIOMBR O6NE

BlSNBD  ag)LI®)bs.

C++ -® palcwonlenyam eesq]

CQOWIOHANBRDNVIB:UID ag)PIBIbs.

mowles mlaBges  Mdaleel
doalysd ol emgIdes) 6.01®m)
ag)m qVE@aflond. ag)@l@d e8geals
ML Br0alS0IHO8 @G o]
eMEUBH00] enimuflafle) Hoalysd
HaIGWOMIHNIBMUID  HENSI LM

a@e@sIRl0 MO BMSETBUWD af) LIS,

BalSlen® eeanenid somenilglon

(0 1UOM BOWETBRD QG)FIBH:.

‘GO mdad moallwomomld
MAUOYBRBHS UgOO  BRWl0
(1oWomyo oeng.” qAUOYBHBIOS
(OWOMIOEMEO12) g Py

MAUNHRIOS oo ®ssleljo 6N

@B ag)PIm)bs.

Turn Over



15. E-mail is a popular
communication tool. Discuss any

two advantages of E-mail.

16. Write any two challenges for

implementing e-Governance.

Answer any nine questions from

17 to 27. Each carries three

scores. 9 %x3=27)

17. Explain any three freedom
designed by FSF for softwares.

18. As a student, explain any three
approaches that you can adopt

to promote 'Green Computing'.

19. Differentiate between Entry
Controlled Loop and Exit
Controlled Loop.

20. Write an algorithm to find the

biggest of two numbers.

21. What is statements? Explain
any two types of statements

in C++.

K-51
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15. E-mail ogm@ (wloio0eaolw
@Alrlaw aloull @en). E-mail

0@ ape®sslello 06 COME:RD

Q) FI®)B>.

16. e-Governance msq[leloeeieMIowd
@0 &1 o361 6> 16 06 61l QM
ape®mleljo o6 ealgalglaos

0] af)P@)bs.

17 ojo@ 27 cueowigs 62106)eBslmd
agem®leljo 9 ag)eROTIM SEMOOALI®)H:.

3 Mies0d allmo.

17. FSF oidcuallaflgigs eaoadgai@oy
BSOS a@O®BILo DA MVIOB(ODY0

Q) FID)B>.

18. aay allgpdmd agmm dlaeld ‘@Sl
doalyslord” ¢alommoaslallenialo
M8 a@e®sIeo MM qudllalMen3dd

QlvoBOOBEH:.

19. Entry controlled Loop eo Exit
controlled Loop &0 ®mmleygs

QDM ag)EIBIbs.

20. @62 mosydal@ olamy auel@ ooy

HNs1allSleniomias @ademInlmo

Q) FI®)B>.

21. euEeO@IdRD  ag)MO@  ag)aw?
C++ @ 988 ogomslelo 6N ®oo

RO ANdE] BB 6.

(9 x 3 =27)



22.

23.

24.

25.

a) What is constant?

b) Write the keyword for

constant declaration in C++.

c¢) Give an example.

Explain the different types of

logical operators.

Consider the following code.
int 1=1;
for(; ;)

{

cout<<i<<'"\n"'

}

a) Find the output.

b) Rewrite the code by using
while loop with 1<=10 and
i=i+2 in appropriate place

for successful code execution.

a) Define Network Topology.

b) Compare Ring Topology
with Star Topology.

K-51
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23.

24.

25.
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a) Constant ogmo@ ag)om?

b) Constant algwd eoiguaiomd
C++ @ sarcwonlenym

SIBAUAW ag)PI®)bs.
C) 80} HB2aNV6MO af)PIBb

aflaflwmee 6eloZlen® B8 e0R0)

6889012] Alvodle:@le6)d:.

21AUOS ©BHISIOMIB]LHIM  BBHOW

@O B6)).
int i=1;
for(; ;)

{

cout<<i<<'"\n"'

}
a) 893a1)S Henallslen)ss.

b) anelcicmow 8lalo(onlem
laudoemmesimoe] 1<=10 &o
1I=1+2 90 EDAUINYMOW MOLIGTY
ones008alal’ while loop

806U o 500 MOFIng)PI®)H:.

a) emQades €S06q 08|

MR 166 8.

b) olems’ esosqogxlwio @O

€S0Gq 08 W)o MOAAY0 O2IQYH:.
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26. Your friend wants to take an
internet connection. Explain and
compare any three types of
broadband connectivity

available now-a-days.

27. e-Learning playing an important
role in education field. Discuss
three

any advantages of

e-Learning.

Answer any two questions
from 28 to 30. Each carries five

scores.

28. a) List down the functional
units of a computer by using

a diagram.
b) What are the advantages and

limitations of a computer?

29. a) What is operator? Classify
the operators based on
number of operands.

b) Find the output of the
following operations if x=—11
and y=3.
x4y
i) X % -y
i) x % —11
) (x>y) && (x<y)

v) | (x<y)

Vi) X *y

K-51
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HPAOME DHEMBHUM  af)S3HOIUIMD
®O@alQea]SIM TTlEMBRIOS MVIOIETTI
mo@]  HHoRIEm  eIGyMOWISI88
alaflweoo G(enIoasrlomdaw’
MBI MIBHO8HHY02L ®OO®D0
602100® QNuoEle:@le6)d:.
e-Learning allgyoeom casiei@ld

(ol Wom alss QUaO1HHIM].
e-Learning-e® ogemsslelo oy

(@IOUWOMYO QG)LIDIBs.

28 nyjom 30 cueow)gs G2106)eRElMd

agem®leljo 2 ag)eROTIM SOMOOAPI® LS.

5 Mieso0 allmo.

28.

29.

2 x 5 = 10)

a) 80 2N@Evle) ManOWEMmOT

doalylgolem a0 613’ oy 6m @
@EMIQUBRB ag) LI (2)
b) ®oalyg0imeles  camd»8lo

IOl :8l0 af)LimId:.

(3)

a) 80qJe0Qd  ag)MO@M  ag)(w?

B0 OMWIHBIOS  af)ENOED
@oSIOOMAOBE] 600 |EO[OEOR
@@ o). (2)
b) Xx=-—11 90 Y=3 &0 GO

®OOPQOWIM (AICLDBHMEIBRIOS

BV301S af)PIO)bs.

1) —X + -y

1) X % -y

1) X % —11

1v) (X>y) && (x<y)

v) | (x<y)

vi) X * y

(3)
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30. a) List the four components of 30. a) eyof sEugea@emees moe’
a Loop Statements. CRISEHEBWR af)LIbs.

b) Write a C++ program to find b) M eEWBE Mo B

the sum of numbers upto 100 enslallslonaiomas C++

by using any loop statement. Glalo(®o0  aRe®®lello  eldaf

BEUAOAM ©aIEROUIla] ag)PIBIb:.
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Part - I11
JOURNALISM

Maximum : 60 Scores
Time : 2 Hours

Cool off time : 15 Minutes

K General Instructions to Candidates : x

afleyodmile:@96)88 ealom) MACGUEB®D:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

rldgladis oM ajoen 15 almlg ‘@i &dal 66so’ eenso@fl@leano.

‘@b Boal ©6S0’ G2IdEYIBW al@lalWea|SOMio HETHOIBWD @EDIVY®6EMO
£21Q0MP0 HalBIUHEH:.

MIRGGULETBU MILIMI YBERLIABQ o AUOWIBHEMO.
HOMOEIBUWD ag)PAEYM@IMN MM B2ldBYETBWHD (BERLIABQo CUIWIBeEMo.

MNP  8HISINRD, 2l@EMBMR, (N0, ag)milal OOMOGla]GIEd ®eaM
N30 @lesemo.

B2I0BYEIBM AIWIgETIRle M@B:lRIgNS.
@OOUCYMEE MVOLIGD MVACUOBYETBWD 61B0SIHEEMo.

G(IO(NODIHHUWD 6).21QOMIBIBD HIMHNICLIQNIH WD BF10HHW IS 60)
EDRIBB(SOEMIE Haldhoemo al@ldHInndg@ HalEOUlHeIIOM aldslg). /
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Answer all questions from 1 to 6.
Each carry 1 score.

1. The journal published by Raja
Rammohan Roy.
a) Sambad Kaumudi
b) The Hindu
¢) Amrit Bazar Patrika
d) The National Herald

2. The journalist who was deported
as an impact of conflict with
Diwan of Travancore.

a) Swadeshabhimani K.
Ramakrishna Pillai

b) K. P. Kesava Menon

¢) K. Sukumaran

d) K. Ayyappan

3. National Film Archives of India
is located in ........
a) Thiruvananthapuram
b) Pune

¢) Chennai
d) New Delhi

4. The article of Indian
Constitution, which assures the
freedom of the press.

a) Article 91
b) Article 19
c¢) Article 18 A
d) Article 16

5. Head quarters of the Associated
Press is situated in ........

a) Paris

b) New Delhi
¢) London
d) New York

K-4
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6. Skeleton of the newspaper page
or design is called ........
a) broadsheet
b) dummy
c) flag
d) copy

Answer any five questions
from 7 to 12. Each carries two

scores. (5 x2=10)

7. If someone misuses internet to

achieve political or social
objectives by threatening a
system is a criminal offence.
Name this cyber offence and

elaborate.

What is press briefing?
What is gate keeping?

10. How can you identify a person
as media literate?

11. Write any two objectives of
Prasar Bharati.

12. Name four categories of film
certificates.

Answer any four questions from
13 to 17. Each carries three
scores. Answer should be in 40

words. 4 x 3=12)

13. Comment on Kuldip Nayar's

contributions to Indian
Journalism.
14. What are the roles of

advertisement department in a
newspaper organization?
15. What is the significance of

'prominence' as a news value?

K-4
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16. How does letters to the editor
help to improve the standard of
the newspaper?

17. Compare Hard News and Soft
News.

Answer any five questions from
18 to 23. Each carries four scores.
Answer should be in 60 words.

(5 x 4 = 20)

18. What are the characteristics of
traditional media?

19. Write a short note on Gandhian

Journalism.

20. Dr. Herman Gundert is known
as father of Malayalam
Journalism. Write his

contribution to Journalism.

21. Maya got an appointment as a
sub-editor in a newspaper.
Suggest her any four editing
principles.

22. Explain any four types of
headlines used in newspapers.

23. Distinguish between cheque
book journalism and paid
journalism.

Answer any two questions from

24 to 26. Each carries six scores.

Answer should be in 120 words.

(2 x 6=12)

24. What are functions of Mass
Media?

25. Write any three types of
reporting.

26. Describe different levels of

communication.
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Part - I11
BUSINESS STUDIES

Maximum : 80 Scores
Time : 2% Hours

Cool off time : 15 Minutes

K General Instructions to Candidates : \

alleyodmdls:@66)88 6al10m) MdequaB®:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.
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Answer all questions from 1 to 9. 1 )o@ 9 ueew 88 ag)g]o 8210B)ETBWEN )0
Each carries one score. (9x1=9) | someenvimis. 1 Mesd alme. (9 x 1 =9)

Which among the following is a 1. ®ev e@midenmalaid enlminqy

'human cause' of business risk? Mad'sEmIMI8s ‘2omiaHld oM’

a) Earthquake Bl @O |S)ME®®?

b) Mismanagement a) @l &)enesno

¢) Change in demand b) moemezend eE:sIERyMN®

d) Competition in market c) adlaondlenss Qoo

d) allaemioies astvoo

'One man one vote' is the 2. ‘800R08 80) CAUOT ag)M® oR®

principle of ......... form of enflaflnqy’ oelemlo® @osiaunom

business organization. ®@®|@O6N).

a) joint stock company a) 6®OW BEYRIBS) BAUMI

b) partnership b) asmoglom enflailmqy

c) co-op-societies C) MaOEOEM MNdalMo

d) Hindu joint family business d) adlozy BrgIB sl enflmilonqy

Which among the following is an 3.  moevemidenmalaiad ‘Qleiaimel

example of departmental MoBOWIN’ ©BIAOVEMER®?

undertaking? 8) ag®.oag.a.

a) LIC

b RBI b) @od.ecnl.eng).

¢) Doordarshana c) eadod

d) KSRTC d) e®.agm.ed.sl.mi.

Give one example for 4. armmﬂm%%m@ ‘afleQUalMmO® Db

'discretionary responsibility’ of HEMAOEIETD EHIT B0 HB0AO06Mo

business. alOW)ds.
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Complete the series as per hint
given.
a) Equity Shares — Owned Capital

b) Debentures — ......... [ S

The only international
nongovernmental organization
of micro, small and medium
enterprises in India is .........

a) NABARD

b) SIDBI

c) WASME

d) UTI

Suggest two products which are
suitable for dealing through

vending machines.

Which among the following is a
document relating to the
payment in international
business?

a) Shipping bill

b) Certificate of origin

¢) Letter of credit

d) Export invoice

Find the odd one out :

a) Trade credit

b) Certificate of deposit

¢) Bank overdraft

d) Plaughing back of profits

FY 48
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Answer any six questions from

10 to 16. Each carries two scores.

10.

11.

12.

13.

14.

15.

16.

K-5

(6 x 2 =12)

What is franchising?

Who are cheap jacks?

Distinguish between ADR and
GDR.

Anu and Verghese are working
in a business organization doing
the same job. Anu is paid Rs. 500
per day, while Verghese is at 750.
Is the act of management is

genuine? Why?

Name any two types of payment
mechanisms used in e-Business

transactions.

Bring out any two features of

business services.

What do you mean by plaughing

back of profits?

FY 48
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Answer any four questions from

17 to 21. Each carries three

scores. 4x3=12)

17. What do you mean by business
risk? What is the reward of
businessman for taking this

risk?

18. Explain any three features of a

statutory corporation.

19. Write any three reasons for

international business.

20. Write a short note on 'District
Industrial Centers' (DIC's).

21. Distinguish between public
warehouses and bonded

warehouses.

Answer any three questions from

22 to 25. Each carries four scores.

(3 x 4=12)

22. Write short notes on the
following :
a) HU.F. (Hindu Undivided
Family Business)

b) Partnership deed

K-5
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23.

24.

25.

Who is a promotor? Describe any
two of his functions in relation

with the formation of a company.

Write any four differences

between a share and a
debenture.
Illustrate any four major

problems faced by small business

in India.

HMIMIWEOS

smm”ws)gdgggg

a@emssleljo o

lvoE|B:@le6))8.

loldmemBdd  AlvoE]8>@l86) 8.

moeal” QYBOMIEIBRD ag)PIB)bs.
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Answer any three questions from

27 to 30. Each carries five scores.

(3 x 5 =15)

27. Describe the importance of

profit in business.

28. Explain the features of a 'global

enterprise'.

29. 'This document is called as the
charter or constitution of a Joint
Stock Company'.

a) Identify the document.

b) Explain its contents.

30. Write how the business impart
their responsibility to the
following interest groups. (one
each)

a) Customers

b) Government
¢) Suppliers

d) General public

e) Owners

K-5
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Answer any two questions from

31 to 33. Each carries eight scores.

31.

32.

33.

K-5

(2 x 8 = 16)

Jisha and Lekha jointly start a
business on the basis of an
agreement. They contributed
capital and sharing risks,
engaged in business jointly and
severally.
a) Identify the form of business,
organization mentioned
above.

b) Describe any four merits and

three demerits of it.

'Super market is a large retailing
business unit dealing consumer
goods'.

a) Describe its features.

b) List any four of its merits and

demerits.

Explain the following principles
of Insurance.

a) Cause proxima

b) Utmost good faith

c¢) Mitigation of loss

d) Contribution

FY 48
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Part - I11

ACCOUNTANCY WITH ANALYSIS OF FINANCIAL STATEMENTS

Maximum : 80 Scores
Time : 2% Hours

Cool off time : 15 Minutes

/ General Instructions to Candidates : \

afleyodmale: @688 ealom) MACGUEB®D:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

rldgladis oM ajoen 15 almlg ‘@i &dal 66so’ eenso@fl@leano.

‘@b Boal ©6S0’ G2I0EYIBW al@lalWea|SOMio HETHOIBWD @DIVY®6EMo
£21Q0MP0 HalBIUHEH:.

MIRGGULEIBU MILIAMI YBERLIABQ o AUOWIBHEMO.
HOEMOEIBUWD g)PAEYM@IMN MM B2IdBYETBWH (BERLIABQo CUIWIBeEMo.

BH6MBE)  8HISINBRD, 2l@EMBMR, (N0, ag)milal OOMOGla]GIEd ®eam
©ens0Qf@lesemo.

B2I0BYEIBW AIWIgETIRle M@E:lRIgNS.
@OOUCYMER MVOLIGE MVACUOBYETBWRD 61B0SIHEMo.

G(IO(NODIHHUWD 6).21QOMIBIMD HOIMHNICLIQNIH WD BF1OHHW IS 60}
EDRIBB(SOEMID Haldhoemlio al@ldHInndg® HalEOUlHeIIOM aldslg). /

K-43

1 Turn Over



Answer all questions from 1 to 7.

Each carry one score. (Tx1=7)

1. Find the odd one among the
given wusers of accounting

information.

a) Managers
b) Creditors
¢) Tax Authorities

d) Labour unions

2. The accounting concept behind
creating provision for doubtful

debts 1s ...........

a) Consistency concept
b) Conservatism concept
¢) Materiality concept

d) Objectivity concept

3. The 'Book of Original Entry'

a) Cashbook
b) Sales book
¢) Purchases book

d) All of these

K-43
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The overdraft amount as per

passbook will be reduced

when :

a) Encashment of cheque issued
to a supplier.

b) Direct payment made by a
customer to the bank.

¢) Interest on overdraft charged
by the bank.

d) All of these

Which among the following is a

TRUE statement?

a) Provision is an appropriation
of profit.

b) Maintaining reserve 1is
compulsory for every
business.

¢) Provision created even if the
business incurs losses.

d) Provision for discount on
debtors is created to meet

the bad debt losses.

A Dbill of exchange is to be
accepted by .............

a) Debtor

b) Creditor

¢) Drawer

d) Payee
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7. Prepaid salary is treated as : 7. 0)RHBHId MUSO®D HMBSOLIS)
a) Expenses HOYM@ af® HMMOWIEM?
b) Income a) eaeaf
¢) Asset b) cum@omo
d) Liability ¢) @
d) entowym
8. Match the column 'A' with 'B'. 8. &80 A emogo B wymow) ealwpe
(G x1=5) als] G2IA®D ag) LI G x1=5)
A B
a) Direct Expenses 1) Tally / Ex / Sage
eMAIZI8s ©.2181ANEWD s0ell/eDag)dsmy/ qvouy
b) Total Debtors Account 11) Libre Office Base / MS Access
@DOD> HAENIBRYIY @OHHVENE eflierd 830adlay’ e/ ag)o.ag)ay. @oBTVAY
c) Accounting software 11i) | Credit sales
@0HOVENSloU) BLOANFOIQD el eveiladmy
d) Identifier iv) | Carriage inwards
60g)OWMFanwd #06MYR enMBEAIBIMY
e) DBMS V) Key attribute
adl.enll.agyo.ag)ar. & @Sl

K-43



Answer any four questions from

9 to 13. Each carries two scores.

10.

11.

4x2=28)

List out any four qualitative
characteristics possessed by the
accounting information to be

useful for decision making.

The stationery items purchased
for business use are treated as
an expense and not shown as an
asset in the books of accounts.
a) Identify the guiding concept
of this accounting treatment.
b) Give any other example of
observing this accounting

concept.

From the given list, identify the

type of errors which cause

disagreement in Trial Balance.

a) Purchases return book
overcast by Rs. 200/-.

b) Credit sales of Rs. 2,000/-
omitted to be recorded in the
sales book.

¢) Purchase of furniture on
credit for Rs. 8,000/- wrongly

through the
purchases book.

d) Cash sales of Rs. 3,000/-

recorded 1in cash book

omitted to be posted to the

passed

sales account.
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9 njo@ 13 cueow)gs 62106)eBElmd

agem®leljo 4 ag)eROTIM SOMOOAPI®)H:.

2 mies00 allmo.

9.

10.

11.

@1 300 M 6813 (D ag)Senim @’
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agemsslelo Moel memavalleuay

QENGEINTI I

ol ©alewousleanmaiimow

BERAHUMO] LOWMENBUD  AUOEIBIM @
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a) aldcoimy oleged  enpesleR
@6 @) mldemellajeatodd 200
ol BISIBEIOEN.

b) ewwlg emaldamy 2,000 @l
oI mise1ed coeUOaS]
omligle).

c) #smo andemlold aedlociod
8,000 @ad altdeojmy eniyseldd
BO6EUOQ SO

d) @yoat nEeI@ cE6UeQ|SIEMI
@fgies 3,000 alal@ies 6o
alememlmgs aflelaim eaveicd

ol @166 0

@B VNS GLIHE

allgieatondl.
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12. On January 1, 2018 Amal sold
goods, having list price of Rs.
15,000/- at a trade discount of
10%, on credit to Benny. On the
same day, Amal draws a three
months after date bill for the
due amount in favour of Benny.
The bill was duly accepted and
returned by Benny. Based on the
given case find out :

a) The amount of bill.
b) The date of maturity of bill.

13. List out the four essential
functional areas or sub-systems

of Management Information

System (MIS).

Answer any five questions from

14 to 19. Each carries three

scores. (5 x3=15)

14. Classify the following assets as
current assets and fixed assets.

a) Machinery

b) Cash in hand
¢) Debtors

d) Bills Receivable
e) Furniture

f) Motor vehicles

K-43
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12, mmyud-1, 2018 o 15,000 oal
ey alleiogs mowmemd 10%
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a) enllad @)d.

b) enfiglond atemo eldlemnm @i

13. ooemzon@® afluo a@OUEI®
(MIS)emlear moel’ (aIwom §al

MO(MIBOWEIBEIOS Bald ag)PIObs.

14 ojo@ 19 cueowigs 62106)eBelmd
agem®leljo 5 ag)eROTIM OMOOALI® LS.
3 Mieod allmo.
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@M® @@ He0eld @RIV ®]

MO GG 16 .0|6P@ b,

a) eaadlmal

b) ee&:Im8s alemo

c) eenisgymy

d) en@dmy dledlauenNad

e) andemlod

f) 206300 QIOAOMEMHD
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15.

16.

17.

18.

Distinguish between the
'Journal' and the 'Ledger'.

Develop Accounting Equation

for the following transactions :

a) Started a business with cash
Rs. 80,000/- and furniture
worth Rs. 20,000/-.

b) Goods purchased on credit
Rs. 10,000/-.

¢) Sold goods costing Rs. 4,000/-,
for cash Rs. 5,000/-.

Name the source documents for
recording transactions in the

following special journals.
a) Purchases Book
b) Purchases Return Book

¢) Sales Return Book

Explain the various objectives of

preparing a Trial Balance.

K-43
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19.

The Trial Balance of Kavitha
Traders as on 31/03/2018, shows
Debtors of Rs. 81,000/- and Bad
debts of Rs. 3,000/-. At the time
of preparing the Final Accounts
they decided to write off further
bad debts of Rs. 1,000/- and to
create a provision for doubtful
debts at 6% of the debtors.

Pass the necessary journal
entries for adjusting these items

in the books of Kavitha Traders.

Answer any three questions from

20 to 23. Each carries four scores.

20.

21.

(3 x 4=12)

Explain the implications of the
following accounting concept.
a) Business entity concept

b) Dual aspect concept

¢) Matching concept

d) Full disclosure concept

Write any four examples of
transactions to be recorded in

the 'Journal Proper'.
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22.

23.

Pass rectification entries for the
following errors located in the

books of a sole trader.

a) Sale of old furniture for Rs.
3,500/- recorded in the sales
book.

b) Wages paid Rs. 2,000/- for the
erection of a new machinery

debited to the wages account.

¢) Credit purchase of goods
from Kumar Traders for Rs.
5,000/- was posted to the
credit of Kamal Traders

account.

d) Goods costing Rs. 3,200/-
taken over by the proprietor
for personal use was omitted

to be recorded in the journal.

Explain the two methods of

arranging various items
(Marshalling) in a Balance Sheet

by giving suitable example.
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OMQIH D M@l loleniom].

MHAUWIOS ®IEHE  CRDEM @

a)MDSIBRD  ag)PIBbs.
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Answer any five questions from 24 o)o@ 29 cueow)gs @2l03yBRElM®
24 to 29. Each carries five scores. aemsslelo 5 ag)eRATIM OOMAOAPI®)H:.
(G X5=25) | 5 nsaeod almo. (5 x 5 = 25)
24. Prepare Rajan's account in the 24. cwoatoeNe® enyesl@ 0omen
book of Gopal, by posting the @ BOVNE ®QYO00HS], M@BI]
following transactions and ®OJM 0SalOSIBHD al®lal ®ysd
brought down its balance to the 20MOO® (0006  Mleslwlalaf
next month. @63 1S 660>
2018 2018
March Rs. @00 Mo .
1 | Amount due from Rajan 12,000 1 | eomold@ omlomie eldlenomes
5 | Sold goods on credit to Rajan| 8,000 D> 12,000
5 | 00mM HSEWIG MOWMERUD
12| Rajan returned goods worth | 1,000
ange 8,000
21 | Received cash from Rajan 5,000 12 | comd quowmensd asosi
MR Q@ 1,000
21 | mogmied allomyio alémo el€loj@ | 5,000
25. Prepare a double column cash 25. @1 N0len;Mm  0Sal0S &
book from the following e 2018 =miaiel aomeeD
transactions for the month of D056H9980 S0 o306
January 2018. OGOOOBNS.
2018 2018
January Rs. 000 o
1 | Cash in hand 14,000 1 | epdaicnngs alemo 14,000
Cash at bank 32,000 enIoBIeNas alemo 32,000
5 | Purchased goods for cash 4,000 5 900860 alemEIa MIWMEBA
QUoEREl® 4,000
9 | Issued cheque to Rajesh 8,000 9 | cocmtll®s oalss M@0 8,000
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15

18

23

27

30

Cash withdrawn from bank

for office use
Paid wages
Sold goods for cash

Cheque received from

Mohan, deposited into bank

Paid salary by cheque

5,000

1,000

6,000

7,000

3,000

26.

Prepare a Bank Reconciliation

Statement as on 31/03/2018,

from the given details :

a) Balance as per cash book

Rs. 18,000/-.

b) Cheque

presented for

issued but not

payment

d)

K-43

Rs. 6,000/-.

Cheque paid into bank, but
not collected Rs. 9,000/-.

Interest on deposit credited

in passbook only Rs. 200/-.

Insurance premium paid by
bank not recorded in cash

book Rs. 1,000/-.

11

15

18

23

27

30

60adlm’ @AICRYETTIM 6r0s:IEd

mlmyo alémo allddauello)a
el OS5 EHE

QUOWMETBUID HDIHEO Al

o

allg®

@@0a0MI@ mlomy eldla)

62156 NI0BITd MNBBBIQ®

6.21HNLIROS VMO M@ Q@
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7,000

3,000
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217.

28.

Arun Traders purchased a
machinery by paying Rs. 30,000/-
on 01/04/2015. They decided to
write off depreciation @ 10% per
fixed

On
01/04/2016 machinery having

annum under the

installment method.
original cost of Rs. 10,000/- was
sold out at its book value. On
01/04/2017 another machinery
was purchased for Rs. 15,000/-.
Prepare the Machinery account

for the first three years.

Anu sold goods worth Rs. 60,000/-
to Beena on March 1, 2018. For
ensuring the payment, Anu
draws a two months bill on the
same day and Beena duly
accepted and returned it. On
March 4, 2018, this bill was
discounted by Anu with her
bank at a discount of 10% per
annum. But on the due date the
bill was dishonoured for
nonpayment.

Pass the journal entries of the

bill transactions in the books of

Anu.
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29.

Mrs. Sundas started a coolbar on
April 1, 2017 with a capital
investment of Rs. 1,00,000/-. She
did not maintain her books of
accounts as per the double entry
system. During the year she
introduced further capital of Rs.
30,000/- and withdraw Rs. 20,000
for personal purposes. On March
31, 2018 her financial position

was as follows.

Rs.

Total creditors 1,00,000
Bank loan 80,000
Total debtors 50,000
Furnitures 2,00,000
Stock 50,000
Cash in hand 12,000

Cash at bank 18,000

Calculate the profit or loss made
by Mrs. Sundas during the first
year of running the business, by
using the Statement of Affairs
Method.

K-43
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wlaml. mymom’ 1,00,000 oo
oelwm aledtalymo@f ogell@d 1,
2017 o er) HydenIod @DOoEla).
Qg)MO@ O3  EOEUAQ|SIOTDED
A@IQA@ O INEBIOG B6MB6LUD
auyflonilg). msa] Aldaro 30,000
0ol @oWld MBIWMAIW ©BI6NE)
Aol 20,000 oot quIe00)
@OUYEIBWDHE enllailmavl@ alloango
all@alelonisWio ool ®giens.

aodal” 31, 2018 ea @oIOYeS

MO N @101 o> ol @l ®O6Y
M@l @M.
(@3at)
@DOH> 6)B-UBRYMY 1,00,000
61085 QIO 80,000
@O HAENIBRYIY 50,000
an®6ml.a 0180 2,00,000
MBRODE) 50,000
060BHONMEE aleMo 12,000
UOBIENSS alémo 18,000

mgmomled milmin@led eoa)
QUBHUOE@D BIOB0/MarSo, WMEHOMY
1513 001®] 9aleowla)

6N3)0 151666
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Answer any one question from
30 to 31. which carries eight

scores.

30. Prepare the Trading and Profit
and Loss account and Balance
Sheet from the given Trial

additional

Balance and

information.

(1x8=8)

FY 49
30 90 31 9o @aloB)EIBEIM age®e:Ell0

amilm 9EMmEeP)M . 8 MEEod allmo.
(1 x8=28)

30. m@Bsl0lgies (W@ eI,
aowld  allaleesd  ag)omlolw]d
mlomge  enflavimquleod  alydoalow
RIOB-MaHS &H6MHE) 6nIORIMBMY ol

)M GQOOIHEH.

Trial Balance as on 31/03/2018 / 31/03/2018-6r! (s@@d sniocicday

Account Title

@OHOVENSION Gald

Capital
y0allq®d

Machinery

anadlnol

Debtors

aaenicnymy

Drawings

GWolemsny

Purchases

al®eo

Sales

@V

Creditors

e dHleRYmy
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Debit (Rs) Credit (Rs)
eaenllg (dal) | ed@-allg (©yal)
— 60,000
27,000 —
21,600 —
2,700 —
58,500 —
— 73,500
— 1,400
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Bills payable - 2,800
enl@d o’ eolenlcd

Wages 15,000 -
Je¥E-01i)

Sundry expenses 600 -

en(El ag)dBieIaladmye-0d

Rent and Taxes 1,350 —

OO @RI SOBTVMY

Carriage inwards 450 -

0B MABOdAUWMY

Cash in hand 4,500 -
0o
Opening stock 6,000 -

Bajemlens eROBs)

1,37,700 1,37,700

Additional information : @oWld allaloesud:—
a) Closing stock is valued at a) egomlem megossiod melo

Rs. 18,000/-. ol allgleleaymae 18,000
b) Wages outstanding @301 @RQAZ06M.

Rs. 2,000/-. b) #sldle ecumay 2,000 ogal.
c¢) Prepaid rent Rs. 350/-. c) 0@ mdengl m@dslwe 350
d) Write off Rs. 1,600/- as bad 4.

debts. d) &lgoeesmo@l 1,600 @©yal
e) Create a provision for HEMBEOLIFI®EMo.

doubtful debts at 5% of the e) MoWoMald SSODIMI88

debtors B0 awsnisgemio 5%

201 & UIQIBeHEMo.
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31. Explain any eight adjustments

usually needed to ensure that
the final accounts reveal the true
profit or loss and the true
financial position of the
business.

(Hint : The journal entries of
various adjustments and their

treatment in the final accounts

should be included).

31.

FY 49
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March 2019 Reg.No. cucceeeeccneeeccneeeecceneeenns FY 50

Part - I11
ACCOUNTANCY WITH COMPUTERIZED ACCOUNTING

Maximum : 60 Scores
Time : 2 Hours

Cool off time : 15 Minutes

K General Instructions to Candidates : x

alleyodmdls:@66)88 6al1om) MdequaB®d:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

rldgladis oM ajoen 15 almlg ‘@i &dal 66so’ oensoRfl@leanoe.

‘@b Boal ©6S0’ G2I0EYIBW al@lalQWea|SOMio HETHOBWD @DAVY®6EMO
£21Q0MP0 HalBIUHE)H:.

MIRGGULEIBU MILIMI YBERLIABQ o AUOWIBHEMO.
HOMOEIBUWD ) PAOYM@IMN MM B2IdBYETBWHD (BERLIABQe UIWIBeEMo.

BH6MBE)  8HISINBRD, 2l@EMBMR, (N0, ag)milal OOMOGla]GIEd ®eam
©ensoQfl@lesemo.

B2I0BYEIBW DAIWIgETIRle M@H:lRIgNS.
@OOUCYMER MVOLIGD MVACUIBYETBRD 61B0SIHEMo.

G (IO(NODIHUWD 6).21QOMIBIMD HOIMHNICLIQNIH WD BF10HHW IS 60}
EDRIBB(SOEMIE HaldhOemlio al@ldHInndE® HalEOUlHeIIOM aldslg). /
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FY 50
Answer all questions from 1 to 9. 1 )o@ 9 ueew 88 ag)g]o 8210B)ETBWEN )0

Each carry one score. 9%x1=9) | someearme. 1 miesod allme. (9 X 1=9)

The statement prepared to test
the arithmetical accuracy of the
books of accounts.

a) Balance Sheet

b) Trial Balance

¢) Profit and Loss Account

d) Journal

Pick out the WRONG pair.
a) Land, Building

b) Cash, Stock

¢) Debtors, Machinery

d) Copyright, Patent

Which one of the following is
NOT an element of Computer
System?

a) 1Q

b) Hardware

¢) Software

d) People

A bill is 'noted' when it is ..........
a) Discounted

b) Honoured

¢) Dishonoured

d) Endorsed

K-44

BN 63000 BOLOVENSIONN s> )EY®
al@leLOWIHHHIM GOUENEl MYOOIHE)
mna.

a) enIodsi all@o

b) Wadis al@o

C) BIDEMAYS &M

d) modauyl

omg @RIZIRE GROW! HEONSOTOIE:.
a) e, enllddalory

b) alemo, aEu0ssY

c) ewenigd, eaarimd

d) aldbdaueduo,

AIRAMMOEMOUHSHIU00

®O6Y alo@MAIWI@ droalysoled
2QISHORJOOB af®)?

a) 6qg).dy)

b) a0odweIWR

€) GMoalgeIQd

d) alafid

a0 gl 6Mog ©o1YIM® @R®
...................... 6.2 1Q)IEMIOPO6.

a) alaseens

b) canoemd

¢) alniganoem®d

d) spadewovmy



Which one of the following is
NOT a contra transaction in Two

Column Cash Book?
a) Cash deposited into bank

b) Opened a new account with

bank

¢) Cash withdrawn from bank

for domestic purpose.

d) Cash withdrawn from bank

for office use

Which term refers to writting-
off the cost of intangible assets
like Patents, Copyright, Trade
Marks etc?

a) Amortization
b) Depletion
¢) Obsolescence

d) None of these

Fill in the blank with suitable

'data type' on the basis of hint

given.

a) Emp Name : Text/ Text
(Varchar)

b) Emp Salary : ...

K-44
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®O6Y aloWMAIRI@ 06 GHHO80
@00t LB BBHIM(S 0SSO

QUEIOE of®?
a) alémo 6n0ssl@ miledallo)
b) 10w a @il @REeVENE ®sEvE]

c) enuossl@d mlmmyio aflgoalvey@m)
mo EDpTaly alémo

aflddauellol).

d) eosmlad  mlmio  @adlay’
@YCUGYEIMOQS ©SAMAM alémo

aflddauellol).

M'al®UWlH608MO, BAWH66H06MO
alo@Em @ERM@I&H® @O 0Ildomoem
@OOUBIN@TYS, Balgadal, eseflal
20AHS oMU ag)ei®] @88 M@

Mol HAIGWIUHHIM alBo a@@O6M.
a) ®oe2IASVIGMAUM

b) awlgjauad

¢) aeeniaavalmmdmy

d) sncue@omyog

@RS V2 INM@IOS @OSIaAVAOM

OT@ ‘Wog eeSa] ag)PIeIs.

a) Emp Name : Text/ Text
(Varchar)

b) Emp Salary : ...

Turn Over



8. 'While preparing final accounts,
outstanding wages is added to
the wages account'. Identify the
accounting principle related

with this statement.

9. Calculate capital at the

beginning.
Closing capital Rs. 6,00,000/-
Profit for the year Rs. 40,000/-

Drawings during the year

Rs. 58,000/-

Answer any five questions

from 10 to 15. Each carries two

scores. (6 x2=10)

10. "Even though computer posses
many capabilities it suffers from
number of limitations". Mention

any two limitations.

11. 'Accounting is a post mortem
survey'. Do you agree? Justify

your answer.

K-44
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8. ‘90a0m@ @oenVME ®QYO00HE)
GO MEIBIMIBE BAUMMo, MOIBIW
BQUDMBEDOS BxISYM}." D0 QUOBYET
@ (IVBSHEAIQ @BOBHDNEIoU) @D

Q®O6m?

9. @EDOREMINRI MPLIWMO BHOENSBMIH:.

QURAOTY MILILMo - 6,00,000 @

msa| AUdareom eoco  — 40,000 @yl

msa| Abane®® OMaig — 58,000 mal

10 oyo@ 15 cueowigs G2106)emalmd
agem®leljo 5 ag)eROTIM SOMOOALI®H:.

2 mies00 allmo.

10. “®0alys0ie@es Woroso BN IEW
96 6MmE8slRllo U B6) aflel
aldlal@leglo H6ME." aRe®BIelo ©eNe

a1A12l@ WD B6IOQ|SIOTDIE:.

11. “@oseevemslory’  omMm® 80y
BalOMIREMOdZ0 MdGQ@IeM.” MilemUd
O®IEMOS’ e oKl H6))(MYEGENS0 ?

MEBRIOS HODOEE TVOUBDIBE)b:.

(5 x 2 = 10)



12.

13.

14.

Identify the following symbols
used for constructing ER

diagrams.

Entity

a)

Write the treatment of return
inwards and return outwards in

the financial statements.

List out any four advantages of
computerized accounting

system.

K-44
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13.

14.
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ER wowo ®©oooseniemiond
£aIEROUIENMM MIOY OEOSIOTUES

2lamemid @16loyCle)d:.

a) og) B

Il
~

by N / = .l

o
~
Il

~

Wm0y al@omle olege

sdeusay, olege evgeyay

ag Ml 6S BO6UO QSO M
Qg)PIO)bs.
Hoalyigeeoamlw’  @oenvenslowy

wiggemled oge®sslele  moel

COMABRD ag)PImH:.
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15. Complete the following as per

FY 50

15.  qupoim @emymdle] al)deooaleas:.

hint given.
Transaction Effect on business
60SaloS enflmiimqlengs aujoulimo
a) Purchased good for cash ® Increase in asset

alémo M@l MVOUWMo Q63

QIO EIGIETHF =) aao)]

® Decrease in asset

@OV B)OQIM)

b) Bought furniture on credit ® . ST
andemla® esemlay o]
® 2 e
c) Bank loan repaid ® . ) ST
6108 QLOWal @1d@lalsal)
° 9

Answer any two questions from
16 to 18. Each carries three
scores. (2x3=6)
16. From the following particulars

ascertain credit sales.

Particulars Rs.

Debtors as on 15 April 2017 25,000
Debtors as on 315 March 2018 | 40,000
Cash received from Debtors 50,000
Discount allowed 7,000
Bad debts 3,000

K-44

16 o)o@ 18 cuenwigs Ga106)eBRslmd

agem®leljo 2 ag)eROTIM 9OMOOAPI® LS.

3 miesod allmo. (2x3=6)

16. ©oey m@LIIdlen;m allcieessld
mlamgo &semlmas aflde|mwies

@ WldeNQIBe)H:.

QlltdB20UEBBUD @l

eenierYmy entopidmy 1-4-2017 25,000
eaveniegymy entopiddmy 31-3-2018 [ 40,000
aaeniegymilad allomie el @ye» [ 50,000
AWINIBEeVENE MBI Q@ 7,000

&S0 HSo 3,000




17. Briefly explain any three
components of DBMS.

18. Calculate cost of goods sold for
the year 2017 with the help of the

following information.

Particulars Rs.
Opening stock 80,000
Closing stock 1,30,000
Purchases 3,75,000
Sales 6,00,000
Carriage inwards 7,000
Carriage outwards 4,000
Wages 12,000
K-44
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17. DBMS-60 agemsslelo 3 eoISo6m30d
210166 AUNUGH6H>.

18. ®oey melslaidlenym allvwaoowems
B acdlnemley 2017 udcueom
‘BRH0ME B0al MW BIVLODAW”
1R @860

QlltdB20UEBBUD @l
QUBHIMOB 210H9)), BUIEUO 80,000
QURHID)Y 210H6)] BLIEUOO 1,30,000
al®dojilmy 3,75,000
Qe 6,00,000
#H06MYE ENMEUYMY 7,000
0B BVZFBULIY 4,000
caURMY 12,000
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Answer any three questions

from 19 to 22. Each carries four
scores. B x4=12)

19. Akhil has the following

transactions.

a) Started business with cash

Rs. 5,00,000.

b) Purchased goods on credit
Rs. 40,000.

¢) Sold goods costing Rs. 27,000
on credit for Rs. 30,000.

d) Bank loan received

Rs. 80,000
Prove the accounting equation.

[A=L+C]

20. Rectify the following errors.

a) Purchase day book overcast

by Rs. 500.

b) Salary paid to Mr. Kumar is
debited to his personal
account Rs. 26,000.

¢) Purchase of goods from
Geetha Rs. 2,500 is omitted

to record in day book.

d) Sale of office furniture for
Rs. 4,000 posted to sales

account.

K-44
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19 ojo® 22 cueowigs 82106)emBgl@
agem®leljo 3 ag)eROTIM OMOOALI® LS.

4 mieso0 allmo. B x4=12)

19. @oalelal’ ®oeve oM gnSalos)edd

enfladlnqilad mseeMy.

a) 5,00,000 oyl alemaoe) e
alla] enfladlnq) @oeoEley.

b) mowmemR Hsmo] AoeEl
40,000 ool

c) 27,000 0ales omElw
mowmemd 30,000 oal1we

&Sm0 aflgy.

d) enuoss emioend el€loye 80,000
g

@B VNS00 MaOB)0

omgllons. [A = L + C]

20. ©06% 6©@0sIEWTIBOM OB®RIHRD

QYIS

a) aldeoay ew enies 500 oal
@O0 MBI,

b) ®@odly m@el 26,000 ool
WMIBo BOBGFAODTIEN QUYBGIND®
BHHeMBSIcRlns) aenlly 6.olimy,

c) Sowwes eesed alom 2,500
MalWIOS MOWMo U@
W MBS COEIOQ|SIODOM
allgieatomdl.

d) 4,000 o@ies  @adlay’
andemlo)d uoesle® emelcdmy

@OHOVENSI@ Balogy ©.21Q®).



21.

22.

On 1% May 2017, Krishna sold
goods to Kripa for Rs. 20,000 and
drew a bill of exchange for 3
months. Kripa accepted the bill.
On 1% June 2017 Krishna
discounted the bill with her bank
for Rs. 19,500. But on the date of
maturity of the bill, Kripa was
unable to make the payment.
Pass the journal entries in the

book of Krishna.

A company purchased a

machinery for Rs. 50,000 on 30"

June 2015. Depreciation 1is

charged @ 10% under straight

line method and accounts closed

on 315 December every year.

a) Show the Machinery account
upto 31%* December 2016.

b) Distinguish between straight
line method and written
down the value method.

Write two points.

K-44

21.

22.

FY 50

2017 ea@’ 1-a7 &yedem 20,000
0JalWIOS QVOWMEMBWD &yl W'ee)

o

&HSODIM U@ HOIHQIo MM
QOVOED  BHORIOUWIRIG &y enll@d
Qf)PIBHWI0 ©21QIMY. 0D enfl@d
Byl @ooUSldaleenymy. 2017 1o
1 af dryadiem a0 enflad @6 6n108sl@d
mlmyo awlmieevens eolwia 19,500
ot aflé@lengmy. aless enllgflod
®0RI0OUUWBE) dhjal aléMo M@EMIL).
BHJadeM@OS e H®IMOW]
MIMWeQ]s 6ROM@  ag)M (Sl

GOEUOQ|SIOTDH.

8ol Ssouml 50,000 oju@yes
alegg eaadflnol 2015 eend 30
o cossdl 10% cuodadles mlossdd
wl(aflvlewastd Mslq e6eim
dlallad aggjo aldaxalio awlaoenid
31-07 demads) @B oHaMy ag)m
avgsela oMl ed
a) 2016 almosrud 31 cueowi8s
60eHIMNA] @OEVENE BQOOILE)Es.
b) ameswlg eea® dalwp Clgem
D6

dl@®ie ®mlenas

QY®YOM0 (2 GaloI) ag)Pi®idbs.

Turn Over



Answer question numbers 23,

24 and 25. Each carries five
(3 x5 =15)

scores.
23. A portion of Trial Balance on 31
December 2016 is as follows :
Sundry Debtors Rs. 62,000
Bad debts Rs. 4,000

Additional information :

a) Further Bad debts to be

written off Rs. 2,000.

b) Create provision for bad

debts @ 5% on debtors.

Give journal entries and show
how this items will appear in the

final statements of the business.

K-44
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23 o)@ad 25 A1 af)e]o G2ldB)IBWHS)

DTN, O MEHId allmo.(3 X 5 = 15)

23.

2016 adlwoenu®d 31— (s®
euoRIMMION B0 GIWo ®IOY
M@l @M.

aqvadsl aendeggmy 62,000 mgal

enuoaw abeniqmy’ 4,000 @gal

@omgentaw llaeBd :

a) EoWlBnoW] &I5060S0 ag)Py®l

meggens@ 2,000 oyal.

b) aweniegsmilend 5% move@omial
300 &153080sEBIM GalME]

20g] QU HE}H.

GREM@  af)M(SIHDB  af)PI®YHs.
enfladlonqil@d adlmoaxy@d egurieaaglcd
QI ag)emEem (al@lanelleaninmy agony

H06MIBE .
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24. From the following particulars, 24. ®009 0m0s)EWIT1EOM AN
prepare an analytical petty cash 816s @oslaunomers@d 2018 mauoenid
book for the month of November DOVOEM AOMEIGIEO ald] @00
2018, under the imprest system. o1y ee Do (g ol @

®QOOIH .

2018 E b
November Rs. 2018

mQloenId Rs.
1 | Balance in hand 87

1 £6OdI00a 6Mo 87
1 | Cheque received from

main cashier 413 1 | (dwom alemo el issonaia
mlmyo eicle) .o1d6) 413

3 | Stamp purchased 60

3 | ®alomd guomi 60
6 | Stationery 44

6 | ag)eiomy MoaUSledd 44
8 | Printing charges 62

8 (o NlBlowy 210ed 62
10 | Cartage 50

10 | clesemyel 50
14 | Travelling expenses 64

14 | wooealelnl 64
15 | Repairs 74

15 | Olojd 74
26 | Paper & Pencil 38

26 | cala|d, ealmmilcd 38
30 | Telephone charges 28

30 | esellegnnoemd aloded 28

K-44 11 Turn Over



25.

On March 31, 2017 the cashbook
of Mr. Sreejith, a trader showed
a deposit balance of Rs. 48,400.
His passbook as on that date was
Rs. 51,880. On comparing the
cashbook with the passbook, the
following differences

were

observed.

a) Direct payment by three

customer to the bank

amounted Rs. 7,800.

b) Insurance premium paid by

bank Rs. 1,200.

¢) Bank charges debited in

passbook Rs. 120.

d) Cheque issued to a customer

but not presented for

payment Rs. 6,000.

e) Four cheques paid into bank

for collection but not
collected amounted to Rs.

9,000

Prepare a Bank Reconciliation

statement as on 315* March 2017.

K-44
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80} QY I0ClWOW WIEIETIOM B:0aH
neslad 2017 modof 31-0 48,400
@t wleajomilg enioeimm) 9es®on
BHO6MYIMY. )M O@  aldV6NIYBE)
(o1e85000 51,880 Mal@o6N 6rI0RIMDY.
B30 NNBHI0 aldmimliEelo ®amilEd
®OO®Ayo 62AWU®EORD ®IOY

alOWIM QI®IOMEBR HESmOW]

BH06MYMN.

a) 0N HalCRIBMOLHUD 6NI08RsEd

emadlg @osa) ®e 7,800 ool

b) 60wy M@HI@  O@WanioMm’

eflal@o @ye 1,200 mgal.

c) aldmimiesldd wenllg eo1e®

en108% 2100 @ye 120 @ga.

d) ©al18EIB®OQNM ©2l1es M@
ag)ssleljo nI0sl@ Madq{lesnd

@y @ies 6,000 ot

e) moal eales mINmlEd M@l
@REOVENEI@ UOQT QI HHIED

@y 9,000 oyal.

2017 oo 31 o 0wy
Ol e mlell g au saupea
®QOOIBE)Bs.



Answer any one question from
26 to 27, which carries eight

scores. (1x8=28)

26. Consider the following

transactions and record them

into appropriate special journals

for the month of January 2018.
2018

January

1 Sold goods for cash Rs. 48,000/-

7 Purchased goods from M/s Sivaram
Electricals (Invoice No. 2345)
20 Fans @ Rs. 1,200 per piece

less trade discount 10%

10 Purchased goods for cash Rs. 13,800/-

11 Sold goods to M/s Parvathy Traders
(Invoice No. 327)
4 Colour TV @ Rs. 14,000/ per piece
5 Computers @ Rs. 28,000/- per piece

8 Table fans @ Rs. 1,550/- per piece

15 Purchased goods from M/s Ragam

Agencies (Invoice No. 046)
15 Colour TV @ Rs. 12,800/- per piece

8 Computers @ Rs. 26,000/- per piece

20 Cash sales Rs. 3,400/-

K-44 13
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26 90 27 9o 8210B)EIBGIWM afe®e:ELll0

amilay 9omeEea)®ms. 8 Mesd. (1 X 8 = 8)

26. =maud 2018 ear m@edleaim
DSaloS}e8 MINWOQ]S (JEmyds

GRAMENHE| G BO6OQISIOTDIE:.

2018

el

1 VOB aleMOTTIM qVOWMETBW Allge
48,000 ool

7 W00 enelssSlen@milad milmio
LOWMETBUD (IOEEIWE) (ENMBLIOQIMY MU
2345)
20 anomye@® @ 1,200 oy aflmo

QUyoalon &lflal 10%.

10 00660 alem@EBIM TVOWMEBW QORI

13,800 myal.

11 cocum] sssawmlm’ mowmes®d allge’
(enecuo@iay moud 327)
4 580 eselafladd @ 14,000 o afleo.
5 d»oalysoye®d @ 28,000 oyl afleo.
8 @senllid anomdd @ 1,550 @at aflao.
15 0owo og@R@ml@I@ mlonge MOWMENBUD
oemloe (snadecto@imy mmid 046)
15 ®ad eselallatme®d @ 12,800 oal
A@o.

8 doalysoye®d @ 26,000 ot afleo.

20 &o#60 alem@mlm qmvowmemd allge 3,400

®yal.
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28 Sold goods to M/s Alpha Electronics
(Invoice No. 328)
2 Computers @ Rs. 30,000/- per piece

less trade discount 5%

31 Purchased goods from M/s Aruna Ltd.,
(Invoice No. 864)
12 Washing machines @ Rs. 20,000 per

piece less trade discount 10%.

27. Following is the Trial Balance of
Mr. Ajayan as on 315 March 2018.

FY 50
28 @omdand eIBSOEMIB:mIlm) mowmemBw allqey
(spadeuo@ilmy mmud 328)
2 #0alys0ieid @ 30,000 @t afl®o alyoaion
&lal 5%

31 @noyemo eflalgawl@ mlmio MOWMEB WD
oenEl® (enaeciolmy mmid 864)
12 coadloty emadlmied @ 20,000 oy

allmo alyoaldon @l¥lal 10%

27. oozwe 2018 modae] 31-e8 sQ@

EUORIDMY @269 @OMIBlEeIM,

Trial Balance as on 31-03—2018
s eruoeicdmy 31-03—-2018

Particulars
AltoE0006RWD

Debit Amount Credit Amount

Opening stock
(atoroe afleslfloga] 2loss

Purchases
aldojimy

Sales

Lt lla)
Freight
210H6))8xell
Salaries

MU0

Sundry Debtors
vl aeniegymy
Sundry Creditors

aqvemall (@-aslegemy

Land and Building
210y @ad enllddauslowy

K-44
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24,000

1,38,000

2,68,000

24,300

65,000

26,000

24,000

1,80,000
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Interest — 600
alefllve

Rent 8,000 —
QI0SH>

Furniture 15,000 —
an®emla®

Insurance charges 800 -
E0MaUIOMMY 210dgmY

Capital — 2,07,400
0allg@
Cash in hand 7,200 -
B0
Cash at bank 11,700 —
6110885

5,00,000 5,00,000

Additional Informations : @omyeriaw Al —

a) Closing stock was valued at 2) Qa0 eauods’ 40,000 @y,

Rs. 40,000/-.
b) elg@leow alosnsel 2,000
b) Freight outstanding
Rs. 2.000)/-. c) O)PBD ©BIS)O® g 5,000
c) Salaries prepaid Rs. 5,000/-. d) andemloyd emeimomoe 10%

. ) o
d) Depreciate furniture by 10%. ¢) aelr elsomead 200 .

e) Internet accrued Rs. 200/-.

. . 2018 moda] 31-a7 @oamomlesnyam
Prepare Trading, Profit and

. QAUBHOOD  BI0EMaUS  BHEMBO0
Loss account for the year ending

eUORIDMY adlQlo BYIOIHEH:.
31-03-2018 and Balance Sheet

as on that date.

K-44 15
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Part - 111
MATHEMATICS (COMMERCE)

Maximum : 80 Scores
Time : 2% Hours
Cool off time : 15 Minutes

K General Instructions to Candidates : \

afleyodmile: @688 ealom) MACGUEB®D:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

mldgladis oM aljoen 15 almlg ‘@i &dal 66so’ ©enso@fl@leano.

‘@b Boal ©6S0’ G2IdEYIBW al@lalWea|SOMio HETHOBWD @DIVY®6EMO
£21Q0MP0 HalBIUHEH:.

MIRGGULEIBI MILIAMI YBERLIABQ o AUOWIBHEMO.
HOMOEIBUWD g)PAEYM@IMN MM B2ldBYETBWHD (BERLIABQo CUIWIBeEMo.

BH6MBE)  8HISLINBRD, 2l@EMBMR, (N0, ag)milal OOMOGla]GlEd ®eam
eens0Qfl@lesemo.

B2I0BYEIBW AIWIgETIRle M@H:lRIgNS.
@OOUCYMEE AVOLIGD MVACUOBYETBWRD 61B:0SIHEMo.

G (IO(NODIHHUWD 6).21QOMIBIMD HOIBMHNICLIQNIH WD BF]1OHW IS 60)
EDRIBB(SOEMID: Haldhoemlio al@ldHInndS@ HalEOUlHeIIOM aldslg). /
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Answer any six questions
from 1 to 7. Each carries three

scores.

1. Inaclass, 38 like to play cricket,
20 like to play foot ball and 8 like
to play both the games.

a) Represent the data by using
a Venn diagram.
b) How many play exactly one

game?

If (x+2, y-1)=(5,4), then
the values of x and y are ......
b) Let f(x) = x?
g(x) =x-1 be two real
functions. Find (f +g)(x)

and (f+g)(2).

and

3. If Z=1+.3i
Find :
a) the conjugate of Z.
b) the Polar form of Z.

K-26
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1 oo@d 7 cueowas 62103)emalad
agem®leljo 6 ag)eROTIM 9EMOORPI®H:.

3 Mies0d allmo.

1.  eqgoqiee 38 @gleides @long
Halenymmio 20 HISleBes anls-
GENIOD BHEHOUM®P 8 &Gl DBEY
(ORI aNISEMNIORI0 BhElHNM®Y
EDaHSMOEN).

a) omlelenim wogq 80y ealm
2fl@owlees eleduwla]lead:.
b) ag)® HiSlHBD 80y Sl ad@o

DHENBOYMY.

(x+2, y-1)=(5,4) @6 6M B

@, X-OMWio Y-QeSQo Qlleld:d

b) f(x) = %2 ,g(x) =x-1 agml
a 06 el aneBayMyE:80
oemedad (f+g)(x), (f+g)(2)

ag)mlat BensiallSlee)es.

3. Z=1++/3i o0emeId ...

a) Z-oM B 06 RIEMNY
N30 151666

b) Z-e 8al0ogod Myalo
N30 151666

(6 x 3=18)

(2)

(1)

(1)

(2)

(1)

(2)



4. a) If "C; = "C;, then the value
of nis ..........
i 4
i) 10
iii) 21
i) 7!

b) How many 4 digit numbers
can be formed by using the
digits 1 to 9, if the repetition
of digits is not allowed?

5. a) Ifthe n' term of a Geometric
Progression with first term a
and common ratio 7 is ......

i) ar™!
1) ar"-1
iii) ar”
iv) a"r

b) In a Geometric progression,
the second term is 12 and the
fifth term is 768. Find the
first term and common ratio.

6. Consider the points A (2, 3) and

B(4, 2). Determine :

a) the slope of the line AB.

b) the equation of the line AB.

¢) the slope of the line which is
parallel to line AB.

K-26

(1)

(2)

(1)

(2)

(1)
(1)

(1)

a) "C,="C; mpeemssdd

1) 4
1) 10
1i1) 21
i) 7!
b) 1 @@ 9 oW ®OHEBWD
9aleomlay, @10 £6) 6513 (D

@YU HH0O®, ag)@ MILIHE

Mo6Lyde-0d Mldamle 0.

a) 80) MameMm® 6Uyemwes

&Moo alBo Q-0 6ald®)
WYMo I"-9o @RWOM BOGI6M
n-%0 alGmoen ...
i) ar™?
i) ar”-1
iii) ar®
iv) a"r
b) &ryamene euyeniwes osnsoo
alBo 12-9o @600 alBo 768-00
@M. B(MOo alBQlo ©aldmy

1EMEBNUY0 NSl llSlee)]ds.

A(2,8) , B(4,2) agarl ey
HOWD al@lWEMIBE .

®O6Y 0SSO O] HOYM AL
6N3)0 151666

a) AB agm eoeu@es aldal

b) AB agm coeu@es cvaiosso

c) AB agmm coeu@®es) M@dmE0]

QO™ GEEIWOS 2ldlal,

(1)

(2)

(1)

(2)

(1)
(1)

(1)

Turn Over



7. a) If A and B are mutually
exclusive then

P(AﬂB) 1S .....
b) When two dice are rolled

events,

once, find the probability of
getting a
than 10.

sum greater

Answer any eight questions
from 8 to 17. Each carries four

scores.

8. Let A={2, 4,6} and B={1, 3}
Find :
a) A B
b) the number of relations from
A to B.
c¢) the Roster form of the

relation

R={(x,y):y=x-1,xT Ayl B}

9. Consider the statement,

1 1 1 1 1

P(n): =+—+=+. .. +—=1-—

( ) 2 4 8 2" 2"
Prove that

a) P(l) 1s true.

b) P(n) is true by principle of

mathematical induction.

10. Find the square root of the

complex number 3+41.

K-26

(8)(4:

(1)

(2)

32)

(2)

(1)

(1)

(1)

(3)

(4)
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7. a) AB ogmial alomialoo &¥lal
90 siMma@o® (Mutually
exclusive) snauBie80606mel@
P(ANB)

b) o6’ eeWHD 80} (a0l
HMISIWOM, @YD Al@BIGMHNHOWD
HISIMRI0SHOMBE  Glatoenienlleld]

6N38)0 151666

8 nyjo@ 17 cueow)gs 62106)eBslmd
agem®leljo 8 ag)eROTIM EMOOAPI®H:.

4 Me9d aflmo.

8. A={2 4,6} ,B={1,3} eoesrid
HNOZ, @IOY OB ISIOMIM]H60MAl
6N3)0 151666
a A" B
b) A-wlad mimype B-wleaissigs

MIMWETBRIAS ag)emo.

(8)(4:

(1)

(2)

32)

(2)

(1)

c) R={(x,y):y=x-1,xT A, yl B}

)M INWETIO] c0oERd @alo. (1)

gy (IAV®IQUM  al@lwen]ee)d:.
a P (1) ARIOEMT OB QE6))bs.

b) @NBrafld &oad” mommElEOC
EOMWBUMD Oaleousla] P(n)

©EloeMMT OS] B8,

10. 3+4i agm 6H:00g BN MV0ELYWIOS

QUBQMBIO B6M:.

(1)

(3)

(4)



11. a)

b)

Expand (1- 3x)5 by using

binomial theorem. (2)
Find the term, independent

of 'x' in the expansion of

12
e 10
x+—+
& x5

(2)

12. Consider the point (1, —-2) and

the line x- 2y+3=0.
Find :

a)

b)

13. a)

b)

K-26

the distance of the given

point from the given line.

(2)
the equation of another line
which is perpendicular to the
given line and passing

through the given point. (2)

(1)

Find the sum to n terms of

the sequence 7, 77, 777, .......

11.

12.

13.

FY 51

a) 066miemial@ @Woo §alewd

Aol (1- 3x)5 Qflatellosd 066,
12

b) ?C"';% -0 alaljeimalesl

%' 9BOSOE® alBo Hensialls]

B>,

(1,-2) agyom enflazyaiye x - 2y+3=0

)M BOEUWIO al@lWEMILE .

a) @mlalenym eoeul@ mlmyo
omladlenymm enfla3yallealsanes

BJ00 6N (IS|H6Hs.

b) @midlenym eoeIHs elosnimd
o @mldlenm enflazalleyes
@SN} BalOB)M@IMOW AORODY
BOEIWIOS A0 0

6N3)0 151666

a) S, =12+22+32+..... . +n?

b) 7, 77, 777 g 8wy

WS @BOBOOD N alGaBR8IOS

®)B> 6N (1S1H6) .

(2)

(2)

(2)

(2)

(1)

(3)

Turn Over



14. Consider the parabola y? = 8x .
Find :

a)

b)

c)

15. a)

b)

16. a)

b)

17. a)

K-26

the focus of the given
parabola.

length of the latus rectum of
the given parabola.

the equation of a circle with
centre at the focus of the
given parabola and having

radius 5 units.

The distance between the
points (=2, 1, 3) and (2, 1, -3)
1S eeeerne

Find the ratio in which the
YZ plane divides the line
segment formed by joining
the points (-2, 4, 7) and
(3, -5, 8).

Lim f(x+h)- f(x) :
Koo s
i) f(h) i) fqh)
iii) £9x) iv) 0

_x+Sinx

If y=—————, then find

dy
x- Sinx x

d

The contrapositive statement
of pb qis ............

i) gbp

1) ~qgb ~p

i) ~ pb ~q

iv) ~qb p

(1)

(1)

(2)

(1)

(3)

(1)

(3)

(1)

14.

15.

16.

17.

FY 51

y2 = 8x ag)M al®OG6NIO8 aldlwenla)

®O6Y 6 0SIO O] HOYM AL

6N3)0 151666

a) omMIRlEHIM al0ICMNIOSWINS
BaNOHEV.

b) @mlclesim aleocIogWieS
RIORMY OOE:SO.

c) @@oo 5 @iemlglo @& (Mo
®MIRIHHIM  al0ICMNIORWIANS
BaN0HH V0 @0 3 (M
QIEDOTOWP VACIOB0.

a) (2,1, 3),(2,1,-3) ago enflazy

D OOIENSS BJOO0 ...cnee.. @6N).

b) (_21 4’ 7)a (3a _5, 8) OQ)(TT')G]
nllm3ieed cwoKlallenim coelo
eUMWe O™ YZ ®elo af® ®ooud

UMWOTIE BOUIB6M)?

) f(h) i) fYnh)
iii) fqx) iv) 0

b) y_x+Sinx 1% dy

= 66M 8 —

x- Sinx ©® dx
6N3)a 151666

a) pP q oM (mmomies
B06M (SO BatoaUIGlal ...
@06N).

) gbp

i) ~gb ~p
i) ~pb ~q
iv) ~qb p

(1)

(1)

(2)

(1)

(3)

(1)

(3)

(1)



b) By using the contradiction
method, prove that "f11 is

irrational". (3)
Answer any five questions
from 18 to 24. Each carries six
scores. (5 % 6 =30)
18. If U={1,2,3,4,5,6,7, 8

P={2,3,4,6,17}

Q={1,3,6, 8}

a) Determine PUQ, P- Q@ (2)
b) Determine P¢ Q¢ (2)
¢) Verify that

(PUQ)%= PN Q¢ 2)
19. a) Convert 3 radians to

degree measure. (1)

b) Show that
Sin7x + Sin 3x — Tun 5 (2)
Cos Tx + Cos 3x

¢) Prove that

Tan3xxTan2x xTanx =

Tan3x - Tan2x- Tanx (3)
20. a) Solve the inequality

x, (5x-2) (7x - 3) (2)

2 3 5

b) Solve the following system of
inequalities graphically :

3x + 4y £ 24

x+ y3 3
x3 2
vs 0 )

K-26
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b) e®oedisllEsau® Q@ aleou]

of "J11 is irrational" agm

(IM@IAIM OO H6-. 3)
18 njo@ 24 cueowigs 62106)eB8lmd
agem®leljo 5 ag)eROTIM HOMOOAPI®H:.
6 Me®od allmo. (5 x 6 =30)
18. U={1,2,3,4,5,6,7, 8
P={2,3,4,6,7}
Q={1,3, 6,8}
a) PUQ, P-Q agyamial
6N3)0 151666 (2)
b) P¢ Q¢ agymial éensjallslome.  (2)
c) (PUQ)¢: Pt Q¢ vodlwoeemd
ag)Mm al@l@uooUSEe)d:. (2)
2p
19. a) 3 oo, wlwl @esnleelss
QORI (1)
Sin'Tx + Sin 3x
=Tanb5x
D) "Cos Tx + Cos 3x
ag) O®&Qee8:. (2)
c¢) Tan3xxTan2xxTanx =
Tan3x - Tan2x- Tanx
ag)M OO QABE)d:. (3)
5x - 2 Tx - 3
20, @) X3 ( ) )
2 3 5
Q)M @MA®RIOS al@la0d00
£>06M)B. (2)
b) ®oey ©@:05)mTEleeM @oMVA®
WD (N2l HaleOUle] al@la0d®0
BH06M)>.
3x +4y £ 24
x+ y3 3
x3 2
y3 0 (4)
Turn Over
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21. a) If *"C,:"C, =11:1, then find 21. a) *"C,:"Cy=11:1 @OWOM ..
the value of 'n'. (4) 'n'-o@ allel sz llslonid. (4)
b) How many words with or b) SWIMMING ogom cosslesl
without meaning can be QL0 BOBUOETBE O lCIUIa],
formed by using all letters of @AMONBE®I0 @AMANROOH®)
the word SWIMMING? 2) DO ag)® QUILEIEWD HENBOHE0? 2)
22. a) PI’OVG that the mean Of flrit 22. a) (G@GQG)(WU) 'n' 0_6)%(0‘6 (TDOG)JA
n +
'n' natural numbers is (2) Sa0s oWy 1 eoesmas
b) Find the median and mean & 06)6. (2)
deviation about median for b) moev 6050101 H610mM
the following observations : (Ioafmomemgies  alalwmyo
9.8.3.5.4.6. 7. 1) alawlwmd EpMelendss]  aldd
aslafleasinio B06Mid:.
9,8,3,5,4,6,7. 4)
23. Consider the data given below. 23. ®oe¥ 0Hos;EWITIEOM  Wwog
al@IETIB6))>.
Marks
3 0-10 10-20 20-30 30—40 40-50
DORHE)
No. of students
alleydmdleaes agemo 5 17 14 5
Determine : a) 0owyo denslallslee)ss (2)
a) the mean (2) b) ggoadeawday’ awlaflewaud
b) the standard deviation 3) £6N840151606)6. 3)
¢) the coefficient of variation (1) ¢) e&oag)adlary(f 8oal GQGIE@aud
£6M3)0 161 06)16. (1)
24. Let Sbe the sample space and A 24. AB ogmlal, S agom momNd
and B be two events in S, such mWealmlenss  oee IR dd
1 1
that P(4)=2. P(B)=; and cpoeaTIAe00s )
1 P(4)=2, P(B)=3,
P(AﬂB):Z, 2 1 3
=_ . GROMBIG ®I6Y
Find - P(anB)=
6)8>0S)O Bl BOIMA NS l1S]B6)5.
a) P(Aor B) (2)
a) P(Aor B 2
b) P (not A) Q) ) Pldor B) (2)
b) P (not A) (1)
¢) P (not A and not B) (2)
) ¢) P (not A and not B) (2)
d) n(S)if n(4) =5 (1)
d) n(d) = 5 eeeemslad 1(S) (1)

K-26
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Part - I1
COMPUTER SCIENCE AND INFORMATION TECHNOLOGY

Maximum : 60 Scores
Time : 2 Hours

Cool off time : 15 Minutes

K General Instructions to Candidates : \

afleyodmale: @688 ealom) MACGUEB®D:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

rldgladis oM aljoen 15 almlg ‘@i &dal 66so’ eenso@fl@leno.

‘@b Boal ©6S0’ G2IdEYIBW al@lalWea|SOMio HETHOIBWD @DIVY®6EMO
£21Q0MP0 HalGIUHEH:.

MIRGGULEIBU MILIMI YBERLIABQ o AUOWIBHEMO.
HOMOEIBUWD ) PAEYM@IN MM B2IdBYETBWHD (BRLIABQo UIWIBeEMo.

BH6MBE)  8HISINBRD, 2l@EMBMR, (N0, ag)milal OOMOGla]GIEd ®eam
eens0Qf@lesemo.

B2I0BYEIBW AIWIgETIRle M@H:lRIgNS.
@OOUCYMER MVOLIGD MVACUOBYETBWRD 61B0SIHEMo.

G (IO(NODIHHUWD 6).21QOMIBIMD HOIMHNICLIQNIH WD BF10HHW IS 60)
EDRIBB(SOEMIE Haldhoemlo al@ldHInndg® HalEOUlHeIIOM aldslg). /

K-18

1 Turn Over



Answer all questions from 1 to 5.

Each carry one score.

1. . is known as father of a

computer.

2. The escape sequence '\q'

represents ...............

3. i, 1s a stream function to

input character data.

4. A ........... 1s a device that can
interconnect two networks of
the same type by using the same

protocol.

5. The expansion of URL is ..........

Answer any eleven questions
from 6 to 18. Each carries

two scores.

6. Explain the major changesin the
technology during the third

generation of a computer.

7. Explain any two different
methods for representing

characters in computer memory.

K-18

(5%x1=5)

(11 x 2 = 22)

FY 52

1 m)m@d 5 UOEW8S ag)e]o BaIdB)ETBWDE o

9OMEOAL)®:. 1 MeHod allme. (5 x 1 = 5)

1. oM Hroalysale allmoal gy

@CIWOR{SIMY.

2. '\g' M agiedaf misdmn
@ dOMo O2IQPMMD ..o

@em.

3. 80} HO0/HSO eWROW MMdalys
6.21QuM MUSlo aNoeBadM ...............

@em.

4. 860 6aloORIW)E8 €(al108308HNHIRD
9alc@onlen M  8E0  66Sq]

OMAQUDBE DRABEMBHS 6).21Q)30M

@l ag)m  adlee )’
AIBWOUIBEYMY.
5. URL o® andemnoiio ........... @6

6 )o@ 18 cueow)gs 62106)eBRglwd
agemmslele 11 agemo HOMOOALI®)H.

2 mies00 allmo.

6. oymMo0  ®EMO  Hoalysolad
moeH:®mle allgyela aim mdgo

Alu@loe ds.

7.  ®o0sssolom @oalysole
6©2mOl@ (aI@IMIWOIMo 621QOm
9aleIMIHNM aRe®mEHIRl0 NS

BlSletd Alaudles)d.

(11 x 2 = 22)
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8. Convert (364), to decimal and 8. (364)4 agm moaye® eapMinew)o
hexadecimal. £a0BMOONIDLIOWI0 MORIE:.
9. Match the following : 9. eampals]l ealdees:.
A B
a) Linux 1) Hardware
b) Flashdrive 11) Port
c) Motherboard 1i1) Translator
d) PS/2 v) Storage
V) Operating System
10. List the different phases in the 10. &0 clo@odlorld oas allalw
programming. apigemBd AllI@lH6H:.
11. Define syntax error and logical 11. mI@oesms agod, eelomlend agod
error. el mildQalee)ss.
12. a) What are the two searching 12. a) oo ooomlengs emdaflow
techniques? (1) 0SB MBNBRD agl?
b) Explain each of them. (1) b) @ea Boeeome Alaidloees.
13. Distinguish between = and == 13. Ct++oai=, ==agor 80ale0qoued
operators in C++. ®olenes Al®mPMO ag)s?
K-18

(1)
(1)

Turn Over



14.

15. What is type casting?
16. a) Give the general form of
getline () function. (1)

b) Give an example. (1)

17. Distinguish between actual
parameter and formal
parameter.

18. Explain the scope of local and
global variables.

Answer any seven questions from

19 to 27. Each carries three

scores. (7x3=21)

19. Prove DeMorgan's first theorem

20.

Give the syntax and example of

conditional operator.

X+Y=XxY by using truth

table.

Explain any three e-Waste

disposal methods.

K-18

14.

15.

16. a) getline () ancedae@ =MOM
BaNdo f)PI®B:. (1)

b) &0} ©30a00eMo ag)eI®ik:. (1)

17. eoo2/®  l0odlgd, 6andda@
aloodlgd ol ®omlepss Ql®IOTVo
ag)0®?

18. caowed, eosu@ eadlwenig]
BRIOS MEHO] QllIClHb.

19 ojo@ 27 cueowigs Ga106)eBElmd

agemsslalo 7 ag)eREmlm OOMOOAPI®)H:.

3 mies0d allmo. (7x3=21)

19.

20.

FY 52

& 6N 6m @ 80q]jeogole

UlROBIVI0 HBIAOBEMALL0 af)PIDId:.

06Sa] SoaYloty ag)MOM ag)(m?

Wl eodWem BmMINeEm ®IWOo

X+Y =X xY aa} 00 esenllglond

MaOIWEEMINS SN Hb.

a@e®sslalio MM -6aIQY Mldeo

6219 Adlmesaldl Alacleaid.
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21. Explain the different types of 21. allaflw enosmies B lommOeesald
language processors. Aludloe .
22. Classify the following into 22. ®26¥ aloymaew aflallw elgoad
different categories of literals (806D R EXelaliYol \lsIwi
(constants). Lo IS

"A", N\, -15e-3, 1345, -75 "CH++"

23. Write a C++ program to I‘ead 23. 6-5(0& m@&mm']s)(@ mc']gm&o O_ﬂ@']@)&o
area of a rectangle. allvedepo @osmymaimes C++
(Hint : area = length X breadth) B(aIO(NJ0 G)PIDI:.

(gaim : aflv@ldemo = migo X

aflel)
24. Convert the following while 24. o0y alowym while epafem for
loop into for loop. ela] @) 00g]l ag)9i@b.

intx =1;

while (x<6)

{

cout<<x<<'\t"';

X++3

K-18 5 Turn Over



25. Explain any three string

functions.

26. a) What is a modem? (1%)

b) What is the function of a

modem? (1%)

27. Explain any three methods to

connect a device to internet.

Answer any three questions
from 28 to 32. Each carries four

Bx4=12)
scores.

28. a) Which gates are called

universal gates?

b) Represent all basic gates by

using any one universal gate.

29. Explain the different

fundamental data types in C++.

30. Write a C++ program to read 10
integers and store it in an array
and sort them in ascending

order.

K-18

FY 52
25. ogeomilelne mmy aSlotd anoeEaum)

®68a]gl ANlaldless.
26. a) &0} EMOWo ag)MOE ag)s? (17%2)
b) 80 coowemlenq anoceRaumd

2g)a®? (17%2)

27. ary wlesaimilom eH@BdeMEIMOW]
enlauwlaflesymalmgs oy dlalledd

Alu@lee .

28 n)jom 32 cueow)gs 62106)eBRElmd

agem®leljo 3 ag)eROTIM OMOOAPI® LS.

4 es0d aflmo. 3x4=12)
28. a) wiemleauyavad BNQIBRD
QO®OOHEWIE)?

b) cgemmlene 8oy @iemlearsa@
BN O lEWOUile] a0 GenIMUle;
BNRIHGOEWI0  (ad®IMIWOMo

6.21Q))b>.

29. C++ o2 aflaflw @oslmuoom ewg

06Saie8a]ql Allaidlenie..

30. 10 moay®mes dw o210® &)
@EOWI@ BAROd O UW®BUaHO
@O @OBMIA0M  (HHOO®] @D

(o016



31.

32.

K-18

Explain any four communication

media.

Explain any four threats that

affects a computer network.

31.

32.

FY 52

a@omesleljo Moel B omyemleesaum

QOWIDETBORBNC2] ANCUGIEEIH:.

80)  oalylgd emgadeslem
eUOWIEHOAM aRO®mBIRo MOE

Elavemlowoeicle] Alaidleeid..
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Part - I11
ELECTRONIC SYSTEMS

Maximum : 60 Scores
Time : 2 Hours

Cool off time : 15 Minutes

/ General Instructions to Candidates : \

afleyodmile: @688 ealom) MACGUEB®D:

There is a 'Cool off time' of 15 minutes in addition to the writing time.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

Read the questions carefully before answering.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

rldgladis oM ajoen 15 almlg ‘@i &dal 66so’ eenso@fl@leano.

‘@b Boal ©6S0’ G2IdEYIBW al@lalWea|SOMio HETHOIBWD @DAVY®6EMO
£21Q0MP0 HalBIUHEH:.

MIRGGULEIBI MILIMI0 YBERLIABQ o AUOWIBHEMO.
HEMOEIBUWD ) PAEYM@IN MM B2IdBYETBWHD (BERLIABQe CUIWIBeEMo.

BH6MBE)  8HISINSRD, 2l@EMBMR, (N0, ag)milal OOMOGla]GlEd ®eam
30l @lesemo.

B2I0BYEIBW DAIWIgETIRle M@H:lRIgeNS.
@OOUCYMER MVOLIGD MVACUIBYETBRD 61B0SIEEMo.

G (IO(NODIHUWD 6).21QOMIBIMD HIMHNICLIQNIH WD BF1OHHW IS 60)
EDRIBB(SOEMIE HaldhOemlio al@ldHInndg® HalEOUlHeIIOM aldslg). /

K-32
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Answer all questions from 1 to 5. 1 )o@ 5 UOEW 88 ag)g]d 8210B)ETRUWEN )0
Each carry one score. (6 x1=05)| someeaw)mis. 1 Mesd allme. (5 X 1 =5)
1. is an example for the MIeWo  OawWlen@  adl@dwlwd

application of electronics in bio-

medical field.

2. The process which converts
intrinsic semiconductor to

extrinsic semiconductor is .......

3. The regulated output from a
7812 IC is ............ volt.
a) —8
b) +15
c) +12

d) —12

4. In an LED, the electrical energy

is converted to .............. energy.

5. As per Boolean Algebra,

K-32

EDEIB; B(SOMIBH M ©aleIW]eeHymM

v

(119 R 8} §BOAOMEMMOEN) .

Intrinsic semiconductor-em
extrinsic semiconductor @#ss)

2loTm) g g pINTONT 7= [1o) RN BB,

7812 IC @@ adlemyo w3lgiom e95a s
BQUORDBZE ....vevvreenee volt eoer.

a) —8

b) +15

c) +12

d) —12

ao) LED, electrical energy-ew

............ energy @o#Hsl mogyMy.

Boolean Algebra momymalal’

AXA= e, :



Answer any six questions from

6 to 13. Each carries two scores.

(6 x 2 =12)

6. Draw the forward
characteristics of an ordinary
diode and mark the cut-in

voltage.

7. State Ohm's law.

8. Draw the symbol of a NAND
gate. Write its truth table.

9. Write the equations relating a

and b of a transistor.

10. Draw the energy band diagrams
of insulator, semi conductor and

metal.

11. Voltage devider biasing is
considered as the best among
biasing circuits. Draw the
circuit of a voltage divider

biasing circuit.

K-32
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6 )o@ 13 cueow)gs 62106)eBRslwd
agem®leljo 6 ag)eROTIM SEMOOAPI®H:.

2 Mies0d0 allmo. (6 x2=12)

6. &0 &odawlmol  awewowlen
sanodealia characteristics uoa)

cut-in voltage @os@ogeq|si@mb.

7. Ohm's law dq)aeess.

8. &ny NAND gate o@ symbol
UoWen;mwlo  truth  table

QG)FLOBHDI0 6).21Q)Id.

9. &0 (sodmigyole@® a wiob wyo
MW Q| ST equations

Q) FI®)B>.

10. insulator, semi conductor, metal
agmlauwies energy  band

diagram o@®eed:.

11. enuomflors RBYSIBE® a@Rlo
M @OV HEMIOIBNOQSIM @
voltage divider biasing mgem.

@O MVABYS AUOQHEH.

Turn Over



12. Mark the cut-off frequencies and
bandwidth in the frequency
response curve of an RC coupled

amplifier.

13. Write one application each of

LED and LCD.

Answer any four questions from

14 to 18. Each carries three

scores. 4x3=12)

14. a) Plot the waveform with
v =10 Sin314t¢.

b) Find out its rms voltage.

15. Draw the circuit diagram of an
astable multivibrator by using

transistor.

16. Describe the conversion of
intrinsic semiconductor to

P-type extrinsic semiconductor.

17. Calculate the effective
resistance when the given two
resistors are connected in
parallel. (Colour code of the
resistors given below)

a) Brown, Black, Brown, Gold
b) Red, Violet, Red, Gold

K-32

(2)
(1)
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12. RC coupled amplifier-em
frequency response curve-@ cut-
off frequency wjo band width eo

@OSQOROQSIATTIE:.

13. LED, LCD ogmlicuwies &oemd

HAIBWOWO ) PITYE:.

14 ojo@ 18 cueowigs 6a106)eBslmd

agem®leljo 4 ag)eROTIM SOMOOALI® S
3 Meod all@o. 4x3=12)

14. a) v =10 Sin314¢ed@ saiaicando
QU B 5. (2)

b) eaialeanoalea rms voltage

#6n3)a1S166))b. (1)

15. (sodmlgud ealewoudla] &y astable
multivibrator-eaQ MBS

QUOW B8

16. Intrinsic emal®ensesoiemes P-
type extrinsic emalsensdsd

@OH0M Ala] Alvod|e:@lee)ss.

17. o@oey omldleoym omlegyymy’
MAODHEMIW] BHEME:S H.2I1QIEMIIRD
oenzosym effective resistance
631 lISleeyds. (H8d EHIW ®IeY
6)3>0S )T @O,

a) Brown, Black, Brown, Gold
b) Red, Violet, Red, Gold



18. a) CE configuration is

commonly used in amplifiers.

Draw an amplifier with

common emitter
configuration.

b) Draw input and output

waveforms.

Answer any four questions

from 19 to 23. Each carries four

(2)

(1)

(4 x4=16)

scores.

19. Draw a half adder with EX—OR
and AND gates. Write its Truth
table.

20. Draw the circuit diagram of a
full wave bridge rectifier with
input and output waveforms.
Mark the conduction path
during the positive half cycle in

the figure.

21. a) Compare the features of BJT
and FET. (Two points)

b) Draw the constructional

details of N-channel

enhancement MOSFET.

K-32

(2)

(2)
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18. a) CE e®oemanleoat® @oem’
MOWoEeMWOIR| @Yogllan@ny
8B 9aleWINHNIME. B0
common Emitter amplifier
QUOW B8

b) @@ogflandled snadals e50)s

BUAIBANd0MY CLOW B,

19 ojo@ 23 cueowigs G2106)eBRslmd
agem®leljo 4 ag)eROTIM SOMOOAPI® LS.

4 e9d aflmo.

19. &@y half adder e Truth table
agwyoys. EX—OR enge AND

smnQle  9alewowlal AT

QU B 5.

20. am anyBeaual Enllwe ©O0BSlaow
olom qABYS AUOQHH:. BT
oMol &V5allg eaaiBandom’
QUOWHOIH.  salomlglal”  andan
eomeslgl@ wewoww’ conduct
©21Q)M 2OBNO BOELOQISYOTN)E:.

21. a) BJT, FET  ogmliauew

®OO®AYOQ ST (2 points)

b) ey N-channel enhancement

MOSFET-om

pism

QUOW B 5.

(2)

(1)

(4 x4=16)

(2)

(2)

Turn Over



22. a) The width of depletion layer

.......... with

increase in
reverse voltage.
b) Explain the cause for the

above condition.

23. Define the following terms :
ASK, FM, TDM, FDM

Answer any three questions
from 24 to 27. Each carries five

scores.

24. a) What are the parameters
that can be measured with a
CRO?
b) Draw the block diagram of a
CRO.

25. a) Write the working of a

transformer.

b) Find the secondary voltage
and secondary current of a
transformer with a turns
ratio 4 : 1 when an input
signal of voltage 220V,
100mA is applied at the

primary.

K-32

(1)

(3)

(3 x 5 = 15)

(2)

(3)

(2)

(3)

FY 53

22. a) Depletion layer-eq width
ey’ BUIOREZEE B SM@INY
@OMNIVAL] .o .

b) oyegld@ aloemm @vAUIMOWIeS

#006Mo Q0B Bx@le6))bs.

23. ASK, FM, TDM, FDM ogomlcueow
MR 2 l66) 1.

24 o)o@ 27 cueow)gs 62106)eBelmd
agem®leljo 3 ag)eROTIM SOMOOAPI® LS.

5 Mieso0 allmo.

24. a) CRO salewodila] @oase0mm
parameter &80 agal?
b) CRO wies seoss (o

QUOW B8

25. a) (soMMEanodadlen (alaldemmo

Qg)PYOYH>.
b) ery 4 :
oolnolld 220V, 100mA

1 (soMmiGanodacle
BAUOMNBSE  OIISIHNIBMUORD
Y OAVHOHMAC] BALIOWDESRI0

BHOMNB0 BeNSallS|B6))ds.

(1)

(3)

(3 x 5 =15)

(2)

(3)

(2)

(3)



26. a) State whether the statement

217.

K-32

b)
c)

is TRUE or FALSE.

For faithful amplification,
the operating point must be
at the centre of the dc
loadline.

Justify your answer.

Draw the input and output
waveforms of class B power

amplifier in a dc loadline.

Reduce the given equation by

using K — Map.

(1)
(2)

(2)

FY 53

26. a) ®6% MRS (AIV®OUM

27.

b)

K

WAIGWI, OMERO ag)OMNPI® .
faithful amplification caiens
80qjeogloy’  salo@I@  dc
loadline-o@ oavyEINEmOQ]
@lesemo.
memB816S © O 0 6) YD)
MOS0 86))5.

class B a1id @mogflan@dled
OMalls &V5allg QNI Gandom)

dc loadline-@ cuo®6)w:.

— Map sascwonile) ®migas

equation-em elee|d:@lee)s:.

Y=a (m5, Ma, Mg, Mg, My, My, Myg, m15)

(1)

(2)

(2)
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